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i,

ABSTRACT

THLIS PROGRAM CONTAINS A SERIES OF BASIC LOGIC TESTS
THAT CHECK THE TA1i FOR PROPER OPERATION,

REQUIREMENTS

EQUIPMENT

PDP=i1 COMPUTER WITH OR WITHOUT HARDWARE SWITCH REGISTER
WITH CONSOLE TELETYPE, AND A TA{1 CASSETTE

STORAGE

THIS PROGRAM REQUIRES APPROX, 4K STORAGE,

PRELIMINARY PROGRAMS

MAINDEC-=11=DZTAA

LOADING PROCEDURE

USE STANDARD PROCEDURE FOR LOADING ,ABS TAPES
OR A CASSETTE TAPE,

STARTING PROCEDURE
CONTROL SWITCH SETTINGS

SEE 5,1.

w



4,3.1,.1

STARTING ADDRESSES

200 NORMAL STARTING ADDRESS

204 SELECT DRIVE(S) BEFORE STARTING TEST

210 SELECT DRIVE(S) AND ADDRESSES BEFORE STARTING TEST
214 SETUP FOR MANUAL LOOPING

220 WRITE FILE GAP FROM BOT TO EOT

224 WRITE CONTINOUS BLOCKS OF DATA

230 READ CONTINOUS BLOCKS OF DATA

23¢ WRITE FILE GAP AND A BLOCK OF DATA

249 READ BLOCK OF DATA AND INTO A FILE GAP

244 SPACE FWD FILE GAP FROM BOT TO EOT

250 BACK SPACE FILE GAPS

500 LOAD SWITCH REGISTER INTO THE TACS

669- WRITE SWITCH REGISTER ON TAPE FROM BOT TO EOT
700 READ FROM BOT TO EOT

PROGRAM & OPERATOR ACTION

i, LOAD PROGRAM INTO MEMORY (SEE SECTION 3,)

2, LOAD A WRITE ENABLED CASSETTE IN BOTH DRIVES

3. REWIND BOTH DRIVES

4, LOAD ADDRESS 200,

5, SET SWITCHES (SEE SECTION 5.1)

6, PRESS START,

7. THE PROGRAM WILL LOOP & TTY BELL WILL RING ONCE EVERY
PASS, IF SW<ig>=0,

### NOTE: IF USING THE SOFTWARE SWITCH REGISTER

PROGRAM WILL TYPE "SWR=XXXXXX NEwW=", TO ALLOW

SETTING OF REGISTER BEFORE BEGINNING TEST,

DRIVE SELECTION

STARTING THE PROGRAM AT 200 WILL RESULT IN AUTOMATIC

SELECTION OF DRIVES ®A"™ AND "B" TO BE TESTED,

NOTE: IF LOAD MEDIUM IS CASSETTE WITH STANDARD VECTOR
PROGRAM WILL RESPOND AS IF STARTED AT 210,

STARTING THE PROGRAM AT 204, 210, OR 214 ALLOWS THE OPERATOR
TO SELECT THE DRIVE(S) TO BE TESTED,

THE PROGRAM WILL TYPE "DRIVE(S)?",

EITHER OR BOTH DRIVES CAN BE SELECTED BY TYPING "A" AND/OR
"B" FOLLOWED BY A CARRIAGE RETURN,

DRIVE SELECTION EXAMPLES

DRIVE(S)? A,B
DRIVE(S)? AB
DRIVE(S)? B,A
DRIVE(S)? B

SEQ 0004



4,3,2,1

ADDRESS SELECTION

STARTING THE PROGRAM AT 219 OR 2i4 ALLOWS THE OPERATOR
TO CHANGE THE "CONTROL AND STATUS" AND “DATA BUFFER"
REGISTER ADDRESSES, THE VECTOR ADDRESS AND THE
PRIORITY LEVEL,

THE PROGRAM WILL ASK FOR THE DRIVES TO BE TESTED AS PER
4,3.,1, AFTER THE DRIVES HAVE BEEN SELECTED IT WILL ASK
FOR:

i. BUS ADDRESS OF THE CONTROL AND STATUS REGISTER (TACS)

2., VECTOR ADDRESS

3, PRIORITY LEVEL
AND THE OPERATOR MUST RESPOND WITH THE DESIRED PARAMETER
OR A CARRIAGE RETURN (WHICH IMPLIES LEAVE AS IS),
WHEN ALL PARAMETERS HAVE BEEN DEFINED THE PROGRAM
WILL TYPE THEM BACK OUT AND ASK IF THEY ARE OK AT
WHICH TIME THE OPERATOR RESPONSES WITH A ¥Y" OR A
"CARRIAGE RETURN® FOR "YES" ANYTHING ELSE Is A "NO",

ADDRESS SELECTION EXAMPLES

DRIVES(S) A

TACS? 177500

VECTOR? 260

PRIORITY? 6

TACS=1775606 TADB=177502 VECTOR=000260 PRIORITY=000300
0K?

DRIVES(S) A.,B

TACS? 479

VECTOR?

PRIORITY?

TACS=177479 TADB=177472 VECTOR=0096260 PRIORITY=000309
OK?

SEQ 0005



5.1

SEQ 0906
OPERATING PROCEDURE

OPERATIONAL SWITCH SETTINGS
I¥ THE DIAGNOSTIC IS RUN ON A CPU WITHOUT A SWITCH
REGISTER THEN A SOFTWARE SWITCH REGISTER IS USED WHICH ALLOWS
THE USER THE SAME SWITCH OPTIONS AS THE HARDWARE SWITCH REGISTER.
IF THE HARDWARE SWITCH REGISTER DOES NOT EXIST OR IF ONE DOES
AND IT CONTAINS ALL ONES (177777) THEN THE SOFTWARE SWITCH
REGISTER (LOC, 176) IS USED,

CONTROL:

THIS PROGRAM ALSO SUPPORTS THE DYNAMIC LOADING OF THE SOFTWARE SWITCH
REGISTER (LOC, 176) FROM THE TTY, THIS CAN BE ACCOMPLISHED BY
DOING THE FOLLOWING:

1) TYPE CONTROL G <"G>; THIS WILL ALLOW THE TTY TO ENTER DATA INTO
LOC, 176 AT SELECTED POINTS WITHIN THE PROGRAM,

2) THE MACHINE WILL THEN TYPE: SWR=XXXXXXNEW= (XXXXXX IS THE OCTAL CONTENTS
OF THE SOFTWARE SWITCH REGISTER,)

3) AFTER THE °°NEW=‘° HAS BEEN TYPED THEN THE OPERATOR CAN DO ONE
OF THE FOLLOWING AT THE TTY:

A) TYPE A NUMBER TO BE LOADED INTO LOC, 176 FOLLOWED BY A <CR>,
(ONLY NUMBERS BETWEEN @«7 WILL BE ACCEPTED AND ONLY 6 NUMBERS
WILL BE ALLOWED)

IF A <CR> IS THE FIRST KEY DEPRESSED THE SOFTWARE SWITCH
REGISTER CONTENTS WILL NOT BE CHANGED,

B) IF A CONTROL U <“y> IS DEPRESSED THEN THE PROGRAM WILL SEND YOU
BACK TO STEP 2,

WITH SW<i5:08>=@ THE PROGRAM WILL PRINT OUT ON
ERRORS AND CONTINUE IN TEST, BELL WILL RING
AT COMPLETION OF A PASS,

THE SWITCH SETTINGS ARE:

SW<i5>=1,, ,HALT ON ERROR
SW<ig>=1,,,LOOP ON TEST
SW<i3>=1,,,INHIBIT ERROR TYPEOUTS
SW<ii>=1,,,INHIBIT ITERATIONS
SW<i6>=1,,,RING BELL ON ERROR
SW<18>=6,, ,RING BELL ON PASS COMPLETE
SW<A9>=4,,,LOOP ON ERROR
SW<PB8>=1,,,LO0OP ON TEST AS PER SW<@7:00>
SW<P7>=1,, ,LOCK ON CURRENT DRIVE (ONLY VALID

FOR STARTING ADDRESSES 220 THRU 250),



5.2.4,1

5.2.4.2

5.2'4'3

5.2.404

5.2.4,5

5.2.4,6

SUBROUTINE ABSTRACTS

SCOPE

THIS SUBROUTINE CALL (VIA AN IOT TNSTRUCTION) IS PLACED BETWEEN
EACH TEST IN THE INSTRUCTION SECTION., IT RECORDS THE STARTING
ADDRESS OF EACH TEST IN LOCATION "S$LPADR" AND ®"SLPERR* AS IT IS
BEING ENTERED,

:THIS ROUTINE SUPPORTS THE S/W SWITCH REG FUNCTIONS

TRAPCATCHER

A %,42% = "HALT" SEQUENCE IS REPEATED FROM LOC, @ TO LOC, 776
TO CATCH ANY UNEXPECTED TRAPS, THUS, ANY UNEXPECTED TRAPS WILL
HALT AT THE DEVICE TRAP VECTOR +2.

ERROR

THIS SUBROUTINE CALL (VIA R EMT INSTRUCTION) IS USED TO REPORT
ALL ERRORS, (REFER TO 6,)

sTHIS ROUTINE SUPPORTS THE S/W SWITCH REG FUNCTIONS

TRAP

A NUMBER OF SUBROUTINES ARE CALLED BY THE TRAP INSTRUCTION,
FOLLOWING IS THE CALLS USED AND THE LABEL OF THE STARTING
ADDRESS OF THE SUBROUTINES,

TYPE (STYPE)

ROUTINE TO TYPE AN ASCIZ STRING ON THE TTY

THE ROUTINE WILL INSERT A NUMBER OF NULL CHARACTERS
AFTER A LINE FEED,

RDCHR ($RDCHR)

READ A SINGLE ASCII CHARACTER FROM THE TTY
RDLIN (SRDLIN)

READ AN ASCII STRING FROM THE TTY
WAITREADY (WAIT.ON.READY)

WAIT ON THE "TA{i READY" BIT TO SET
WALITXFER (WAIT.FOR.XFER,REQ)

WAIT ON THE *"TA1i{ TRANSFER REQUEST" BIT TO SET
$TYPOC

CHANGE A BINARY NUMBER TO OCTAL ASCII AND TYPE IT,

SEQ 9067



5.2.5

5.2,5,1

5.2,5.2

5.2,5.4

THE FOLLOWING SUBROUTINES ARE CALLED BY A JSR
STYPEC

ROUTINE TO TYPE A SINGLE ASCII CHARACTER
TYPERR

THIS ROUTINE WILL TYPE THE ERROR MESSAGES
SELDRV

THIS ROUTINE IS USED TO ASK THE OPERATOR WHAT DRIVE(S)
ARE TO BE TESTED

SELADR

THIS ROUTINE WILL ASK THE OPERATOR FOR THE ADDRESSES OF
THE ®TACS",*TADB* AND VECTOR AND THE PRIORITY TO USE,

SEQ 6908



SEQ 06069

5.,2,6 THE FOLLOW ROUTINES ARE USED TO MAKE ADJUSTMENTS TO
THE TU66, BEFORE USING ANY OF THEM LOAD AND START 214,

5,2,6.,1 WFGSUB

WRITE FILE GAPS FROM *BOT® TO "EOT*®

START AT 229

THIS ROUTINE CAN BE USED TO ADJUST THE ®"WRITE GAP MONO"™ AND
THE ®WRITE DELAY MONO",

5,2,6,2 WRTSUB

WRITE CONTINUOUS BLOCKS OF DATA

START AT 224

THE PROGRAM WILL HALT THREE(3) TIMES

AFTER EACH HALT SET THE SWR AND PRESS CONTINUE

HALT { === SWR<7:6> = NUMBER OF BYTES PER BLOCK

HALT 2 -==SWR<7:6> = PATTERN DESIRED

HALT 3 === SWR<15:9> = OPERATIONAL SWITCH SETTINGS
THIS ROUTINE CAN BE USED TO ADJUST THE "GAP TIME MONO"

## IF USING SOFTWARE SWITCH REGISTER, AFTER
EACH HALT OPERATOR WILL BE PROMPTED
FOR THE VALUE WITH "SWR=XXXXXX NEW=®
5.,2,6,3 RDSUB

READ CONTINUOUS BLOCKS OF DATA

START AT 239

THIS ROUTINE CAN BE USED TO ADJUST THE *"SIGNAL MONO®
AND THE ®THRESHOLD POT*®

5.2.6.4 WGPBLK

WRITE A FILE GAP AND A BLOCK OF DATA FROM BOT TO ECT
START AT 234
THE PROGRAM WILL HALT THREE (3) TIMES
AFTER EACH HALT SET THE SWR AND PRESS CONTINUE
HALT { === SWR<7:0> = NUMBER OF BYTES PER BLOCK
HALT 2 === SWRL7:0> = PATTERN DESIRED
HALT 3 === SWR<15:9> = OPERATIONAL SWITCH SETTINGS
THIS ROUTINE CAN BE USED TO ADJUST THE "WRITE GAP MONO®
AND THE "GAP TIME MONO®,
## IF USING SOFTWARE SWITCH REGISTER, AFTER
EACH HALT OPERATOR WILL BE PROMPTED
FOR THE VALUE WITH "SWR=XXXXXX NEW=s®



5.2,6,.5

5.2,6,6

5:2.6,7

$.2.,7.2

5.2.7.3

5.2,7.4

RGBLK

READ & BLOCK OF DATA AND A FILE GAP

START AT 240

THIS ROUTINE IS USED AFTER "WRITE A BLOCK AND A FILE GAP® ROUTINE
IT CAN BE USED TO ADJUST THE "SIGNAL MON®*, THE THRESHOLD POT"
AND THE ®TAPE BLANK MONO®,

SFFGSB

SPACE FORWARD FILE GAP FROM "BOT®" TO "EOT®

START AT 244

THIS ROUTINE CAN BE USED AFTER "WRITE FILE GAP"™ FOR LOW SPEED
SPACE FOWARD (TAPE BLANK MONO CAN BE ADJUSTED), OR AFTER READ OR
WRITE A FILE GAP AND A BLOCK OF DATA FOR HIGH SPEED SPACE FORWARD
(SIGNAL MONO CAN BE CHECKED),

BSFGSB

BACK SPACE FILE GAP

START AT 250

THLIS ROUTINE CAN BE USED TO ADJUST OR CHECK THE "SIGNAL MONO®,

THE FOLLOWING SUBROUTINES ARE USED BY THE ADJUSTMENT
ROUTINES

SETBUF

SETUP BLOCK SIZE AND PATTERN
WRTBLK

WRITES A BLOCK OF DATA

RDBLK

READS A BLOCK OF DATA

NXTDRYV

CHANGE DRIVE

SEQ 0016



7.

ERRORS

THERE ARE A NUMBER OF ERRORS THAT CAN OCCUR IN THIS
PROGRAM, WHEN AN ERROR IS ENCOUNTERED THE CALL TO

THE ERROR ROUTINE IS MADE AND IF SW<i3> IS NOT

SET AN ERROR MESSAGE PERTAINING TO THE ERROR WILL BE
TYPED, EACH ERROR TYPE OUT WILL CONTAIN THE FOLLOWING:
i, AN ERROR MESSAGE

2, A DATA HEADER

3. A DATA STRIRNG

REFER TO THE LISTING UNDER SERRTB FOR THE DIFFERENT
ERRORS THAT CAN OCCUR,

RESTRICTIONS

BEFORE STARTING THE PROGRAM THE OPERATOR MUST INSURE THAT A
CASSETTE 1s LOADED IN THE DRIVE(S) TO BE TESTED AND IS WRITE
ENABLED,

MISCELLANEOUS

EXECUTION TIME

THE FIRST PASS TAKES APPROXIMATELY 106 SECONDS ALL
SUBSEQUENT PASSES TAKE APPROXIMATELY 475 SECONDS.

STACK POINTER

STACK IS INITIALLY SET TO 1100,

PASS COUNT

A PROGRAM PASS THRU COUNT IS KEPT IN "SPASS®,

ITERATIONS

THE FIRST PASS OF THE PROGRAM WILL AUTOMATICALLY INHIBIT
ITERATIONS, ALL SUBSEQUENT PASSES WILL PERFORM FULL,
(2090 DECIMAL UNLESS OTHERWISE SPECIFIED WITHIN A TEST),
ITERATIONS,

SPECIAL REGISTERS

R3, R4 AND R5 ARE RESERVED FOR ®DRIVE", "TACS* AND "TADB
THROUGH OUT THE PROGRAM,

SEQ 0611



PROGRAM DESCRIPTION

THIS PROGRAM IS A SEQUENCE OF SMALL INDEPENDENT TESTS THAT
CHECK THE TAii FOR PROPER OPERATION,

THE TESTS CAN BE GROUPED INTO THE FOLLOWING GENFRAL GROUPS,

i, TEST
2, TEST
3. TEST
4, TEST
5, TEST
6, TEST

THE TIMING ERROR CIRCUITRY

THE INTERRUPT CIRCUITRY

THE SPACING FUNCTIONS

THE FILE GAP CIRCUITRY

THAT DATA CAN BE WRITTEN AND READ
CRC CIRCUITRY

7. INSURE THAT DATA CAN BE WRITTEN AND READ
WHILE THE OTHER DRIVE IS REWINDING

SEQ 90612
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TABLE OF CONTENTS

DZTABC.NEW

12
69
73
183
224
225
234
246
293
391
327
345
406
473
498
536
543
710
728
733
774
827
898
921
970
1019
1068
1117
1166
1215
1264
1306
1343
1382
1450
1455
1486
1515
1543
1576
1602
1634
1666
1735
1783
1828
1833
1869
1916
1921
1990
2638
2112
2166
2269
2279

GENERAL INFORMATION

OPERATIONAL SWITCH SETTINGS
BASIC DEFINTITIONS

TA1i DEFINITIONS
STARTING ADDRESSES

TRAP CATCHER
STARTING ADDRESS(ES)

TOGGLE IN ROUTINES

LOAD SWITCH REGISTER INTO TACS

WRITE SWITCH REGISTER ON TAPE FROM BOT TO EOT
READ FROM BOT TO EOT

COMMON TAGS
ERROR POINTER TABLE

START OF TEST

INITIALIZE THE COMMON TAGS
TYPE PROGRAM NAME
GET VALUE FOR SOFTWARE SWITCH REGISTER

Ti

T2
T3
T4

T35

T6

T7

Tig
Til
Ti2
Ti3
Ti4
Ti%
Tio
Ti7

T26
T21
T22
T23
T24
T25
T26
T27
T30
T3¢

T32
T33

T34
T35
T30
T37
T40
T41

ROUTINE TO DETERMINE TIME OF WAIT LOOPS

#uuaddude s TIMING ERROR## @ % &%

TEST ®"TIMING ERROR® FOR "WRITE®

TEST *TIMING ERROR® FOR ®READ®

TEST "ERROR® OUTPUT OF STATUS ROM USING A "TIMING ERROR"®

#hpuedenst INTERRUPTS##unastuss

TEST INTERRUPT WITH READY "i{" AT LEVEL ¢

TEST INTERRUPT WITH READY "i" AT LEVEL §

TEST INTERRUPT WITH READY "{% AT LEVEL 2

TEST INTERRUPT WITH READY "i% AT LEVEL 3

TEST INTERRUPT WITH READY "i® AT LEVEL 4
5
6
7
i

TEST INTERRUPT WITH READY "{" AT LEVEL

TEST INTERRUPT WITH READY ¥{" AT LEVEL

TEST INTERRUPT WITH READY = ®*i" AT LEVEL

TEST INTERRUPT WITH "TRANSFER REQUEST® =

TEST INTERRUPT WITH "READY" = ¢ AND "XFER REQ® = §
TEST INTERRUPT WITH ®XFER REQ® = § & "TIMING ERROR® = {
#eRusduneeSPACING FUNCTIONS#####

TEST *BACK SPACE FILE GAP®

TEST "SPACE FORWARD FILE GAP®" FUNCTION

TEST "BACK SPACE BLOCK GAP¥®

TEST *"SPACE FwD BLOCK GAp*®

TEST AUTOMATIC "WFG® WHEN WRITING OFF OF "CLEAR LEADER"
TEST "READ® INTO FILE GAP CAUSES AN ERROR

TEST ®*SFBG® INTO FILE GAP CAUSES AN ERROR

TEST "ERROR®* OUTPUT OF THE STATUS ROM WITH "FILE GAP=i"
TEST BACK=SPACE-FILE=GAP INTO CLEAR LEADER

TEST BACK=SPACE=BLOCK=GAP INTO CLEAR LEADER

B RN H RN TADDBW #0343 %% 3%

TEST "WRITE® 377 & ¥ “"READ"™ 377 & 0

TEST "WRITE & READ®™ A COUNT PATTERN

#Hun et sCROBHERRER S HH

TEST "ERROR® WITH ®"CRCERR" = {

TEST *DATA OF @ GIVES CRC OF g*

TEST "CRC® CIRCUIT USING A COUNT PATTERN

TRY TO HANG "READY" ON *REWIND®

TRY TO GLITCH THE ®"POWER SUPPLY"

END OF TEST CODE

18 W onou

END OF PASS ROUTINE

-1

SEQ 0013
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READ CONTINUOUS BLOCKS OF DATA

WRITE A FILE GAP AND A BLOCK OF DATA FROM BOT TO EOT
READ A BLOCK OF DATA AND A FILE GAP

SPACE FORWARD FILE GAP FROM ®BOT" TO *EOT"

BACK SPACE FILE GAP

SETUP BLOCK SIZE AND PATTERN FOR SUBROUTINES
WRITE ROUTINE FOR THE MANUAL OPERATIONS

READ ROUTINE FOR THE MANUAL OPERATIONS
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TYPE ROUTINE
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TTY INPUT ROUTINE

BINARY TO OCTAL (ASCII) AND TYPE
TRAP DECODER

TRAP TABLE

POWER DOWN AND UP ROUTINES

SEQ 0614
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.TITLE TA11 BASIC LOGIC TEST (PART 2) MAINDEC«11«DZTAB=C
s #COPYRIGHT (C) 1976

s*DIGITAL EQUIPMENT CORP.

;*MAYNARD, MASS, 21754

Ix3
H

;#PROGRAM BY JAMES LACEY

23

;iTHIS PROGRAM WAS ASSEMBLED USING THE PDP-11 MAINDEC SYSMAC
;#PACKAGE (MAINDEC=11=DZQAC=C1),MAR 24, 1976,

T

FEETe TR 22232 * #* %
POEHBURRBR AL RS RN * #* * * *
R ] * N ® *
+REM!

GENERAL INFORMATION ABOUT THE TA11/TU6@ CASSETTE

ADDRESS MNEMONIC DESCRIPTION

777580 TACS CONTROL AND STATUS REGISTER
777502 TADB DATA BUFFER REGISTER
260  TAVEC INTERRUPT VECTOR

TACS REGISTER DESCRIPTION

GENFRAL INFORMATION

INIT
BIT NAME STATE  READ AND/OR WRITE?
15 ERROR ? READ ONLY
14 BLOCK CHECK ERROR 0 READ ONLY
13 CLEAR LEADER ? READ ONLY
12 WRITE LOCK ? READ ONLY
11 FILE GAP 0 READ ONLY
10 TIMING ERROR D) READ ONLY
09 OFF LINE ? READ ONLY
08 UNIT SELECT 0 READ/WRITE
07 TRANSFER REQUEST 0 READ ONLY
vo INTERRUPT ENABLE 0 READ/WRITE
s READY 1 READ ONLY
04 1LBS 0 READ/WRITE
"3 FUNCTION BIT 02 0 READ/WRITE
02 FUNCTION BIT 01 ] READ/WRITE
01 FUNCTION BIT 09 Pl READ/WRITE
@=WRITE=F ILE=GAP
1=WRITE
2=READ
3=BACK SPACE FILE GAP
4=BACK SPACE BLOCK GAP
5=SPACE FORWARD FILE GAP
6=SPACE FORWARD BLOCK GAP
7=REWIND
PL) GO BIT ) WRITE ONLY!
MAINDEC=11=DZTAB=C MACY11 27(732) 11=JUN=76 13126 PAGE 2
AR A SR R R R e R R L E T S YRR R Y A3 g 6 0 R
.SBTTL OPERATIONAL SWITCH SETTINGS
;l
pe SWITCH USE
¥ - o - - - -
P 15 HALT ON ERROR
je 14 LOOP ON TEST
s 13 INHIBIT ERROR TYPEOUTS
pw 11 INHIBIT ITERATIONS
P 10 BELL ON ERROR
o 9 LOOP ON ERROR
i 8 LOOP ON TEST IN SWR<7:0>
s 7 LOCK ON CURRENT DRIVE (ONLY VALID WITH MANUAL LOOPING)
IEEIIL] PrTTy % M »e

33 4% *
.SBTTL BASIC DEFINITIONS

;#INITIAL ADDRESS OF THE STACK POINTER ### {100 ###
STACK= 1100
+EQUIV EMT,ERROR

BASIC DEFINITION OF ERROR CALL
.EQUIV IOT,SCOPE B

ASIC DEFINITION OF SCOPE CALL

i
i

3 #MISCELLANEOUS DEFINITIONS
i

HT= CODE FOR HORIZONTAL TAB
LF= 12 CODE FOR LINE FEED

CR= 15 $:CODE FOR CARRIAGE RETURN
CRLF= 200 3sCODE FOR CARRIAGE RETURN«LINE FEED
pPS= 177776 3 3PROCESSOR STATUS WORD
+EQUIV PS,PSW

STKLMT= 177774 33STACK LIMIT REGISTER
PIRQ= 177772 3 sPROGRAM INTERRUPT REQUEST REGISTER
DSWR= 177570 3 tHARDWARE SWITCH REGISTER
bDISP= 177570 7 sHARDWARE DISPLAY REGISTER
;#GENERAL PURPOSE REGISTER DEFINITIONS

RY= £ 14 3 $GENERAL REGISTER

R1= 31 3 s GENERAL REGISTER

R2= %2 7 sGENERAL REGISTER

R3= %3 3 3GENERAL REGISTER

Ré4= %4 ; $GENERAL REGISTER

R5= %5 3 $GENERAL REGISTER

Ré= %6 3 3 GENERAL REGISTER

R7= 37 3 sGENERAL REGISTER

+EQUIV R6,SP 3 3STACK POINTER

«EQUIV R7,PC 3 PROGRAM COUNTER
;#PRIORITY LEVEL DEFINITIONS

PRO= ] 3 PRIORITY LEVEL @

PR1= 40 3 $PRIORITY LEVEL 1

PR2= 100 3 'PRIORITY LEVEL 2

PR3= 140 7 1PRIORITY LEVEL 3

PR4= 200 3 3PRIORITY LEVEL 4

PRS= 240 3 sPRIORITY LEVEL S

PR6= 300 7 sPRIORITY LEVEL 6

PR7= 340 3 sPRIORITY LEVEL 7

3#"SWITCH REGISTER" SWITCH DEFINITIONS

SEQ 0015

SEQ @016



TA11 BASIC LOGIC TEST (PART 2) MAINDEC=11=DZTAB=C MACY11 27(732) 11=JUN=76 13:26 PAGE 3 SEQ @017
DZTABC ,NEW BASIC DEFINITIONS

113 100000 SWiS= 100000
114 840000 SWid= 40000
115 820000 SWi3= 20000
116 012000 sWi2z 10000
117 0040080 sWits 4000 o
118 802000 sWip= 2000 L
119 801000 SWy9=  100@ ;
120 800400 swes= 400
121 800200 sWer= 200
122 800100 SWe6= 100
123 800040 swas= 40
124 000320 swga= 20
125 9080810 sWe3z 14
126 800004 swe2z 4
127 ¥00002 swets 2
128 600001 sWee= 1
129 LFQUIV SW09,SW9
130 JEQUIV  5W08,SW8
131 LEQUIV  SW@7,SW7
132 LEQULIV  SWQ6,SW6
133 JEQUIV  SWUS,SWS5
134 LEQUIV SWQ4,SW4
135 LEQUIV SW03,SW3
136 LEQUIV SWA2,8W2 w
137 LEQUIV  5W@1,SW1
138 JEQUIV  SW0@, SWo
139
140 ;#DATA BIT DEFINITIONS (BIT6Q@ TO BIT1S)
141 100000 BIT15= 100000
142 840000 @ BIT14= 40000 o
143 720000 BIT13= 2000¢
144 210000 BIT12z 10000
145 004000 BITi11= 4000
146 202000 2000
147 201000 1000
148 200400 400
149 200200 200
150 600100 100 )
151 800040 BITUS= 40
152 200020 BITO4= 20
153 600012 BITO3= 10
154 800084 BITW2= 4
155 020002 BITO1= 2
156 #0001 BITOW= 1
157 LEQUIV BITO9,BITI
158 LEQUIV BIT®8,BITS
159 LEQUIV BITA7,BIT7
168 LEQUIV BITH6,BIT6
161 LEQULV BIT@5,BITS
162 LEQUIV BIT04,BIT4
163 LEQUIV BIT@3,BIT3
164 LEQUIV B1T@2,BIT2
165 LEQUIV BITO1,BIT1
166 L.EQUIV BITGY,BITO
167
168 ;#BASIC "CPU" TRAP VECTOR ADDRESSES
TA11 BASIC LOGIC TEST (PART 2) MAINDEC=11=DZTAB=C MACY11 27(732) 11=JUN=76 13:26 PAGE 4 SEQ 0018
DZTABC ,NEW BASIC DEFINITIONS
169 090004 ERRVEC= 4 $:TIME OUT AND OTHEK ERRORS
170 BYRV10 RESVEC= 10 ; RESERVED AND ILLEGAL INSTRUCTIONS
171 800014 TBITVEC=14 $:MT BIT
172 600014 TRTVEC= 14 $ s TRACE TRAP
173 200014 BPTVEC= 14 ; BREAKPOINT TRAP (BPT)
174 #0020 I0TVEC= 20 $: INPUT/OUTPUT TRAP (IOT) ##SCOPE##
175 890024 PWRVEC= 24 3 $POWER FAIL
176 000030 EMTVEC= 30 s $EMULATOR TRAP (EMT) ##ERRORw#
177 000034 TRAPVEC=34 5 :"TRAP" TRAP .
178 800060 TKVEC= 60 ;:TTY KEYBOARD VECTOR o
179 200064 TPVEC= 64 $3TTY PRINTER VECTOR
180 ¥00240 PIRQVEC=240 ; $PROGRAM INTERRUPT REQUEST VECTOR
&



TA11 BASIC LOGIC TEST (PART 2)
DZTABC,NEW

181
182
183
184
185
186
187
188
189
190
191
192
193
194
195
196
197
198
199
209
201
202
203
204
205
206
207
208
209
210
21t
212
213
214
215
216
217
218
219
220

TA11 BASIC

DZTABC ,NEW

221
222
223
224
225
226
227
228
229
230
23t
232
233
234
235
236
237
238
239
240
241

fAYe1T74
Vw176

200200
200204
vor210
080214
200220
¥00v224
#0230
$0ov234
20v240
000244
200259

802000
CLL Ll
000004
V00006
200V10
200012
209014
PVYa16

168000
P40000
0820009
0210909
004000
V02000
091000
800400
200200
¥vY100
PV0V4Y
800020
P0OV1D
090004
200002
BvNRAvo1L
BOVG16

900003
200004
290Nes

MAINDEC=11-DZTAB=C

TA11 DEFINITIONS

LOGIC TEST (PART 2)

TRAP CATCHER

200000

000174
BVo0Vd6
¥o00YY

02137
609137
820137
vo0137
2v9137
©¥oV137
262137
800137
920137
©¥oe137
¥ov137

V01336
00137¢
901376
¥91404
913776
914062
214150
¥14230
014332
014426
914512

3TA11 FUNCTIONS

WFG=
WRITE= 2
READ= 4
BSFG= 6
BSBG= 10
SFFG= 12
SFBG= 14
REWIND= 16

MACY11 27(732) 11=-JUN=76 13:26 PAGE 5 SEQ 0019

WRITE FILE GAP FUNCTION
sWRITE FUNCTION

sREAD FUNCTION

;BACK SPACE FILE GAP FUNCTION
;BACK SPACE BLOCK GAP FUNCTION
3 SPACE FWD FILE GAP FUNCTION
;SPACE FWD BLOCK GAP FUNCTION
sREWIND FUNCTION

]

;TA11 BIT ASSIGNMENT

ERROR= BIT15
CRCERR= BIT14
LEADER= BIT13
WRTLOCK=BIT12
FGAP= BIT11
TIMERR= BIT19
OFFLINE=BITY9
UNIT= BITOS8
TR,REQ= BITQA7
INT.EN= BITO®6
READY= BITO5
ILBS= BITA4
FUNC2= BITO3
FUNC1= BITO2
FUNCo= BITO1
GO= BITAY
FUNCTION=

FUNC2+FUI

NC1+FUNCO

$I/11117100070707700000070072077707770707007777707077707707077777777777777777
/1111771077070 000007700070000777707070077777777707077704777777777777/71777
1111177770070 77700070700000770777077707777070770777777777077707774777777777

; SPECIAL REGISTERS

DRIVE= §3
TACS= %4
TADB= %5

;R3 CONTAINS THE DRIVE UNDER TEST
R4 1S USED AS A POINTER TO THE TACS REGISTER
3RS IS USED As A POINTER TO THE TADB REGISTER,

/1101100007070 70700000207770007770007777707777077777077707007077/7777777
SIVIIIIII7700077087077070070070700077700007707000007007077707777777777777777

MAINDEC=11=DZTAB~C

«SBTTL TRAP CATCHER

=0

MACY11 27(732) 11=JUN=T6 13:26 PAGE 6 SEQ 0020

;#ALL UNUSED LOCATIONS FROM 4 = 776 CONTAIN A ",+2,HALT"
3 #SEQUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPTS
;s *LOCATION © CONTAINS @ TO CATCH IMPROPERLY LOADED VECTORS

«=174
DISPREG: ,WORD
SWREG: +WORD

]
2

;3 SOFTWARE DISPLAY REGISTER
;;SOFTWARE SWITCH REGISTER

+SBTTL STARTING ADDRESS(ES)

JMP
JMP
JMP
JMp
JMp
JMp
JHp
JMP
Jmp
JMP
JMp

@3BEGINY
@#BEGIN2
@$BEGIN3
PEBEGING
@4WFGSUB
R#WRTSUB
@#RDSUB

@#WGPBLK
@#RGPBLK
@4SFFGSB
@4BSFGSB

;3JUMP TO STARTING ADDRESS OF PROGRAM
;SELECT DRIVE(S) BEFORE STARTING TEST
$SELECT DRIVE(S) AND ADDRESSES BEFORE TESTING
;SETUP FOR MANUAL LOOPING
sWRITE FILE GAP FROM BOT TO EOT
sWRITE CONTINUOUS BLOCKS OF DATA
;READ CONTINUOUS BLOCKS OF DATA
sWRITE FILE GAP AND A BLOCK OF DATA
sREAD BLOCK OF DATA AND INTO A FILE GAP
3SPACE FWD FI1LE GAP FROM BOT TO EOT
;BACK SPACE FILE GAPS



TA11 BASIC LOGIC TEST (PART 2)
DZTABC ,NEW

242
243
244
245
246
247
248
249
250
251
252
253
254
255
256
257
258
259
260
261
262
263
264
265
266
267
268
269
270
271
272
273
274
275
276
277
278
279
284
281
282
283
284
285
286
287
288
289
299
291
292
293
294

B00v508
020504

0040500

©17714
PeR775

MAINDEC=11=DZTAB=C MACY11 27(732) 11=JUN=76 13:26 PAGE 7 SEQ @921

TOGGLE IN ROUTINES

orB434

TAt1 BASIC LOGIC TEST (PART 2)
WRITE SWITCH REGISTER ON TAPE FROM BOT TO EOT

DZTABC ,NEW
295
296
297
298
299
300
391 099620
3902 000602
303 000604
304 Q00610
305 000614
306 ©VV616
307 900622
308 ©U0624
309 000626
3180 090632
311 ©00634
312 000640
313 000642
314
315
316
317
318
319
3290
321
322
323 000700
324 000702
325 900704
326 @900710
327 000714
328 000716
329 @09722
330 ¢00724
331 @00726
332 000730
333 900732
334 000736
335 000748
338

090600

200005
p1o314
112714
©v32714
Ve1775
112714
105714
109003
017715
00773
832714
901357
008767

800700

809005
210314
112714
832714
991775
112714
185714
100002
911500
290774
832714
6901360
208770

020017
Vo0V 40

000n03

200306

00040

200017
200040

000095

000040

SILIELIIIIITIL 2072000000008 00007077077070000770007077747107070770077707777
SILIIIILIII00LL207 7700000800000 700077000077077077000700070770070770770777

3 THE FOLLOWING ROUTINES CAN BE TOGGLED 1IN,

$I/LIILTIT1177 2700000877070 07077777777770077770070700777777770707008077777777

+REM H

THE FOLLOWING ROUTINES (LOOPi, LOOP2, & LOOP3) CAN BE TOGGLED
IN WHEN IT IS IMPOSSIBLE TO LOAD THE DIAGNOSTICS

NOTE: BEFORE USING THESE ROUTINES INSURE THAT R3,R4,& RS
ARE SETUP PROPERLY,

#% NOTES IF USING SOFTWARE SWITCH REGISTER
LOCATION SWR (=114®) MUST CONTAIN
ADDRESS "SWREG" (=176),
##% PUT VALUE INTO 176 ¥
#% REGISTERS 3,4,&5 MUST BE SETUP##%
#% VIA MOVE INSTRUCTIONS #w
R3= © IF USING DRIVE A
400 1F USING DRIVE B

R4= TA11 STATUS REG ADDRESS (TACS 177500)
R5= TA11 DATA BUFFER ADDRESS (TADB 1775062)
LOOP1 WILL LOAD THE SWITCH REGISTER 1NTO THE TACS,

LOOP2 WILL WRITE TBE CONTENTS OF THE SWITCH REGISTER
ALL THE WAY TO END=OF=TAPE(EOT).

LOOP3 WILL KEAD TO EOT. DATA WILL GO TO RO,

NOTE: LOOP2 AND LOOP3 WILL REWIND WHEN EOT IS REACHED AND
THEN START OVER,

FFEd *

sLOAD SWITCH REGISTER INTO THE TACS

R T " * BREEER #
«=500
LOOP1: MOV #SWR,BTACS ;LOAD TACS
BR LOOP1 sLoOOP
MAINDEC=1§=DZTAB=C MACY1f 27(732) 11-JUN=76 13:26 PAGE 8 SEQ 0022

PIEEBUHRIEN HBEFS 33

sWRITE SWITCH REGISTER ON TAPE FROM BOT TO EOT

PIUREHULRRERE ARG 22 # e HWHUERE N YR
=600
LOOP2: RESET ;CLEAR ALL FLAGS
MOV DRIVE,RTACS ;SELECT DRIVE
Move #REWIND!GO,RTACS ;GO TO BOT
182 BIT #READY,RTACS sWAIT TILL READY COMES UP
BEQ 18
MOVB #WRITE!GO,@TACS ;s START A WRITE
2s8: TSTB @TACS ;CHECK FOR TRANSFER REQUEST
BPL 3s :BR IF NOT SET
MOV @5WR,@TADB 3 SEND DATA TO TA1l
BR 28 sLoop
3s: BIT #READY,8TACS ;D1D READY SET?
BNE Loop2 ;START OVER IF YES
BR 2s ;Loop
e HEFERBRS # # #*
JREAD FPOM BOT TO EOT
sru¥ ez 2e FHEHEREER #a
.=700
LOOP3: RESET ;CLEAR ALL FLAGS
MOV DRIVE,@TACS ;s SELECT DRIVE
MOVB #REWIND!GO, @TACS 3 START A REWIND
182 BIT #READY,RTACS sWAIT ON REWIND TO FINISH
BEQ 1s
MOVB #READ!GO,@TACS 3 START A READ
28 TSTB @TACS ;CHECK TRANSFER REQ
BPL 3s $BR IF NOT SET
MOV @TADB,RO sPICKUP THE DATA
BR 28 ;LOOP
3s: BIT #READY,8TACS ;CHECK READY
BNE LOOP3 ; START OVER
BR 28 ;LOOP

&



TA11 BASIC LOGIC TEST (PART 2)

DZTABC

337
338
339
340
341
342
343
344
345
346
347
348
349
350
351
352
353
354
355
356
357
358
359
360
361
362
363
364
365
366
367
368
369
370
371
372
373
374
375
376
377
378
379
380
381
382
383
384
385
386
387
388
389
3992
391
392

«NEW

vo1100@
801100
w1102
801103
001104
001106
201110
201112
201114
921115
ed1116
021120
021122
031124
221126
001130
201132
001134
¥01135
901136
901140
001142
001144
701146
891159
971152
001154
891155
09v1156
801157
wd1160

ve1162
601164
001166
eo01170
8e1172
01176
901177
001200

0061202
001204

091206
¥A1210
301212
vo1214
221216

COMMON TAGS

e01109

000000
va0
[-L'1]

000002

[l

200000

200000
(L1
vo1

000000

200000

802000

LLLll)

090000

0¥00000

200000
11
['T'1%

000000

177570

177570

177560

177562

177564

177566
(L1
@02
212
206

V20900

000000
820000
©¥0020
200000
177687

@77

215
0890012

000377

0000060
0600Ve

177500
177501
177502
177503

800260 000262

TA11 BASIC LOGIC TEST (PART 2)

DZTABC  NEW
393 901222
394 001224
395 001230
396 091232
397 @01234

COMMON TAGS

009300
800000
701224
LT
090009

boVE00

MAINDEC=11=DZTAB=C MACY11 27(732) 11=JUN=76 13:26 PAGE 9
+SBTTL COMMON TAGS
JrEBRERHL EE T T eI * %
3#THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
;#USED IN THE PROGRAM,
.=1100
$§CMTAG: COMMON TAGS
$PASS: ,WORD ) PASS COUNT
STSTNM: ,BYTE [ THE TEST NUMBER
SERFLG: ,BYTE @ ERROR FLAG
S$ICNT: LWORD 7] SUBTEST ITERATION COUNT
S$LPADR: ,WORD ) SCOPE LOOP ADDRESS
SLPERR: ,WORD [ SCOPE RETURN FOR ERRORS
$ERTTL: ,WORD 1) TOTAL ERRORS DETECTED
SITEMB: ,BYTE "] ITEM CONTROL BYTE
SERMAX: ,BYTE 1 MAX, ERRORS PER TEST
SERRPC: ,WORD (4 PC OF LAST ERROR INSTRUCTION
§GDADR: ,WORD o ADDRESS OF “GOOD” DATA
§BDADR: ,WORD (4 ADDRESS OF °BAD’ DATA
SGDDAT: ,WORD 1] ;3CONTAINS “GOOD’ DATA
SBDDAT: ,WORD ] 3 sCONTAINS “BAD’ DATA
+WORD ) ; iRESERVED==NOT TO BE USED
+WORD [
$AUTOB: ,BYTE 12 3 sAUTOMATIC MODE INDICATOR
SINTAG: ,BYTE 1) ; s INTERRUPT MODE INDICATOR
+WORD )
SWR: +WORD DSWR s sADDRESS OF SWITCH REGISTER
DISPLAY: ,WORD DDISP ADDRESS OF DISPLAY REGISTER
STKS: 17756@ TTY KBD STATUS
STKB: 177562 TTY KBD BUFFER
8TPS: 177564 TTY PRINTER STATUS REG, ADDRESS
STPB: 177566 TTY PRINTER BUFFER REG, ADDRESS
$NULL: ,BYTE ) CONTAINS NULL CHARACTER FOR FILLS
$FILLS: ,BYTE 2 CONTAINS # OF FILLER CHARACTERS REQUIRED
$FILLC: ,BYTE 12 INSERT FILL CHARS, AFTER A "LINE FEED"
$TPFLG: ,BYTE 1) "TERMINAL AVAILABLE" FLAG (BIT<@®7>=0=YES)
SREGAD: ,WORD 1] CONTAINS THE ADDRESS FROM
WHICH (SREGY) WAS OBTAINED
SREG@: ,WORD 1] CONTAINS (($SREGAD)+9)
S$REG1: ,WORD 12 CONTAINS ((SREGAD)+2)
STIMES: @ MAX, NUMBER OF ITERATIONS
SESCAPE: 9 ESCAPE ON ERROR ADDRESS
$BELL: (ASCIZ <207><377><377> CODE FOR BELL
SQUES: ,LASCIlI 2/ QUESTION MARK
$CRLF: ,ASCII <15> sCARRIAGE RETURN
SLF: +ASC1Z <12> ;s LINE FEED
PR RS HE LY * TS
SAVPC: ,WORD 0 i STORAGE FOR THE PC
SAVPS: ,WORD 0 ;s STORAGE FOR THE PS
TACSL: 177500 ;LOW BYTE ADDRESS OF TACS
TACSH: 177501 sHIGH BYTE ADDRESS OF TACS
TADBL: 177502 ;LOw BYTE ADDRESS OF TADB
TADBH: 177503 sHIGH BYTE ADDRESS OF TADB
TAVEC: 260,262 ;TA11 VECTOR ADDRESS

MAINDEC=11=DZTAB=C

TAPRIO:
DRVKEY:
DRVPNT:
ASKKEY: @
CURDRV: @

300
(73]
DRVKEY

MACY1t 27(732) 11=JUN=76 13:26 PAGE 1@

;TA11 BR LEVEL 6
;DRIVE SELECT KEY:

sCURRENT DRIVE BEING TESTED

SEQ 0023

SEQ 0024



TA11 BASIC LOGIC TEST (PART 2)

DZTABC,NEW
398
399
409
401
402
403
404
405
406
407
408
409
410
411
412 901236
413
414
415
416
417 001236
418 901240
419 001242
420 901244
421
422
423 901246
424 001250
425 901252
426 901254
427
428
429 901256
4390 001260
431 091262
432 901264
433
434
435 001266
436 901270
437 0901272
438 001274
439
440
441 991276
442 001309
443 901302
444 901304
445
446
447 991306
448 901310
449 001312
450 0991314
451
452

TA11 BASIC LOGIC TEST (PART 2)

DZTABC,NEW

453 ©01316
454

455 9001316
456 001320
457 901322
458 09961324
459

460 901326
461 PB1330
462 091332
463 001334
464

ERROR POINTER TABLE

MAINDEC=11=DZTAB=C MACY11 27(732) 11«JUN=76 13326 PAGE 11t

+SBTTL ERROR POINTER TABLE

s#THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.
;#THE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUND IN
;#LOCATION SITEMB, THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT,

3 #NOTE1 ¢ IF SITEMB IS © THE ONLY PERTINENT DATA IS (SERRPC),

;#NOTE2: EACH ITEM IN THE TABLE CONTAINS 4 POINTERS EXPLAINED AS FOLLOWS:
e EM ;3POINTS TO THE ERROR MESSAGE

e DH $3POINTS TO THE DATA HEADER

i DT ;3POINTS TO THE DATA

I DF ;1POINTS TO THE DATA FORMAT

SERRTB:

sNOTE: ALL NUMBERS ARE TYPED AS 6-DIGIT OCTAL NUMBERS

SITEM 1
217066 EM1 $STATUS PROBLEM
217256 DH1 $PC TACS
917420 DT1 ; SERRPC SREGO
800000 8

JITEM 2
817105 EM2 JREADY FAILED TO SET
917273 DH2 $BC TACS WAIT ADDRESS
017426 DT2 ;SERRPC SREGY  SAVPC
002900 0

SITEM 3
217133 EM3 s TRANSFER REQUEST FAILED TO SET
817273 DH2 :+PC TACS WALT ADDRESS
¥17426 DT2 sSERRPC SREG®  SAVEC
000200 0

SITEM 4
217174 EM4 ;THE WRONG FLAG SET
¥17273 DH2 ;PC TACS WAIT ADDRESS
217426 DT2 $SERRPC SREG®  SAVEC
000000 0

sITEM 5
817217 EMS ;DATA PROBLEM
817330 DHS ;PC TACS EXPECT RCV’D
217436 DTS ;$ERRPC SREGO  $GDDAT §BDDAT
900000 0

SITEM 6
817234 EM6 ; INTERRUPT PROBLEM
$17366 DHe 1bC TACS BR LEVEL
817450 DT $SERRPC SREG@  $GDDAT
800000 ]

MAINDEC=11+DZTAB=C MACY11 27(732) 11=JUN=T76 13126 PAGE 12

ERROR POINTER TABLE

ITEMS2: ;ITEMS 2012202
817472 EM201  ;TA11 FAILED TO RESPOND
917544 DH201  3PC TACS
817460 DT201  ;SERRPC TACS
000000 8 ;BOTH NUMBERS ARE TYPED AS OCTAL NUMBERS
917521 EM202  ;NO DRIVES AVAILABLE
217561 DH202  ;PC
p17466 DT202  ;SERRPC
800000 [ :

SEQ 2025

SEQ @@26

‘%W%W

&



P

TA11 BASIC LOGIC TEST (PART 2)
START OF TEST

DZTABC ,NEW
465
466
467
468
469
470
a1
472
473
474
475
476 901336
477 001340
478 ©01346
479 ©91354
480 ©01356
481 001364
482 001366
483 001370
484 001374
485 091376
486 0921402
487 ©01404
488 9091410
489
499
491 001410
492 0901414
493 901416
494 001422
495 0901424
496
497 001430
498 001436
499 ©01444
504 001452
501 001460
502 001466
503 091474
504 001502
505 001519
506 901516
507 0081522
508 901526
509 001534
518 001542
Sit
512
S13 ©@91550
514 ¥01554
515 901562
516 ©¥0157¢
517 ¥01576
518 001604
519
52¢ ©910606

805005
©¥12737
122737
001015
022737
¥o1011
000403
0812705
600405
212705
9vR402
912705

0912736
095026
0822706
801374
V12706

912737
012737
012737
©$12737
8127317
912737
912737
012737
V16767
025067
805067
112767
v12767
012767

813746
0812737
212767
V12767
»22771
091012

00¢423

041101
800005

00026¢

000001
0¥A0002

P00R03

001100
001140
001100

012264
000340
012536
0¥0V340
016476
920340
016562
020340
010476
177444
177442
¥00n01
001534
001542

900004
wa1610
177570
177579
1777717

TA11 BASIC LOGIC TEST (PART 2)

DZTABC ,NEW

521
522
523
524
525
526
527
528
529
530
531
532
533
534
535
536
537
538
539
540
541
542
543
544
545
546
547
548
549
550
551
552
553
554
555
556
557
558
559
560
561
562
563
564
565
566
567
568
569
570
S71
572
573
574
575
576

vo1610
vo1614
PV1616
V01624
f01632

PY1636
¥01642
001644
601652
#01654

201660
¥01664
901666
001674
001676
021700
001702
991710
001710

091740

201740
801742
$01744
VY1746
¥21752
901754
9091756

INITIALIZE THE

812716
090002
212767
012767
0812637

825227
091436
©¥22737
091432
104401

005737
0¥1006
¥26727
891005
104405
©¥90403
112767

000413

810504
095305
0902406
004737
p05305
0802402
004737

001616
000176

00174
000004

1777717
012232
001712
000042

177246

000001

013254

913364

MAINDEC=11=DZTAB=C

MACY11 27(732) 11=JUN=76 13:26 PAGE 13

SILLILIIII7000700 000000000700 007000070707007777700070700000071770017077777
$LIIIITI17000070070070707770700777407077770707770777707707707771070777777777/7
33 U0 0 3 A 2662 3 00 3 0 R 6 U U A 0 A6 B B 26 30 00 3 3 20 6 20 30 3 3000 30 30 30 40 00 00 35 36 B0 3 0 36 46 B B 0 6 0

;BEGIN1 IS FOR NORMAL START
;BEGIN2 IS FOR DRIVE SELECTION

BEGIN3 IS FOR DRIVE & ADDRESS SELECTION
3BEGIN4 IS FOR MANUAL OPERATION

R a2 T T #*
BEGIN1: CLR RS 3 NORMAL START
001224 MoV #"AB,@#DRVKEY
000041 CMPB #5,0841 ;CASSETTE DDP?
BNE BGNCMN 3GO BEGIN COMMON CODE IF NO
001216 CMP #260,83TAVEC 3 STANDARD VECTOR?
BNE BGNCMN ;GO BEGIN COMMON CODE IF NO
BR BEGIN3 3GET DRIVES AND ADDRESSES
BEGIN2: MOV #1,RS sASK FOR DRIVES FLAG
BR BGNCMN 3BEGIN COMMON CODE
BEGIN3: MOV #2,R5 ;ASK FOR DRIVES AND ADDRESSES
BR BGNCMN
BEGIN4: MOV #3,RS
BGNCMN:
«SBTTL INITIALIZE THE COMMON TAGS
s sCLEAR THE COMMON TAGS ($CMTAG) AREA
MOVY #SCMTAG,R6 ;sFIRST LOCATION TO BE CLEARED
CLR (R6)+ 7 sCLEAR MEMORY LOCATION
cMp #SWR,R6 ;3;DONE?
BNE =6 ;:LOOP BACK IF NO
MOV #STACK, SP 3 3SETUP THE STACK POINTER
33 INITIALIZE A FEW VECTORS
7N0020 MO #6SCOPE,@#IOTVEC ;3;10T VECTOR FOR SCOPE ROUTINE
000022 MOV #340,@410TVEC+2 ;:LEVEL 7
000030 MOV #SERROR, @#EMTVEC ;;EMT VECTOR FOR ERROR ROUTINE
000032 MOV $340,@#EMTVEC+2 ;;LEVEL 7
000034 MOV #STRAP,R#TRAPVEC ;;TRAP VECTOR FOR TRAP CALLS
700036 MOV #340,@3 TRAPVEC+2;LEVEL 7
0V0024 MOV #SPWRDN, @#PWRVEC ;;POWER FAILURE VECTOR
000026 MOV #340,@8PWRVEC+2 ;;LEVEL 7
010466 MOV SENDCT, SEOPCT 33 SETUP END=OF=PROGRAM COUNTER
CLR $TIMES ;s INITIALIZE NUMBER OF ITERATIONS
CLR SESCAPE ;3CLEAR THE ESCAPE ON ERROR ADDRESS
177361 MOVB #1,SERMAX s sALLOW ONE ERRORK PER TEST
177344 MOV #¢0 SLPADR ;3 INITIALIZE THE LOOP ADDRESS FOR SCOPE
177349 MoV # 09 SLPERR ;3SETUP THE ERROR LOOP ADDRESS
;3SIZE FOR A HARDWARE SWITCH REGISTER, IF NOT FOUND OR IT 1S
$3EQUAL TO A "«t", SETUP FOR A SOFTWARE SWITCH REGISTER,
MOV @#ERRVEC,=(SP) ;;SAVE ERROR VECTOR
000004 MOV #6485, @#ERRVEC 33SET UP ERROR VECTOR
177350 MOV #DSWR, SWR $3SETUP FOR A HARDWARE SWICH REGISTER
177344 MOV #DD1SP,DISPLAY ;3;AND A HARDWARE DISPLAY REGISTER
177334 cMp #=1,@5WR TRY TO REFERENCE HARDWARE SWR
BNE 66s 3 sBRANCH IF NO TIMEOUT TRAP OCCURRED
;3AND THE HARDWARE SWR IS NOT = =i
BR 658§ s sBRANCH IF NO TIMEOUT
MAINDEC=11=DZTAB=C MACY11 27(732) 11=JUN=76 13:26 PAGE 14
COMMON TAGS
64583 MOV #658, (5P) 33SET UP FOR TRAP RETURN
RTI
177314 65s: MoV #SWREG, SWR ;sPOINT TO SOFTWARE SWR
177310 MOV #DISPREG,DISPLAY
665 MOV (SP)+,@#ERRVEC ;;RESTORE ERROR VECTOR
«SBTTL TYPE PROGRAM NAME
;3 TYPE THE NAME OF THE PROGRAM IF FIRST PASS
INC #e1 3 sFIRST TIME?
BNE HERE 3 $BRANCH IF NO
000042 CMP #SENDAD,@#42 $:ACT=117
BEQ HERE s sBRANCH IF YES
TYPE +MSG1D s 3TYPE ASCIZ STRING
«SBTTL GET VALUE FOR SOFTWARE SWITCH REGISTER
TST en42 s 3ARE WE RUNNING UNDER XXDP/ACT?
BNE 678 : sBRANCH IF YES
200176 cMp SWRy # SWREG 3 3 SOFTWARE SWITCH REG SELECTED?
BNE s $BRANCH IF NO
GTSHWR 33GET SOFT=SWR SETTINGS
BR 688§
177224 678 MOVB #1,8AUTOB 3 3SET AUTO=MODE INDICATOR
68532
BR HERE 33GET OVER THE ASCIZ
3 s MSGID: oASCIZ <CRLF>/MAINDEC=11=DZTAB=C/<CRLF>
HERE?
i * YRGB t 121
AR AR AR AL A T g2 A T e 2T R T R T T T T e e ey
;THE CONTENTS OF R5 DETERMINES WHAT WILL BE DONE
i
H R5=3 MANUAL OPERATIONS
H R5=2 ASK FOR DRIVE(S) AND ADDRESSES (TACS AND VECTOR)
H R5=1 ASK FOR DRILVE(S)
H RS5=0 DON’T ASK FOR ANYTHING
:
i3 * o % B b 5020 30 48 3006 B 00 0 600 30 0
BEGINX: MOV RS,R4 3COPY RS
DEC RS ;ASK FOR DRIVES?
BLT CHKADR 3BR IF NO
JSR PC,@#ASKDRV 3GO GET DRIVEs TO BE TESTED
DEC RS $ASK FOR ADDRESSES?
BLT CHKADR sBR IF NO
JSR PC,@#ASKADR 3GO GET TA11 ADDRESSES
IR Rl & #* #* 3k * L2220

SUBBABEE R NED

3CHECK THAT "TACS™ WILL RESPOND TO ADDRESSING

H

I, TIMEOUT OCCURRED
A, TYPE ERROR MESSAGE
B, EXARMINE R4
1, R4>9 GOTO BEGINX
2. R4zp EXAMINE (42)
R, (42)=9 GOTO BEGINX
B, (42)>2 GOTO SENDAD

e =8 e S8 w0 s we ve

SEQ 0027

SEQ @028



TA11 BASIC LOGIC TEST (PART 2)

DZTABC,NEW

577

578

579

s8¢

581 901762
582 901770
583 001772
584 001776
585 902000
586 022002
587 002004
588 002012
589 902014
590 002016
591 0802020
592 802024
593 002026
594 902030
595 002034
596 002036
597 002042
598 002046

TA11 BASIC LOGIC TEST (PART 2)

DZTABC, GET VALUE FOR SOFTWARE SWITCH REGISTER

599
609
601
602
6v3
604
605
606
607
608
609
610
611
612
613
614
615
616
617
618
619
620
621
622
623
624
625
626
627
628
629
630
631
632
633
634
635
636
637
638
639
640
641
642
643
644
645
646
647
648
649
650
651
652
653
654

NEW

802046
792052
0992056
7020690
902064
¥02066
992072
A02074
0902076
002100
002102
902106
#02110
992112
902116
902122
802126
992130
002134
202136
902140
902142
002144
002150
902152
002154
002160
002162
802166
0202172
802174
0902200
802204
002206
992212

MAINDEC=11=DZTAB=C
GET VALUE FOR SOFTWARE SWITCH REGISTER

MACY11 27(732)

11, TIMEOUT DIDN’T OCCUR

A, CONTINUE

11=JUN=76 13:26 PAGE 15 SEQ 02829

: e e 22222 * #
812737 002000 000004 HKADR: MOV #3$,88ERRVEC s IN CASE OF TIMEOUTS
0905900 CLR R@ ;USE AS A SWITCH
895777 177210 TST @TACSL sSEE IF TA11 RESPONDS
800402 BR 23 sBR IF NO TIMEOUT
005200 1s: INC RO ;COME HERE ON TIMEOUT
022626 cMp (SP)+,(SP)+ ;CLEANUP THE STACK
912737 000006 000004 25: MOV #ERRVEC+2, @ ERRVEC sRESTORE TIMEOUT VECTOR
p95700 TST RO ;DID A TIMEOUT OCCUR?
001414 BEQ 3s ;BR IF NO
104201 ERROR 201 :TA11 FAILED TO RESPOND
912705 000002 MOV #2,R5 ;DRIVES & ADDRESSES
905704 TST R4 ;OPERATOR INPUTS?
901344 BNE BEGINX ;sBR IF YES
213700 00042 MOV e#42,R0 sGET MONITOR RETURN ADDRESS
901741 BEQ BEGINX sBR IF NO MONITOR
e0P137 ©12232 JMP @#SENDAD $GO TO END
805077 177152 CLR @TAVEC+2

3s:

MAINDEC=-11=DZTAB=C MACY11 27(732) 11eJUN=T76 13:26 PAGE 16 SEQ 00390

&

MAKE SURE THE DRIVES IN THE DRIVE TABLE CAN BE TESTED

:
;
i1, DESIRED DRIVES CAN NOT BE TESTED
; A. TYPE ERROR MESSAGE
; B. EXAMINE R4
; 1. R4>2 GOTO BEGINX
; 2. R4z0 EXAMINE (42)
; A, (42)=@ GOTO BEGINX
: B. (42)>@ GOTO SENDAD
:
;I1, BOTH DRIVES 1N THE TABLE BUT ONLY ONE OF THEM CAN BE TESTED
: A, CLEAR BAD DRIVE FROM THE DRIVE TABLE
; B, CONTINUE IN PROGRAM
;111, DESIRED DRIVE(S) CAN BE TESTED
: A. CONTINUE IN PROGRAM
;
13 #
712700 001224 CHKDRV: MOV #DRVKEY, RO ;PICKUP ADDRESS OF ASCII DRIVE KEY
204737 015046 JSR PC, @FEXAM $GO EXAMINE FIRST DRIVE
#00410 BR s ;0K T0 TEST==<GO CHECK NEXT
116010 900001 MOVB 1(RO), (RB) ;REPLACE 1ST WITH 2ND
001412 BEQ 28 ;BR IF NO 2ND DRIVE SELECTED
p04737 015046 JSR PC, 84EXAM ;GO EXAMINE DRIVE
200407 BR 28 ;0K TO TEST
#905010 CLR (RO) ;CLEAR DRIVE CODES
20V405 BR 28
005200 182 INC RO ;POINT TO 2ND
#4737 015046 JSR PC, @$EXAM $GO EXAMINE DRIVE
200401 BR 28 ;0K TO TEST
105010 CLRB (RO) ;CLEAR 2ND
212700 0061224 282 Hov #DRVKEY, RO ;RESET ADDRESS POINTERS
210037 001230 MOV R@,24DRVENT
121060 900001 cHMPB (R2),1(RD) ;18T = 2ND?
801002 BNE 3s ;BR IF NO
105060 0000601 CLKB 1(RO) ;YES===CLEAR 2ND
805710 383 TST (RO) ;ANY DRIVES?
901401 BEQ 5% $BR IF NO
800412 BR MANUAL
104202 552 ERROR 202 ;NO DRIVES AVAILABLE
912705 000002 MOV #2,R5 :DRIVES & ADDRESS
205704 TST R4 ;OPERATOR INPUTS?
201272 BNE BEGINX :BR IF YES
213708 0600042 MOV e#42,R0 ;GET MONITOR RETURN ADDRESS
001667 BEQ BEGINX sNO MONITOR
000137 012232 Jup @4#SENDAD ;GO TO END
920427 000003 MANUAL: CMP R4,#3
601002 BNE 0K
916704 175577 MOV =1,R4
010437 001232 OK: MOV R4, 8#ASKKEY
200405 BR START
104401 001712 PWRST: TYPE /MSGID ;POWER FAIL RESTART
912737 ©01224 001230 MOV 8DRVKEY, @4DRVPNT



i

TA11 BASIC LOGIC TEST (PART 2)
GET VALUE FOR SOFTWARE SWITCH REGISTER

DZTABC,NEW

655 902220
656 ©02226
657 992232
658 892240
659 002244
660 ©02250
661 002254
662 992256
663 002264
664 402270
665 902272
666 ¥V227¢
667 @92392
668 022304
669 ©92310
674 002310
671 092314
672

673 992340
674 V02340
675 ©¥2344
676 ©92350
677 32354
678 002356
679 ©02360
680 ©02364
681 902370
682 992374
683 092376
684 P02400
685 #932402
686 ¥22410
687 ©92412
688 ©42414
689

698 £92414
691 992420
692 ©¥2422
693 022424
694 0024390
695 002434

8137177
©¥95077
812737
p13764
¥13705
895737
021003
812737
995837
805903
213701
121127
921402
812703

104491
poo4aLt

112167
124401
144401
195711
§010082
812701
819137
¥e5737
202007
¥95000
poR200
822767
Y1091
104495

805737
001406
p13314
112714
232714
801775

0012290
176766
000340
601206
801212
801100

8777717
991102

001230
Povio1

L ETd

002316

170670
901234
©ve1177

001224
801230
¥01232

f0O176

000042

0oon17
900340

TA11 BASIC LOGIC TEST (PART 2)
GET VALUE FOR SOFTWARE SWITCH REGISTER

DZTABC,NEW

696

697

698

699

703

701

702

703

794 892436
795 ©92449
706 02446
797 @92452
708 ©92454
709 9002456
719 902460
711 292464
712 002466
713 892472
714 092474
715 932502
716  ©02506
717 @92512
718

719

720

721

722

723

724

725 0802516
726 6025290
727 ©9©2526
728 ©0@2534
729 ©22542
730 602544
731 9802546
732 @02552
733 9¥02554
734 902560
735 992562
736 9802564
737 992566
738 992570
739 €92572
748 002574
741 802576
742 0902600
743 0902602
744 9002606
745 002619
746 002612
747 902614
748 0022616
749 902620
156 002624
751 892626

003004
812767
895737
201021
220205
210314
112714
104412
112714
104412
163737
¥095237
vo6137
006137

B9V 4
812767
812767
812767
200005
210314
112714
104412
112714
194413
105714
100401
104001
895015
205000
895001
105714
100405
262700
895501
100372
104001
185714
100005
162700
995601
190372

000001
001100

000017
?00001
913124
©¥13159

913150
913150

000012
292554
002656

000017

000003

000010

300001

MAINDEC-11-DZTAB=-C

176770 START: MOV
CLR
177776 MOV
MOV
MOV
TST
BNE
013150 MOV
182 CLR
CLR
MOV
CMPB
BEQ
MOV
TDRV:
TYPE
BR
$3658: LASCIZ
64

MOVB
TYPE
TYPE
TSTB
BNE
MOV
is: MOV
TST
BGE
CLR
HALT
176530 CMP
BNE
GTSWR
20s:
3 THIS CODE IS FO
2s: TST
BEQ
MOV
MOVB
3s: BIT
BEQ

MAINDEC=11«DZTAB=C

3111111707700 7070070700070004077777077777700777777777770707707777/77777777
SILIIII177000700077007707707772777770770777700777447777777777777774/0777777

MACY11 27(732)

@4#TAVEC+2,@TAVEC
@TAVEC+2
#340,84PS
@#TACSL, TACS
@¥TADBL, TADB
B#SPASS

1s
$°CBIT15,@4#MAXCNT
@#STSTNM

DRIVE
@#DRVPNT,RY
(R1),%°A

TDRV

#UNIT,DRIVE

1658 ;s TYPE A
645 33GET OV
<15><12>*TESTING DRIVE #

(R1)+,CURDRV
+»CURDRYV

+ SCRLF

(R1)

1s
#DRVKEY,R1
R1,@#DRVPNT
@38 ASKKEY

2s

RO

#SWREG, SWR
20s

R ACT11 & DDP
e#42

TSTH

DRIVE,@TACS
$REWIND!GO,RTACS
#READY,@TACS

3s

MACY11 27(732)

11-JUN=76 13126 PAGE 1

;SETUP TA11 TRAP VECTOR

;LOCKOUT ALL 1/0 INT
;SETUP TACS
;SETUP TADB

7

SEQ 0031

3IF FIRST PASS SETUP FOR EXTRA LONG WAIT LOOPS

;OTHERWISE USE OLD VALUE

;ZERO THE TEST NUMBER
;SET DRIVE TO "A®
$GET DRIVE POINTER
;1S IT DRIVE "A"%

;BR IF YES

;SET DRIVE TO "B"

SCIZ STRING
ER THE ASClZ

$SETUP TO TYPE CURRENT DRIVE

;TYPE A CR & LF

S

sLAST DRIVE BEEN SELECTED

;BR IF NO
;RESET DRIVE POINTER

$SAVE DRIVE POINTER FOR NEXT TIME
;GO START TESTING IF NO MANUAL
H OPERATIONS REQUESTED

;GIVE CONTROL TO THE OPERATOR

sUSING S/W SWITCH REG,?
;NO- GET OUT

sLET HIM CHANGE IT
;CONTINUE

;IS THERE A MONITOR?
;G0 START TESTING IF NO
;1F YES SELECT DRIVE
;SEND TAPE TO BOT

JWAIT ON READY

sFALL THRU IF READY={

11=JUN=T76 13:26 PAGE 1

srERER

* 22

sTHIS ISN°T A REAL TEST BUT A SMALL ROUTINE TO DETERMINE THE MAX,

$TIME FOR THE WA
JINNRERRBERBIBRR
;#TEST 1

TST1: SCOPE
176520 MOV
TST
BNE
RESET
MOV
MOVB
WAITREAD
MOVB
WAITREAD
013150 SuB
INC
ROL
ROL

SLLLIILLII17770070000007077070000700707707777007707077077770770077777777777
$II117717707077777777707070777777777727074077777707717777277777777777717/7
; THE FOLLOWING TEST WILL CHECK TIMING ERRORS FOR BOTH "WRITE®"™ AND "READ",
V111110070070 707070707777717177

$//11717171777¢7

IT LOOPS (WALT FOR "READY" AND "TRANSFER REQUEST")

BREEE

223227

ROUTINE TO DETERMINE TIME OF WAIT LOOP
PR e e e e st

#1,STIMES 3:D0 ¢ I
B#SPASS
TST2 33BR IF

DRIVE,@TACS
$REWIND!GO,RTACS
Y

$WFGIGO,@TACS

Y

@#HGHTIM, B#MAXCNT
@#MAXCNT

@#MAXCNT

e#MAXCNT

1117177777000 70707777777

TERATION
;IS THIS THE FIRST PASS?
NO

;SELECT THE DRIVE
;START A REWIND

;WAIT FOR READY
;WRITE A FILE GAP
;WAIT ON READY

;GET THE TIME IT TOOK
$MAKE IT BIGGER

is
;#TEST 2

TEST "TIMING ERROR" FOR

"WRITE"

PIERBEAXBIRES
TST2: SCOPE
176440 MOV
176352 MOV
176426 MOV
RESET
MOV
MOVB
WAITREAD
7s: MOVB
WAITXFER
TSTB
BMI
ERROR
182 CLR
CLK
CLR
283 TSTB
BMI
ADD
ADC
BPL
ERROR
3s: TSTB
BPL
SuB
SBC
BPL

£10,,STIMES
#7$,SLPADR
4TST3,SESCAPE

;DO 10,
$SET SC
i

H
;
i

DRIVE,@TACS
#REWIND!GO, RTACS
Y
#WRITE{GO,@TACS

@TACS
1s

ITERATIONS
OPE LOOP ADDRESS

ESCAPE TO TEST 3 ON ERROR

$SELECT DRIVE

;GO TO "CLEAR LEADER"
sWAIT ON "READY"

sWRITE FUNCTION

sWAIT ON "XFER REQ"

;IS "XFER REQ" = {

3BR IF YES

3NO "XFER REQ" OCCURRED
$KNOCK DOWN "XFER REQ"
sCLEAR COUNTER

$WAIT FOR "XFER REQ"

;KEEP TRACK OF HOW LONG

:IT TAKES "XFER REQ" TO SET

;"XFER REQ" FAILED TO SE
3 SAMPLE "XFER REQ"

s IF "XFER REQ"™ = @ SOMETHING IS WRONG

;DOWN COUNT THE COUNTER
$S0 A "TIMING ERROR WILL
;0CCUR

T

SEQ 0032



TA11 BASIC LOGIC TEST (PART 2)

DZTABC,NEW

752 902630
753 902632
754 9082634
755 9082636
756 0026490
757 ©82642
758 ©02644
759 ©02646
768 ©082652
761 802654
762

763

764

765 002656
766 ©BB2660
767 PO2666
768 802674
769 0802702
770 002704
771 822706
772 002742
773 002714
774 002724
775 ©082724
776 802726
777 892732
778 9892734
779 892736
784 002740
781 ©¥082744
782 202746
783 ©02752
784 902754
785 0062769
786 0082762
787 002764
768 802766
789 092770
792 002772
791 002774
792 ©@2776
793 P3I3900
794 98030902
795 693006
796 923010
797 993012
798 083014
799 023216
800 993020
821 003024
802 ©03026
803 003030
804 003032
885 003a34
806 ©03036
897 003042

TA11 BASIC LOGIC TEST (PART 2)

DZTABC  NEW

808 903044
809 003046
810 863050
811 983052
812 003056
813 003164
814

815

816

817 003062
818 003064
819 003072
820 923100
821 033106
822 ¥03110
823 @@3112
824 083116
825 $03120
826 ©03124
827 ©¥3126
828 ©983132
829 903134
832 983140
831 0063142
832 ©03144
833 903146
834 003150
835 003154
836 @AV3156
837 903160
838 ©33162
839 903164
840 Q03166
841 0831790
842 903174
843 903176
844 003200
845 ©83202
846 9003204
847 0603206
848 003210
849 903212
850 803216
851 803220
852 903222
853 003226
854 0803230
855 £03232
856 ©93234
857 983240
858 903242
859 603244
860 903246
861 5083252
862 98983254
863 ©03256

T2

800401
104001
165715
104412
905714
180401
104001
832714
801001
164001

800004
12767
812767
p12767
800005
p18314
112714
104412
112714
812709
104413
112715
104413
090530890
$e3373
952714
124412
112714
104412
112714
164413
185714
100401
104001
185715
905009
895001
195714
190405
9627090
P35501
100372
104001
105714
1090085
162709
805601
100372
820401
104001
195715
952714
104412

T3

#35714
104401
104001
832714
8010601
104001

200004
912767
212767
812767
020005
010314
112714
104412
112714
164412
112714
184413
112745
8850060
905001
105714
100405
062700
905501
198372
104001
105714
1v0401
164001
162700
895601
166371
165715
104412
005714
100401
104001
832714
901001
104001
112714
995714
100001
104001
112714
805714
1004061
164001
112714
905714
160401
164001

MAINDEC=11-DZTAB=C MACY11 27(732) 11-JUN=76 13:26 PAGE 19
TEST "TIMING ERROR" FOR "WRITE"
BR 5$
453 ERROR 1 ;"XFER REQ" SHOULDN’T HAVE CLEARED
58 TSTB eTADB ;CLEAR "XFER REQ"
WAITREADY ;WAIT FOR "READY"
TST eTACS ;IS "ERROR" BIT SET?
BMI 6$ ;BR IF YES
ERROR 1 ;"ERROR" BIT NOT SET
002000 [ 3] BIT ¢ TIMERR, @TACS ;1S ®TIMING ERROR" = 1?
BNE TST3 ;3BR IF YES
ERROR 1 ;"TIMING ERROR" NOT SET
PIURGUERBBERBBRBARE # ®HE *
s#TEST 3 TEST "TIMING ERROR" FOR "READ"
H BEFER %
TST3:  SCOPE
#00012 176300 MOV #10,,STIMES ;300 18, ITERATIONS
082714 176212 MOV #7$,SLPADR ;3SET SCOPE LOOP ADDRESS
003062 176266 MOV #TST4,SESCAPE  ;;ESCAPE TO TEST 4 ON ERROR
RESET
MOV DRIVE,RTACS 3 SELECT DRIVE
000017 Movs #REWIND!GO,RTACS ;GO TO "CLEAR LEADER"
WAITREADY ;WAIT FOR "READY"
200003 78t MOVB #WRITE !GO, @TACS ;WRITE
600006 MOV #6,R0O ;WRITE THIS MANY BYTES ON TAPE
WAITXFER ;WAIT FOR “XFER REQ"
800377 8$: MOVB $377,8TADB ;WRITE ONE BYTE
WAITXFER ;WAIT FOR "XFER REQ"
DEC RO ;LAST BYTE OUT?
BGT 8s $BR IF NO
000020 BIS $1LBS,RTACS ;WRITE "CRC"
WAITREADY ;WAIT FOR "READY"
000017 MOVB #REWIND !GO, @TACS ;BACK OVEK THE BLOCK
WAITREADY ;WALT FOR "READY"
0060005 MOVB #READ!GO,RTACS ;START A "READ"
WAITXFER sWAIT FOR "XFER REQ"
TSTB eTACS ;IS "XFER REQ" SET
BMI 18 ;BR IF YES
ERROR 1 ;"XFER REQ" DIDN’T SET
152 TSTB @TADB ;KNOCK DOWN "XFER REQ"
CLR RO ;CLEAR COUNTERS
CLR R1
283 TSTB eTACS sFIND OUT HOW LONG IT
BMI 3s ;TAKES FOR "XFER REQ"
¥0p012 ADD £19,,R0 3TO SET
ADC R1
BPL 2s
ERROR 1 ;"XFER REQ" FAILED TO SET
3s: TSTB @TACS :NOW WASTE MORE THAN THE ABOVE
BPL 4s ;AMOUNT OF TIME SO THAT
000001 sus #1,R0 ;A "TE" WILL OCCUR
SBC R1
BPL 3s
BR 5$
4s: ERROR 1 ;"XFER REQ" CLEARED SOME HOW
583 TSTB @TADB sKNOCK DOWN "XFER REQ"
2009020 BIS #1LBS, BTACS ;STOP THE READ
WAITREADY sWALIT ON "READY"
MAINDEC=11=DZTAB=C MACY11 27(732) 11=JUN=76 13:26 PAGE 20
TEST "TIMING ERROR" FOR "READ"
TST BTACS ;IS "ERROR" SET?
BMI 6s ;BR IF YES
ERROR 1 s "ERROR® NOT = 1
702000 651 BIT $TIMERR,@TACS ;1S THERE A "TIMING ERROR"
BNE TST4 ;360 TO NEXT TEST IF YES
ERROR 1 ;"TIMING ERROR® NOT SET
srw * R 2222 22 *%
;#TEST 4 TEST "ERROR"™ OUTPUT OF STATUS ROM USING A "TIMING ERROR"
Ppw % P # %8
TST4:  SCOPE
00e012 176074 MOV #10,,STIMES :3:D0 10. ITERATIONS
003126 176006 MOV #15, SLPADR ;3SET SCOPE LOOP ADDRESS
003342 176062 MOV #TSTS,SESCAPE  ;;ESCAPE TO TEST S ON ERROR
RESET
MOV DRIVE,@TACS ;SELECT DRIVE
800017 MOVB 4REWIND!GO, @TACS ;GO TO BEGINNING OF TAPE
WAITREADY ;WAIT ON "READY" TO SET
200001 MOVB #WFG!GO,@TACS $GET ON THE OXIDE
WAITREADY ;WAIT ON "READY" TO SET
[LLILK] 152 MOVB #WRITE!GO,8TACS ;START A WRITE
WAITXFER ;WAIT FOR "TRANSFER REQ"
000377 MOVB #377,@TADB sWRITE ONE BYTE
CLR RO ;CLEAR THE DOUBLE LENGTH COUNTER
CLR Rt
283 TSTB eTACS ;CHECK FOR “XFER REQ"
BMI 3s ;BR IF SET
700012 ADD $10.,RO ;COUNT UP UNTIL “XFER REQ"
ADC R1 ;SETS OR OVERFLOW OCCURS
BPL 25
ERROR 1 ;"XFER REQ" FAILED TO SET
3s: TSTB @TACS ;CHECK "XFER REQ"
BMI 4s ;BR IF SET
ERROR 1 ;"XFER REQ" SHOULDN’T HAVE CLEARED
600001 4s3 sUB #1,R0 sCOUNT DOWN TO CAUSE A "TE®
SBC R1
BPL 3s
TSTB @TADB ;CLEAR "XFER REQ"
WAITREADY ;WAIT FOR READY
TST BTACS ;MAKE SURE "ERROR" 1S SET
BMI 5§
ERROR 1 ;"ERROR® DIDNT SET
002000 582 BIT #TIMERR, @TACS ;MAKE SURE "TE® IS SET
BNE 68
ERROR 1 ;"TE" FAILED TO SET
800000 681 MOVB #WFG,@TACS ;CHECK "ERROR" WITH "WFG*®
TST @TACS ;SAMPLE THE "ERROR" BIT
BPL 78 3BR IF "ERROR" = 0
ERROR 1 ; "ERROR" NOT = @
000002 763 MOVB #WRITE, 8TACS ;CHECK "ERROR" WITH "WRITE"
IST 8TACS $SAMPLE THE "ERROR" BIT
BMI 8s ;BR IF "ERROR" = 1|
ERROR 1 ; "ERROR" NOT = 1
000004 853 HOVB #READ,@TACS ;CHECK "ERROR® WITH "READ®
TST eTACS ;SAMPLE THE "ERROR" BIT
BMI 9s ;BR IF "ERROR" = 1
ERROR 1 ; "ERROR" NOT = 1

SEQ 9¥33

SEQ 4034



TA11 BASIC LOGIC TEST (PART 2) MAINDEC=11=DZTAB=C MACY11 27(732) 11=JUN=T76 13:26 PAGE 21 SEQ 02035
DZTABC ,NEW T4 TEST "ERROR" OUTPUT OF STATUS ROM USING A "TIMING ERROR"
864 003260 112714 000006 9s: MOVB #BSFG,8TACS ;CHECK "ERROR" WITH "BSFG"
865 ©032064 0025714 TST BTACS ; SAMPLE THE "ERROR" BIT
866 803266 100001 BPL 10s sBR IF "ERROR" =
867 803270 104091 ERROR 1 ;"ERROR" NOT = ©
868 903272 112714 090010 10s: MOVB #BSBG, 8TACS sCHECK "ERROR" WITH "BSBG"
869 ©803276 905714 TST @TACS 3 SAMPLE THE "ERROR® BIT
870 9903300 100001 BPL 11s 3BR IF "ERROR" = @
871 9003302 104001 ERROR 1 ; "ERROR™ NOT = 0@
872 0803384 112714 000012 1182 MOVB #SFFG, @TACS ;CHECK "ERROR" WITH "SFFG"
873 003316 0805714 TST 8TACS 3 SAMPLE THE "ERROR" BIT
874 903312 1909061 BPL 128 3BR IF "ERROR" = 0
875 ©83314 104001 ERROR 1 3 "ERROR™ NOT = @
876 ©93316 112714 000014 12s: MOVB #SFBG,@TACS sCHECK "ERROR"™ WITH "SFBG"
877 003322 095714 TST @TACS $SAMPLE THE "ERROR" BIT
878 003324 100601 BPL 138 3BR IF "ERROR" = @
879 003326 184201 ERROR 1 ; "ERROR™ NOT = 0@
880 663330 112714 000016 13s: MOVB #REWIND, @TACS sCHECK "ERROR" WITH "REWIND"
881 0083334 095714 TST RTACS ; SAMPLE THE "ERROR® BIT
882 023336 100001 BPL TSTS 3#BR IF "ERROR" = 0@
883 903340 104001 ERROR 1 3 "ERROR" NOT = 0
884 SIIIIIIIII1177000007770700070077000007777070707770707707707177777070777777
885 $III1ITE2102777000077700000700000000770777070777777707007771007770470777
886 3 THE FOLLOWING TESTS CHECK THE INTERRUPT CIRCUITRY FOR:
v 887 H
888 31) INTERRUPT OCCURS AT THE PROPER "BR" LEVEL
889 32) "READY" WILL INTERRUPT
890 33) "TRANSFER REQUEST" WILL INTERRUPT
891 3 4) IMPROPER INTERRUPTS DO NOT OCCUR
892 35) WITH AN ERROR PENDING AND "XFER REQ." SET THE FOLLOWING SEQUENCE OCCURS
893 : A) "XFER REW" CAUSES AN INTERRUPT
“ 894 3 B) CLEARING "XFER REQ"™ ALLOWS "READY" TO SET
895 ; (O] "READY" CAUSES AN INTERRUPT
896 H
897 FIIIILIIIIEI170 0000000070 000700F8000700707700070000777700077708070770017777
898
899 PR T T R e e e e s
999 sTHIS TEST WILL SETUP THE TA11°S VECTOR ADDRESS AND AT ADDRESS 0
/ 991 :A JMP @(PC)+ IS STORED INCASE THE VECTOR IS READ AS 0.
; 9902 3IT WILL THEN SET THE PRIORITY LEVEL TO @ AND WASTE ENOUGH TIME
9903 ;FOR AN INTERRUPT TO OCCUR,
904 sAFTER THE TIME IS UP IT WILL RESTORE THE PS TO LEVEL 7
995 s AND CHECK IF AN INTERRUPT OCCURRED,
906 FINBURBEELY FEBEEE R ERERURS #
997 s#TEST 5 TEST INTERRUPT WITH READY = "{" AT LEVEL 9
998 PIRMBHERUUR AR HE R B BREBER
909 ©#03342 0I0604 TSTS: SCOPE
916 ©23344 012767 093362 175534 MOV #1s,SLPADR 33SET SCOPE LOOP ADDRESS
911 ©23352 ©12767 093520 175610 MOV #65,SESCAPE 33ESCAPE TO 6s ON ERROR
912 903360 000005 RESET
913 ©9d3362 910314 183 MOV DRIVE,RTACS
914 943364 012737 006340 177776 MOV #340,@8PS ;LOCK OUT ALL INTERRUPTS
915 ¥03372 0212709 0VOV0Y MOV #0,RO 3 TEST AT PRIORITY LEVEL @
916 ©03376 05001 CLR R1 ;CLEAR INTERRUPT KEY
917 ©©¥3400 012702 000091 MOV #1,R2 ;SETUP TO WASTE A LITTLE TIME
918 ©03404 N12777 @N3510 175604 MOV #4$,@TAVEC ;s INTERRUPT RETURN
919 43412 012777 000340 175600 MoV #340,@TAVEC+2 sLOCK OUT THE WORLD IF INTERRUPT
TAL1 BASIC LOGIC TEST (PART 2) MAINDEC-11-DZTAB=C MACY11 27(732) 11=JUN=76 13:26 PAGE 22 SEQ 9036
DZTABC,NEW T5 TEST INTERRUPT WITH READY = "1* AT LEVEL ©
922 003420 912737 000137 000000 MoV #137,840 $SETUP TO CATCH INTERRUPT IF
921 03426 912737 003514 000002 Mov #5s,@482 H IT GOES TO LOCATION &
922 003434 112714 0001092 MOVB #INT.EN,@TACS $3SET INTERRUPT ENABLE
923 023440 n12737 000000 177776 MOV 40#40,R%PS 3SET TO PRIORITY LEVEL o
924 203446 006302 2s: ASL R2 sKILL SOME TIME
925 083454 PI1376 BNE 28
926 ©93452 812737 000340 177776 MOV #340,@4PS s LOCK OUT THE WORLD
927 @v33i6e0 835701 TST R1 ;DID AN INTERRUPT OCCUR?
. 928 203462 891005 BNE 3s ;BR IF YES
\ 929 833464 022737 000000 161222 cMp #0#40,@8TAPRIO ;WAS AN INTERRUPT EXPECTED?
; 930 ©63472 902012 BGE 65 ;BR IF NO
931 ©23474 104006 ERROR 6 ¢ INTERRUPT FAILED TO OCCUR AT PRIORITY LEVEL @
932
933 993476 022737 0VVVPV0 001222 3§ cup #0%490,8# TAPRIO 3 INTERRUPT OCCURRED==SHOULD IT HAVE?
934 003504 002405 BLT 68 3sBR IF YES
935 993506 194006 ERROR 6 ;s INTERRUPT OCCURRED AT PRIORITY LEVEL ©
936
@ 937 003510 8085201 4s: INC R1 3SET INTERRUPT KEY
938 003512 900002 RTI sRETURN AFTER INTERRUPT
939 903514 922626 583 CMP (SP)+.,(SP)+ 3POP THE STACK
940 ©03516 104006 ERROR 6 ; INTERRUPT WENT TO LOCATION 8
941
942 9063520 005014 65: CLR 8TACS ;CLEAR INTERRUPT ENABLE
943 ©03522 ©13777 001220 175466 MOV @#TAVEC+2,@TAVEC s SET TRAP CATCHER
. 944 0903530 80S877 175464 CLR @TAVEC+2
945 003534 005037 000000 CLR e#o
946 933540 QY5037 000002 CLR e#2
947 H #* % w3 #*
948 3 THIS TEST WILL SETUP THE TA11°S VECTOR ADDRESS AND AT ADDRESS 0
949 3A JMP @(PC)+ IS STORED INCASE THE VECTOR IS READ AS @,
950 sIT WILL THEN SET THE PRIORITY LEVEL TO 1 AND WASTE ENOUGH TIME
951 3FOR AN INTERRUPT TO OCCUR,
952 3AFTER THE TIME IS UP IT WILL RESTORE THE PS TO LEVEL 7
953 ;AND CHECK IF AN INTERRUPT OCCURRED.
954 SINBEEABRBBBRBFDHBENW L2223 *it #HR
955 #TEST 6 TEST INTERRUPT WITH READY = "{" AT LEVEL |
956 1 E2d
957 003544 000004 TST6: SCOPE
958 ©03546 812767 963564 175332 MOV #15,SLPADR 33SET SCOPE LOOP ADDRESS
959 0803554 012767 903722 175406 MOV #65,8ESCAPE 33ESCAPE TO 6S ON ERROR
960 ©@3562 0000405 RESET
961 003564 010314 18: MOV DRIVE,@TACS
962 893566 812737 000340 177776 MOV #340,04PS ;LOCK OUT ALL INTERRUPTS
963 0083574 012700 002001 MOV #1,R0O 3TEST AT PRIORITY LEVEL i
964 003606 0050801 CLR R1 3CLEAR INTERRUPT KEY
965 093602 912702 000001 MOV #1,R2 3SETUP TO WASTE A LITTLE TIME
966 003606 012777 003712 175402 MOV #48,8TAVEC 3 INTERRUPT RETURN
967 ©03614 612777 000340 175376 MOV $#340,8TAVEC+2 sLOCK OUT THE WORLD IF INTERRUPT
968 803622 ©12737 000137 000006 MOV #137,040 3SETUP TO CATCH INTERRUPT IF
969 @23630 812737 Q03716 000002 MOV 458,022 H IT GOES TO LOCATION o
970 ©93636 112714 000100 MOVB #INT,EN,@TACS 3SET INTERRUPT ENABLE
971 ©03642 012737 090040 177776 MOV #1#40,8#PS ;SET TO PRIORITY LEVEL 1
972 003650 806302 2s: ASL R2 sKILL SOME TIME
973 903652 801376 BNE 2s
974 903654 012737 0006340 177776 MoV #340,04PS ;LOCK OUT THE WORLD
975 9063662 0085701 TST R1 ;DID AN INTERRUPT OCCUR?



TA11 BASIC LOGIC TEST (PART 2)

DZTABC . NEW

976 ©03664
977 003666
978 #93674
979 043676
980

981 8063790
982 98923706
983 9083710
984

985 ©083712
986 903714
987 903716
988 0403720
989

998 9003722
991 893724
992 993732
993 903736
994 003742
995

996

997

998

999

1900

1001

1002

1003

1004

1005 003746
1006 093750
1007 093756
1008 093764
1909 003766
1010 903779
1911 003776
1912 004902
1013 004904
1014 004019
1015 @uv4o16
1916 ©v4024
1817 004032
1018 0084040
1019 004044
1020 ©04052
1021 004054
1022 084056
1923 004064
1024 004066
1025 04076
1826 094076
16027 004100
1028

1029 004102
1030 904110
1031 Q04112

T6

291005
9227317
0902012
104006

022737
0922405
104006

#905201
890202
022626
104006

805014
913777
905277
¥85037
205037

- DL
812767
212767
209205
8192314
0812737
912700
e25001
8127232
812777
812777
©v127317
912737
112714
212737
806302
voO1376
012737
805781
891005
022737
982012
104006

622737
802405
104006

TEST INTERRUPT WITH READY =

000040

0006040

001220
175262
22009V 0
800002

¥03766
004124

90340
200002

LI L1
294114
000340
000137
024120
2090100
000100

200349

8001090

fAB100

TA11 BASIC LOGIC TEST (PART 2)

DZTABC ,NEW

1032

1033 004114
1934 ©04116
1035 094120
18036 904122
1037

1038 904124
1839 004126
1040 0904134
1041 ©04140
1242 004144
1043

1044

1045

1046

1047

1048

1049

1050

1051

1052

1953 0064159
1954 804152
1055 ©04160
1056 Q04166
1057 ©04170
1058 094172
1059 094200
1060 004204
1061 004206
1062 004212
1063 004220
1064 004226
1065 994234
1066 004242
1067 004246
1068 904254
1669 004256
1870 094260
18671 984266
1872 004279
1073 004272
1074 @04300
1875 904302
1076

1077 104304
1078 904312
1079 004314
1089

1981 904316
1082 004320
1083 904322
1084 004324
1085

1886 904326
1687 004330

T7

395291
200902
822626
1849206

005014
813777
805077
8050837
085037

290004
812767
212767
800005
010314
812737
@127¢9
005001
812792
912777
812777
812737
912737
112714
812737
06302
801376
812737
005701
801005
922737
9902012
104006

0822737
802405
194006

905201
000002
0922626
104006

905014
913777

TEST INTERRUPT WITH READY =

001220
175069
000000
808002

994170
004326

000340
000003

200001
804316
000340
200137
09904322
@v0100
800140

800340

200140

200140

001220

MAINDEC=11<DZTAB=C

001222

001222

175264

175130
175204

177776

175290
175174
[l ldd
000002

177776

177776

901222

001222

3s:

4s¢

683

wym

BNE
CMP
BGE
ERROR

CuMp
BLT
ERROR

INC
RTIL
cMp
ERROR

CLR
MoV
CLR
CLE
CLR

MACY11 27(732)

AT LEVEL 1

3s
$1%40,84TAPRIO
6s

6

#1%40,8#TAPRIO
6s
6

Rt

(SP)+,(SP)+
6

BTACS
@#TAVEC+2,@TAVEC
BTAVEC+2

eso

@42

11=JUN=76 13:26 PAGE 23 SEQ 0837
sBR IF YES

;WAS AN INTERRUPT EXPECTED?

sBR IF NO

; INTERRUPT FAILED TO OCCUR AT PRIORITY LEVEL {

; INTERRUPT OCCURRED==SHOULD IT HAVE?
sBR IF YES
s INTERRUPT OCCURRED AT PRIORITY LEVEL 1

3SET INTERRUPT KEY

;RETURN AFTER INTERRUPT

$POP THE STACK

; INTERRUPT WENT TO LOCATION @

;CLEAR INTERRUPT ENABLE
3SET TRAP CATCHER

R R T A T e S A A AL L S S Sa s At i

sTHIS TEST WILL SETUP THE TA11°S VECTOR ADDRESS AND AT ADDRESS o
sA JMP @(PC)+ IS STORED INCASE THE VECTOR IS READ AS 0,

sIT WILL THEN SET THE PRIORITY LEVEL TO 2 AND WASTE ENOUGH TIME
;FOR AN INTERRUPT TO OCCUR,
sAFTER THE TIME IS UP IT WILL RESTORE THE PS TO LEVEL 7
;AND CHECK IF AN INTERRUPT OCCURRED,

MAINDEC=11=DZTAB=C

175062

174726
175002

177776

174776
174772
#00000
000002
177776
177776

801222

001222

174660

i HERBERE # EERGH SR LR BB BERRR RN
;#TEST 7 TEST INTERRUPT WITH READY = "1™ AT LEVEL 2
3T} * 22227 8 #*
TST7: SCOPE
MOV #18,SLPADR 33SET SCOPE LOOP ADDRESS
Mov 465, SESCAPE 3 sESCAPE TO 6$ ON ERROR
RESET
1s: MOV DRIVE,BTACS
MOV #349,04PS sLOCK OUT ALL INTERRUPTS
MOV #2,R0O s TEST AT PRIORITY LEVEL 2
CLR R1 ;CLEAR INTERRUPT KEY
MOV #1,R2 $SETUP TO WASTE A LITTLE TIME
MOV 445, 8TAVEC 3 INTERRUPT RETURN
MOV #340,@TAVEC+2 sLOCK OUT THE WORLD IF INTERRUPT
MOV #137,€%0 s SETUP TO CATCH INTERRUPT IF
MOV #58,842 ; IT GOES TO LOCATION @
MOVB $INT,EN,@TACS $SET INTERRUPT ENABLE
MOV $2%40,084PS 3SET TO PRIORITY LEVEL 2
253 ASL R2 sKILL SOME TIME
BNE 28
MOV 4340,88PS sLOCK OQUT THE WORLD
TST R1 sDID AN INTERRUPT OCCUR?
BNE 3s 3BR IF YES
CHP #2#40,82TAPRIO ;WAS AN INTERRUPT EXPECTED?
BGE 6$ ;BR IF NO
ERROR 6 ; INTERRUPT FATILED TO OCCUR AT PRIORITY LEVEL 2
383 cMp #2440, 8¢ TAPRIO ; INTERRUPT OCCURRED==SHOULD IT HAVE?
BRLT 68 sBR IF YES
ERROR 6 ; INTERRUPT OCCURRED AT PRIORITY LEVEL 2
MACY1§ 27(732) 11=-JUN=T76 13:26 PAGE 24 SEQ @038
“1*® AT LEVEL 2
4s: INC R1 ;SET INTERRUPT KEY
RTI sRETURN AFTER INTERRUPT
5s: cMp (SP)+,(SP)+ ;POP THE STACK
ERROR 6 3 INTERRUPT WENT TO LOCATION @
6§ CLR B8TACS ;CLEAR INTERRUPT ENABLE
MOV @¥TAVEC+2,8TAVEC 3 SET TRAP CATCHER
CLR @TAVEC+2
CLR 840
CLR e#2
IEE ] # BB * HHEERBRRA DR BRRERBRE RS
3THIS TEST WILL SETUP THE TA11°S VECTOR ADDRESS AND AT ADDRESS @
sA JMP e(PC)+ IS STORED INCASE THE VECTOR IS READ AS @,
1T WILL THEN SET THE PRIORITY LEVEL TO 3 AND WASTE ENOUGH TIME
sFOR AN INTERRUPT TO OCCUR,
sAFTER THE TIME IS UP IT WILL RESTORE THE PS TO LEVEL 7
sAND CHECK IF AN INTERRUPT OCCURRED,
sru #* R HEEEE # i E133
s #TEST 10 TEST INTERRUPT WITH READY = "i" AT LEVEL 3
IR *3 HEBRRFFRRR SRS
TST19 SCOPE
MOV #18,SLPADR ;:SET SCOPE LOOP ADDRESS
MOV #68$,SESCAPE 33ESCAPE TO 6S ON ERROR
RESET
18: MOV DRIVE,RTACS
MoV #340,03PS ;LOCK OUT ALL INTERRUPTS
MOV #3,R0 sTEST AT PRIORITY LEVEL 3
CLR Ri sCLEAR INTERRUPT KEY
MOV #1,R2 ;SETUP TO WASTE A LITTLE TIME
MOV $45,8TAVEC ; INTERRUPT RETURN
MoV #340,8TAVEC+2 3LOCK OUT THE WORLD IF INTERRUPT
MOV $137,0%0 $SETUP TO CATCH INTERRUPT IF
MOV 58,842 H IT GOES TO LOCATION @
MOVB #INT,EN,BTACS $SET INTERRUPT ENABLE
MOV #3%40,@4PS 3SET TO PRIORITY LEVEL 3
2s8: ASL R2 sKILL SOME TIME
BNE 25
MOV #340,04PS sLOCK OUT THE WORLD
TST R1 ;01D AN INTERRUPT OCCUR?
BNE 3s ;BR IF YES
CMp #34#40,84TAPRIO ;WAS AN INTERRUPT EXPECTED?
BGE 68 3BR IF NO
ERROR 6 s INTERRUPT FAILED TO OCCUR AT PRIORITY LEVEL 3
3ss Ccup #3%#490,@4TAPRIO 3 INTERRUPT OCCURRED==SHOULD IT HAVE?
BLT 65 sBR IF YES
ERROR 6 ;s INTERRUPT OCCURRED AT PRIORITY LEVEL 3
482 INC R1 3SET INTERRUPT KEY
RTI sRETURN AFTER INTERRUPT
5s¢ cMp (SP)+,(SP}+ ;POP THE STACK
ERROR s INTERRUPT WENT TO LOCATION &
682 CLR @TACS sCLEAR INTERRUPT ENABLE
MOV @#TAVEC+2,@TAVEC sSET TRAP CATCHER



TA11 BASIC LOGIC TEST (PART 2)

DZTABC . NEW
1088 094336
1089 004342
1096 004346
1091
1092
1093
1094
1095
1096
1097
1098
1299
1100
1101 994352
1192 0904354
1193 004362
1104 004370
1195 024372
1106 024374
1107 004402
1108 004406
1169 804419
1110 904414
1111 204422
1112 094430
1113 094430
1114 004444
1115 0904450
1116 #04456
1117 ©094460
1118 0041462
1119 0241470
1120 Q04472
1121 004474
1122 094502
1123 004504
1124
1125 904506
1126 @024514
1127 004516
11238
1129 294520
1136 004522
1131 024524
1132 094526
1133
1134 0904530
1135 PV4532
1136 9804540
1137 003544
1138 904550
1139
1149
1141
1142
1143

T10

905977
805037
9905937

802904
81767
0127¢7
v ABCES
210314
012737
812700
005001
812702
9127177
812777
912737
812737
112714
912737
006302
901376
812737
005701
991995
8227317
002012
104006

922737
892495
104006

295201
200002
822626
124006

P95011%
013777
9950717
895037
805437

174656
000000
000002

804372
004530

300340
¥eRVo4

P0vVI1
0984520
0V00V340
¥o0137
004524
¥00109
000200

000349

000200

¥v0v200

901220
174454
000000
noVRB2

TA11 BASIC LOGIC TEST (PART 2)

DZTABC ,NEW
1144
1145
1146
1147
1148
1149 1»04554
1150 004556
1151 804564
1152 004572
1153 084574
1154 004576
1155 0804604
1156 804610
1157 004612
1158 0904616
1159 004624
1160 004632
1161 004642
1162 004646
1163 004652
1164 004660
1165 004662
1166 ©04664
1167 804672
1168 004674
1169 084676
1170 004704
1171 924706
1172
1173 004710
1174 804716
1175 004720
1176
1177 804722
1178 004724
1179 004726
1180 004730
1181
1182 004732
1183 024734
1184 004742
1185 ©v4746
1186 0064752
1187
1188
1189
1192
1191
1192
1193
1194
1195
1196
1197 004756
1198 004760
1199 804766

T11

0002304
012767
0i27617
Budvas
219314
012737
0127900
@v5001
212702
812777
8127177
912737
212737
112714
012737
996302
801376
912737
Pe5701
B¢1025
822737
002012
104006

822737
002405
104006

005201
0299002
222626
104906

905014
013777
2050717
205037
805037

0ouvve
12767
012767

904574
004732

000340
000005

Qvenat
004722
89090349
"00137
004726
000100
©¥00240

AVR340

090240

000240

901220
174252
800000
000002

804776
005134

MAINDEC=11«DZTAB=C
TEST INTERRUPT WITH READY = "1" AT LEVEL 3

174524
174600

177776

174574
174570
200000
000002
177776
177776

001222

801222

174456

CLR
CLR
CLR

MACY11 27(732)

@TAVEC+2
e40
e#2

11=JUN=76

13:26

PAGE 25

JrEEREREEY *

s THIS TEST WILL SETUP THE TA11’S VECTOR ADDRESS AND AT ADDRESS 9

sA JMP @(PC)+ IS STORED INCASE THE VECTOR IS READ AS

Q.
3IT WILL THEN SET THE PRIORITY LEVEL TO 4 AND WASTE ENOUGH TIME

3FOR AN INTERRUPT TO OCCUR,
sAFTER THE TIME IS UP IT WILL RESTORE THE PS TO LEVEL 7
sAND CHECK IF AN INTERRUPT OCCURRED,

srEw HRREY AR *HE
s#TEST 11 TEST INTERRUPT WITH READY = "{" AT LEVEL 4
PR L R e e T2 T2
TSTi1: SCOPE
MOV #18,SLPADR 33SET SCOPE LOOP ADDRESS
MOV #65,SESCAPE $3ESCAPE TO 6S ON ERROR
RESET
1s: MOV DRIVE,RTACS
MOV #340,@#PS ;LOCK OUT ALL INTERRUPTS
MOV #4,R0 sTEST AT PRIORITY LEVEL 4
CLR RY sCLEAR INTERRUPT KEY
MOV #1,R2 ;SETUP TO WASTE A LITTLE TIME
MOV #46,@TAVEC ; INTERRUPT RETURN
MOV #340,@TAVEC+2 sLOCK OUT THE WORLD IF INTERRUPT
MOV #137,8%0 $SETUP TO CATCH INTERRUPT IF
MOV #55,842 H IT GOES TO LOCATION ©
MOVB $INT,EN,QTACS 3SET INTERRUPT ENABLE
MOV #4%40,08PS 3SET TO PRIORITY LEVEL 4
28: ASL R2 3KILL SOME TIME
BNE 28
MOV #340,@4PS ;LOCK OUT THE WORLD
TST R1 ;DID AN INTERRUPT OCCUR?
BNE 3s sBR IF YES
CMp #4#40,@#TAPRIO ;WAS AN INTERRUPT EXPECTED?
BGE 6$ $BR IF NO
ERROR 6
3s: CMp #4449,@#TAPRIO s INTERRUPT OCCURRED==SHOULD IT HAVE?
BLT 6 ;BR IF YES
ERROR 6 3 INTERRUPT OCCURRED AT PRIORITY LEVEL 4
4s: INC R1 ;SET INTERRUPT KEY
RTI ;RETURN AFTER INTERRUPT
5s: CMp (SP)+,(SP)+ ;POP THE STACK
ERROR 6 s INTERRUPT WENT TO LOCATION @
683 CLR 8TACS ;CLEAR INTERRUPT ENABLE
MOV @#TAVEC+2,@TAVEC 3SET TRAP CATCHER
CLR @TAVEC+2
CLR ex0
CLR e#2

SEQ 8939

; INTERRUPT FAILED TO OCCUR AT PRIORITY LEVEL 4

PR T e e ey g e et el

;THIS TEST WILL SETUP THE TA11°S VECTOR ADDRESS AND AT ADDRESS @

;A JMP R(PC)+ IS STORED INCASE THE VECTOR 1S READ AS 0

3IT WILL THEN SET THE PRIORITY LEVEL TO 5 AND WASTE ENOUGH TIME

sFOR AN INTERRUPT TO OCCUR,

MAINDEC=11=DZTAB=C
TEST INTERRUPT WITH READY = "{" AT LEVEL 4

174322
174376

177776

174372
174366
0VA0A00
000002
177776
177776

801222

001222

174254

174120
174174

JrERNBBER RS

MACY11 27(732)

11=JUN=76 13:26

PAGE 26

JAFTER THE TIME IS UP IT WILL RESTORE THE PS TO LEVEL 7
3 AND CHECK IF AN INTERRUPT OCCUFRLD-

PR

SEQ 0040

s INTERRUPT FAILED TO OCCUR AT PRIORITY LEVEL 5

;*TEST 12 TEST INTERRUPT WITH READY = "1" AT LEVEL 5
SIRRRBUARY T2 222
TST12: SCOPE
Moy #15,SLPADR ;3SET SCOPE LOOP ADDRESS
MoV 565, SESCAPE ;ESCAPE TO 65 ON ERROR
RESET
183 MOV DRIVE,@TACS
MoV 4340,08P5 ;LOCK OUT ALL INTERRUPTS
MOV 35,RO ;TEST AT PRIORITY LEVEL S
CLR R1 ;CLEAR INTERRUPT KEY
MoV #1,R2 $SETUP TO WASTE A LITTLE TIME
MOV #45,@TAVEC s INTERRUPT RETURN
MOV $340,TAVEC+2 ;LOCK OUT THE WORLD IF INTERRUPT
MOV #137,040 ;SETUP TO CATCH INTERRUPT IF
MOV #5s,042 : IT GOES TO LOCATION @
MOVB #INT,EN,8TACS $SET INTERRUPT ENABLE
MoV $5%40,88PS ;SET T0 PRIORITY LEVEL 5
282 ASL R2 {KILL SOME TIME
BNE 28
MOV 4340,04PS ;LOCK OUT THE WORLD
TST R1 ;DID AN INTERRUPT OCCUR?
BNE 38 $BR IF YES
cMp #5%40, 88 TAPRIO ;WAS AN INTERRUPT EXPECTED?
BGE 65 ;BR IF NO
ERROR 6
382 cMp #5%49, 84 TAPRIO s INTERRUPT OCCURRED==SHOULD IT HAVE?
BLT 6 $BR IF YES
ERROR 6 s INTERRUPT OCCURRED AT PRIORITY LEVEL §
4s: INC R ;SET INTERRUPT KEY
RTI ;RETURN AFTER INTERRUPT
552 cMp (SP)+, (SP)+ ;POP THE STACK
ERROR 6 ; INTERRUPT WENT TO LOCATION @
652 CLR @TACS ;CLEAR INTERRUPT ENABLE
MOV @#TAVEC+2, 8TAVEC ;SET TRAP CATCHER
CLR @TAVEC+2
CLR e#0
CLR e#2
e * » * b
$THIS TEST WILL SETUP THE TA11°S VECTOR ADDRESS AND AT ADDRESS ©
$A JMP @8(PC)+ IS STORED INCASE THE VECTOR IS READ AS 0,
3IT WILL THEN SET THE PRIORITY LEVEL TO 6 AND WASTE ENOUGH TIME
;FOR AN INTERRUPT TO OCCUR,
JAFTER THE TIME IS UP IT WILL RESTORE THE PS TO LEVEL 7
JAND CHECK IF AN INTERRUPT OCCURRED,
TIURRERRBRY 1223
;#TEST 13 TEST INTERRUPT HITH READY = "{" AT LEVEL 6
53 * * *e HERRH DR RY
TST13: SCOPE
MOV #16,8LPADR ;3SET SCOPE LOOP ADDRESS
MOV #68, SESCAPE 73ESCAPE TO 68 ON ERROR



TA11 BASIC LOGIC TEST (PART 2)

DZTABC ,NEW
1200 004774
1201 004776
1202 005000
1203 005006
1204 005012
1205 005014
1206 005020
1207 005026
1208 905034
1209 005042
1219 085050
1211 0095054
1212 0065062
1213 005064
1214 005066
1215 005074
1216 005076
1217 0905100
1218 005106
1219 ©9¥5110
1220
1221 905112
1222 ©@95120
1223 905122
1224
1225 005124
1226 905126
1227 005130
1228 @05132
1229
1230 9805134
1231 005136
1232 ©05144
1233 005150
1234 005154
1235
1236
1237
1238
1239
1240
1241
1242
1243
1244
1245 005169
1246 9005162
1247 905170
1248 905176
1249 9095200
1250 905202
1251 9005210
1252 905214
1253 05216
1254 005222
1255 905230

T13

200005
210314
812737
812700
805001
812702
812777
812777
812737
812737
112714
812737
806302
0801376
912737
vo5701
801005
0922737
002012
104406

822737
802405
104906

205201
890002
922626
104006

005014
@13777
805077
805037
805037

600004
812767
212767
P0Y0BOS
210314
212737
912700
0059001
912722
812777
012777

800340
000006

200001
205124
900340
800137
905130
900100
80V300

800340

#00309

000300

001220
174050
000000
#00002

005200
905336

0¥V09340
000007

900901
005326
090340

TA1t BASIC LOGIC TEST (PART 2)

DZTABC,NEW
1256 005236
1257 005244
1258 005252
1259 005256
1260 005264
1261 995266
1262 905279
1263 005276
1264 995300
1265 905302
1266 €05310
1267 0695312
1268
1269 005314
1278 095322
1271 0085324
1272
1273 995326
1274 005330
1275 @05332
1276 005334
1277
1278 0705336
1279 005340
1280 005346
1281 905352
1282 005356
1283
1284
1285
1286 905362
1287 9005364
1288 ©@05372
1289 0@05400
1290 005406
1291 005410
1292 905412
1293 0065416
1294 0085420
1295 005422
1296 905426
1297 905430
1298 805436
1299 905442
1300 005450
1301 005456
1302 0085464
1303 0085472
1304 095476
1305 905500
1366 095504
1387 0895506
1388 005510
1309 005512
1310 005520
1311 005522

T14

812737
812737
112714
212737
896302
901376
812737
885701
291005
022737
202012
124006

822737
202405
104006

005201
000002
022626
124006

005014
813777
965077
8905037
205037

8000804
812767
912767
212767
000005
216314
112714
104412
010314
112714
184412
912737
812701
812777
812777
212737
912737
112714
104413
905037
6050090
806301
891376
812737
104006
022626

TEST INTERRUPT WITH READY = "i

090137
¥¥5332
000100
800340

000340

000340

000340

201220
173646
#00N00
008002

000016
805420
805530

900017

000001

200340
200001
005526
©¥00340
000137
205522
9001063

177776

000340

MAINDEC=11=DZTAB=C
TEST INTERRUPT WITH READY = "1® AT LEVEL 6

177776

174170
174164
000000
000002
177776
177776

001222

001222

174052

173716
173772

177776

173766
173762

RESET
183 MoV
MOV
MOV
CLR
MOV
MOV
MoV
MOV
MoV
MOVB
MOV
2s: ASL
BNE
MOV
TST
BNE
CMp
BGE
ERROR

3s: cHp
BLT
ERROR

4s: INC
RTI

5s: cMp
ERROR

6s: CLR
MOV
CLR
CLR
CLR

HH

MACY11 27(732)

DRIVE,@TACS
#340,84PS
#6,R0

R1

#1,R2
#48,@TAVEC
#340,@TAVEC+2
137,040
#55,842
$INT,EN,8TACS
46%40,8#PS

R2

28

#340,84PS

R1

38
#6%40,@%TAPRIO
6s

6

$6%#40,@4#TAPRIO
68
6

Ri

(SP)+,(SP)+
6

RTACS
@#TAVEC+2,@TAVEC
@TAVEC+2

eso

es2

11=JUN=76

sLOCK OUT ALL INTERRUPTS

s TEST AT PRIORITY LEVEL 6

sCLEAR INTERRUPT KEY

sSETUP TO WASTE A LITTLE TIME

; INTERRUPT RETURN

13326 PAGE 27

sLOCK QUT THE WORLD IF INTERRUPT

3SETUP TO CATCH INTERRUPT IF
H IT GOES TO LOCATION 9@

$SET INTERRUPT ENABLE
3SET TO PRIORITY LEVEL 6
;KILL SOME TIME

;LOCK OUT THE WORLD
3DID AN INTERRUPT OCCUR?
3BR IF YES

3WAS AN INTERRUPT EXPECTED?

sBR IF NO

SEQ 0041

;s INTERRUPT FAILED TO OCCUR AT PRIORITY LEVEL 6

; INTERRUPT OCCURRED~=SHOULD IT HAVE?

;BR IF YES

s INTERRUPT OCCURRED AT PRIORITY LEVEL 6

3SET INTERRUPT KEY
;RETURN AFTER INTERRUPT
;POP THE STACK

s INTERRUPT WENT TO LOCATION @

3CLEAR INTERRUPT ENABLE
$SET TRAP CATCHER

PR e e T e R e L e e e S R e el td

3 THIS TEST WILL SETUP THE TA11°S VECTOR ADDRESS AND AT ADDRESS 0
:A JMP @(PC)+ IS STORED INCASE THE VECTOR IS READ AS 9,
sIT WILL THEN SET THE PRIORITY LEVEL TO 7 AND WASTE ENOUGH TIME

;FOR AN

INTERRUPT TO OCCUR,

sAFTER THE TIME IS UP IT WILL RESTORE THE PS TO LEVEL 7

$AND CHECK IF AN INTERRUPT OCCU

RRED .
*3% HEERURERERE

FEE T TS
s #TEST 14

TEST INTERRUPT WITH READY = "1" AT LEVEL 7

FIRRBEBEREBRY

TST14: SCOPE
MOV
MOV
RESET

183 MOV
MOV
MOV
CLR
MOV
MOV
MOV

MAINDEC=11=DZTAB=C

900000
00002

177776

177776

901222

001222

173650

173574
173506
173562

177776

173546
173542
000000
900002

177776

#18,SLPADR
#65,SESCAPE

DRIVE,@TACS
#340,@4PS
$7,R0O

R1

#1,R2
#45,@TAVEC
#340,@TAVEC+2

33 SET SCOPE LOOP ADDRESS
;sESCAPE TO 6S ON ERROR

;LOCK QUT ALL INTERRUPTS

;TEST AT PRIORITY LEVEL 7

;CLEAR INTERRUPT KEY

$SETUP TO WASTE A LITTLE TIME

;s INTERRUPT RETURN

;LOCK OUT THE WORLD IF INTERRUPT

13:26

3SETUP TO CATCH INTERRUPT IF
H IT GOES TO LOCATION ¢

3SET INTERRUPT ENABLE
$SET TO PRIORITY LEVEL 7

;DID AN INTERRUPT OCCUR?

;WAS AN INTERRUPT EXPECTED?

PAGE 28

SEQ 0042

s INTERRUPT FAILED TO OCCUR AT PRIORITY LEVEL 7

; INTERRUPT OCCURRED==SHOULD IT HAVE?

3 INTERRUPT OCCURRED AT PRIORITY LEVEL 7

sRETURN AFTER INTERRUPT

s INTERRUPT WENT TO LOCATION ©

;CLEAR INTERRUPT ENABLE

3% RUBERRRLBRRRY

3GO WAIT FOR "READY" TO SET

3START A "WRITE FILE GAP"
3GO WAIT FOR "READY" TO SET

sLOCK OUT ALL INTERRUPTS

3SETUP TO WASTE SOME TIME

3SETUP INTERRUPT RETURN

sPRIORITY "7" ON INTERRUPT
;CATCH INTERRUPT IF IT GOES

U0 R U

3START A "WRITE" WITH "INT, EN,"

GO WAIT ON "TRANSFER REQUEST"

3LOCK OUT ALL INTERRUPTS

$ INTERRUPT FOR XFER REQ, FAILED

MACY11 27(732) 11=JUN=76
" AT LEVEL 7
MOV #137,040
MoV #55,8%2
MOVB #INT,EN,@TACS
MOV #7#40,84PS
2s: ASL R2 ;KILL SOME TIME
BNE 25
MOV £340,@4PS :LOCK OUT THE WORLD
TST R1
BNE 3s sBR IF YES
cup #7#40,@4#TAPRIO
BGE 6s $BR IF NO
ERROR 6
3s: CcMpP #7%40,@2TAPRIO
BLT 6% 3BR IF YES
ERROR 6
4s: INC R1 ;SET INTERRUPT KEY
RTI
5 cMp (SP)+,(SP)+ 3POP THE STACK
ERROR 6
683 CLR @TACS
MOV @#TAVEC+2,@TAVEC 3SET TRAP CATCHER
CLR @TAVEC+2
CLR e#e
CLR en2
PINRRBASUFHRRRRBUEBEY # *E
s #TEST 15 TEST INTERRUPT WITH "TRANSFER REQUEST" =
SRBERURRR BB RRRRER B ER #* % i
TST15: SCOPE
MOV #10,STIMES 33D0 10 ITERATIONS
MOV %45, 8LPADR SET SCOPE LOOP ADDRESS
Mov #35,SESCAPE s sESCAPE TO 3$ ON ERROR
RESET
MoV DRIVE,@TACS $SELECT DRIVE
HOVB #REWIND+GO,@TACS 3POSITION THE TAPE
WAITREADY
4s: MOV DRIVE,@TACS 3 SELECT DRIVE
MOVB #WFG+GO,BTACS
WAITREADY
MOV #340,85PS
MOV #1,R1
MoV #25,8TAVEC
MOV $340,8TAVEC+2
MOV $137,@40
MOV #58,042 ;3 TO LOCATION @
MOVB #WRITE!INT ,EN!GO,@TACS
WAITXFER
CLR e#Ps sLEVEL 0
CLR RO
1s: ASL R1 sKILL A LITTLE TIME
BNE 18
MOV 2340,8%PS
ERROR 6
563 CMP (SP)+,(SP)+ 3POP THE STACK

TO SET



TA11 BASIC LOGIC TEST (PART 2) MAINDEC-11-DZTAB=C MACY11 27(732) 11=JUN=76 13:26 PAGE 29 SEQ 0043

DZTRBC ,NEW T15 TEST INTERRUPT WITH "TRANSFER REQUEST" = 1
1312 905524 104006 ERROR 6 ‘ ; INTERRUPT WENT TO LOCATION ¢ .
1313 005526 022626 28 cMP (SP)+, (SP)+ :POP STACK
1314 005530 000005 3s: RESET ;CLEAR ALL
1315 805532 813777 001228 173456 MOV @#TAVEC+2,@TAVEC $SET TRAP CATCHER
1316 005548 085077 173454 CLR @TAVEC+2
1317 005544 005037 000000 CLR (7]
1318 0605550 0805037 000002 CLR a#2
1319 e .
1320 ;#TEST 16 TEST INTERRUPT WITH "READY" = @ AND "XFER REQ" = ¢
1321 Rt ®
1322 905554 000204 TST16: SCOPE
1323 005556 912767 000001 1734082 MOV #1,$TIMES 3:D0 1 ITERATION
1324 0805564 012767 005724 173376 MoV #58, SESCAPE ; $ESCAPE TO 5§ ON ERROR
1325 ©05572 012767 005724 000064 MOV #55,38
1326 0885600 812701 000001 MOV #1,R1
1327 005684 012737 900348 177776 MOV $340,04P5 ;LOCK OUT THE WORLD
1328 9085612 08020805 RESET ;CLEAR THE WORLD
1329 005614 0210314 MoV DRIVE,@TACS 3 SELECT DRIVE
1330 005616 104412 WAITREADY $GO WAIT FOR "READY" TO SET
1331 805620 9012777 005714 173370 MOV #45,@TAVEC sRETURN IF INTERRUPT OCCURS
1332 935626 812777 000340 173364 MOV %340, @TAVEC+2 sLEVEL "7" IF INTERRUPT
1333 0805634 012737 000137 000000 MOV $137,880 sCATCH INTERRUPT IF IT GOES TO
1334 905642 ©12737 905720 06600082 MOV $75,042 3 LOCATION @
1335 205650 112714 000117 MOVB ¥REWIND!INT.EN!GO,@TACS
1336 ©805654 032714 000240 18: BIT #TR,REQ!READY,@TACS ;GIVE READY TIME TO CLEAR
1337 805660 0901404 BEQ 28
1338 825662 905327 DEC (PC)+
1339 005664 000VBO 3s: [
1340 805666 001372 BNE 18
1341 95676 104001 ERROR 1 ;READY OR XFER REQ = "1"
1342 05672 005037 177776 2s: CLR e4Ps $ALLOW INTERRUPT
1343 005676 005000 CLR RO sAT LEVEL @
1344 005700 006301 [T H ASL R1 sGIVE INTERRUPT TIME TO COME IN
1345 0905792 801376 BNE 6s
1346 995704 012737 000348 177776 MOV #340,04PS ;LOCK OUT INTERRUPT
1347 005712 002404 BR 58 sEXIT WITH NO ERRORS
1348 005714 222626 4s: cMp (SP)+,(SP)+ 3POP STACK
1349 005716 104006 ERROR 6 ; INTERRUPT OCCURRED
1350 ©05720 022626 782 CMP (SP)+,(SP)+ ;POP THE STACK
1351 8905722 104006 ERROR 6 ;INTERRUPTTED TO LOCATION o
1352 935724 002005 5§t RESET $CLEAR THE WORLD
1353 05726 0813777 001220 173262 MoV @#TAVEC+2,BTAVEC sSET TRAP CATCHER
1354 905734 @05077 173260 CLR @TAVEC+2
1355 005740 005037 000000 CLR 840
1356 905744 005037 000002 CLR e#2
1357 JrEEEBEEEY FZ2 2 3 * BRENAR #a
1358 ;*TEST 17 TEST INTERRUPT WITH "XFER REQ" = 1 & "TIMING ERROR" = 1
1359 H ;l&‘*“Q&i'l‘ll&Gl!b&iii!l'l‘i&i.“'G‘i&&&i&i&}&**&liiﬁ&l'&!ﬁ’*ii‘ﬁ
1360 005750 808803 TST173 SCOPE
1361 805752 912767 000012 173206 MOV $10,,STIMES ;3D0 10, ITERATIONS
1362 885762 012767 006014 173120 MOV #15,$LPADR :3SET SCOPE LOOP ADDRESS
1363 005766 012767 006222 173174 MOV #11$,SESCAPE $ JESCAPE TO 11§ ON ERROR
1364 905774 000005 RESET sCLEAR ALL
1365 005776 010314 MOV DRIVE,RTACS $SELECT DRIVE
1366 ©0V6000 112714 000017 MOVB $REWIND!GO, ATACS $GO TO "BOT"
1367 006204 104412 WAITREADY ;WAIT ON READY
TA11 BASIC LOGIC TEST (PART 2) MAINDEC=-11=DZTAB=C MACY11 27(732 «JUN=7 :
DZTABC ,NEW T17 TEST INTERRUPT WITH "XFER REQ" = 1 & "TIMING ERROR® =31 1 6 13:26 PAGE 30 SEQ 0044
1368 006046 112714 000001 MOVB #WFG1 GO, 8TACS $GET ON OXIDE
1369 806012 104412 wAITREADY
1370 806014 018314 183 MOV DRIVE,@TACS $SELECT DRIVE
1371 906016 112714 008003 MOVB BWRITE!GO,@TACS $START A WRITE
1372 906022 104413 WAITXFER sWAIT ON "TRANSFER REQUEST"
1373 606824 112715 000377 MOVB #377,@TADB 3WRITE A BYTE
1374 ©06¥33 005000 CLR RO ;ZERO THE COUNTER
1375 @26932 805001 CLR R1
1376 0806034 105714 2s: TSTB @TACS ;CHECK "XFER REQ"
1;77 906836 198445 BMI 3s 3BR IF SET
1378 ©90Y6048 062700 000010 ADD #10, R0 ;FIND OUT HOW LONG IT TAKES
1379 906044 005541 ADC R1 ;FOR "XFER REQ" TO SET
1380 006246 109372 BPL 28
}ig; gg:g:g :g;gg; ERROR 1 ;"XFER REQ"™ DIDN’T SET
3s: TSTB 8TACS ;CHECK "XFER REQ" IF IT IS = @
1383 006054 100005 BPL 48 ;SOMETHING IS WRONG
};g; :gzgzg éggzgf 000001 SuB #1,R0 ;DOWN COUNT THE COUNTER
SBC R1 . " ) w
1386 006064 100372 BPL 38 ;S0 A "TIMING ERROR® WILL OCCUR
1387 806066 090401 BR 5§
1388
:;gz 806970 104001 4s: ERROR 1 $"XFER REQ" CLEARED
1391 986072 812777 0606160 173116 S5s$: MOV #85,@TAVEC $SETUP INTERRRUPT RETURN
1392 006100 012777 000349 173112 MOV $340,8TAVEC+2 $PRIORITY "7% ON INTERRUPT
1393 906106 812737 000137 200000 MOV #137,080 ;CATCH INTERRUPT IF IT GOES
1394 906114 12737 006154 000002 MOV #7s,042 ; TO LOCATION @
1395 906122 0812701 000001 MOV #1,R1 ;SETUP TO WASTE SOME TIME
1396 886126 805037 177776 CLR 8PS ;ALLOW INTERRUPTS
1397 806132 005000 CLR RO ;AT LEVEL "@"
:ggg ggg{i; g;g;;: 200100 o ilf !:NT.EN.OTACS sTURN ON "INTERRUPT ENABLE"
H S R s
1300 006142 001376 BNE o $GIVE INTERRUPT TIME TO OCCUR
1401 906144 012737 000346 177776 MOV #340,@4PS ;LOCK OUT INTERRUPTS
::3§ 906152 194006 ERROR 6 sFAILED TO INTERRUPT WITH “XFER REQ" = 1
1424 0806154 022626 7s: CMP (SP)+, (SP)+ . ;POP THE STACK
::gz 006156 104006 ERROR 6 3 INTERRUPT WENT TO LOCATION @
1407 006160 022626 8s: cMp (SP)+, (SP)+ 3POP THE STACK
1408 006162 105715 TSTB @TADB 3KNOCK DOWN ®XFER REQ™
1409 006164 104412 WAITREADY ;WAIT ON "READY" CAUSED BY "TIMING ERROR"
1416 006166 012777 006220 173022 MOV #106,8TAVEC 3SETUP INTERRUPT RETURN
1411 006174 812701 000001 MOV #1,R1 3SETUP TO WASTE TIME
1412 006200 005037 177776 CLR @#Ps 3ALLOW INTERRUPTS
1413 006204 006301 953 ASL R1 $GIVE INTERRUPTS TIME TO OCCUR
1414 006206 001376 BNE 98
1415 006210 012737 900340 177776 MOV 4340,04P5 ;LOCK OUT INTERRUPTS
::;g 006216 104006 ERROR 6 7"INTERRUPT FAILED TO OCCUR FOR READY
1418 906220 022626 108 CMP (SP)+,(SP)+ 3POP THE STACK
1419 006222 0O0OB5 118: RESET ;CLEAR ALL
1420 006224 12777 901220 172764 MoV #TAVEC+2, @TAVEC sRESTORE THE TRAP CATCHER
1421 906232 9085077 172762 CLR @TAVEC+2
1422 906236 895037 000000 CLR [11]

1423 906242 005037 000002 CLR es2



TA11 BASIC LOGIC TEST (PART 2)

DZTABC ,NEW
1424
1425
1426
1427
1428
1429
1430
1431 006246
1432 906250
1433 006256
1434 006264
1435 806272
1436 006274
1437 006276
1438 906302
1439 ©06304
1440 006310
1441 206312
1442 006316
1443 026322
1444 096324
1445 006326
1446 006332
1447 006334
1448 006340
1449 006342
1450 0806346
1451 006350
1452 006352
1453 006354
1454 0806356
1455 006360
1456 006364
1457 006366
1458
1459
1460
1461 906370
1462 9006372
1463 006400
1464 0806406
1465 006414
1466 806416
1467 006420
1468 006424
1469 006426
1470 096432
1471 006434
1472 006440
1473 806442
1474 006446
1475 006452
1476 006454
1477 006456
1478 006462
1479 006464

800004
912767
912767
812767
900005
210314
112714
194412
112714
164412
112714
104413
112715
104413
0952714
104412
112714
104412
932714
201001
104001
005714
100001
104001
832714
291401
104001

290004
912767
912767
212767
200025
210314
112714
184412
112714
184412
112714
104413
112715
104413
052714
104412
112714
104412
112714

MAINDEC=-{1=DZTAB=C
weperaind#SPACING FUNCTIONS#=#u#s#

MACY11 27(732) 11=-JUN=76 13:26 PAGL 31

$111170770777700070000707777777077077707777700777777777777007775077771777
S/ 70707077777700707707077070770707707070777700777070777777777770777i277777777

3 THE FOLLOWING TEST ARE USED TO CHECK THE BASIC OPERATION OF THE SPACING FUNCTIONS

/1111777000077 7077007077077707070700007770007077070777074070¢4:1077777777

SEQ 0045

TA{1 BASIC LOGIC TEST (PART 2)
DZTABC  NEW

1489
1481
1482
1483
1484
1485
1486
1487
1488
1489
1490
1491
1492
1493
1494
1495
1496
1497
1498
1499
1509
1501
1502
1593
1504
1505
1506
1507
1508
1509
1510
1511
1512
1513
1514
1515
1516
1517
1518
1519
1520
1521
1522
1523
1524
1525
1526
1527
1528
1529
1530
1531
1532
1533
1534
1535

006470
006472
096476
896500
906504
096506

8906510
806512
906520
206526
606534
006536
006540
006544
206546
906552
826554
006560
096562
206566
PR6570
906574
906576
006602
006604
906606
006610
8026612
806616
806620

006622
096624
806632
836640
026646
906650
906652
806656
006660
006664
096666
806672
006674
906700
206702
006706
206710
006714
206716
806722

T21

104412
112714
194412
832714
go1001t
104001

890004
912767
212767
212767
800005
210314
112714
194412
112714
104412
112714
104413
112715
104413
852714
104412
112714
104412
805714
100001
104001
932714
001491
104001

892004
812767
212767
812767
200005
2108314
112714
104412
112714
104412
112714
104413
112715
104413
952714
104412
112714
194412
112714
104412

PIEHEREARRRBERE #* BB R 2227
s #TEST 20 TEST "BACK SPACE FILE GAp"
HH L * EEAEHRRB B AR B BEERF R R R DR RS
TST20: SCOPE
900012 172710 MOV #10.,STIMES ;3D0 16, ITERATIONS
906274 172622 MOV #35,SLPADR SET SCOPE LOOP ADDRESS
806376 172676 MOV #TST21,SESCAPE ;;ESCAPE TO TEST 21 ON ERROR
RESET
3s: MOV DRIVE,@TACS ;SELECT DRIVE
000017 MOVB #REWIND!GO,RTACS sPOSITION TAPE ON CLE4R LEADER
WAITREADY ;GO WAIT FOR "READY" 'O SET
000001 MOVB #WFG!GO,8TACS SWRITE A FILE GAP OFF OF CLEAR LERDER
WAITREADY ;GO WALT FOR "READY ‘10 SET
000003 MOVB #WRITE!GO, @TACS ;PUT A DATA BLOCK O THE TAPE
WAITXFER ;GO WAIT ON ®TRANSFER REQUEST™ TO sk
000377 MOVB #377,@TADB ;KNOCK DOWN XFER REQ
WAITXFER ;GO0 WAIT ON "TRANSFER REQUEST" TO SET
000020 BIS #ILBS,8TACS RITE “CRC"
WAITREADY ;GO WAIT FOR "READY" TO SET
200007 MOVB $BSFG!GO,RTACS ;BACK UP OVER THE DATA
WAITREADY ;GO WALIT FOR "READY" TO SET
0040090 BIT 8FGAP,RTACS ;CHECK ¢ OR FILE GAP
BNE is $3BR IF "F:iLE GAP" =i
ERROR 1 sERRCRe= .E GAP INDICATION
1s: TST @TACS ;15 "BERROR" =17
BPL 2s ;BR IF NO
ERROR 1 ;s "ERROR" =1
0200800 2s: BIT 3LEADER, @TACS ;1S "CLEAR LEADER" =17
BEG TST21 s3BR IF NO
ERROR 1 ;"WFG" OR "BSFG" FAILED
RN RE RN AE B AR A E R A E BN B E R R R R B E R RS AR R A E R YRS NN R E AR RB B LR R RRRDITR
TEST 21 TEST "SPACE FORWARD FILE GAP"™ FUNCTION
PINRERBBBREY *a #* FEBRBBRERRERE RS R
TST21: SCOPE
200005 172566 MOV #5,STIMES DO 5 ITERATIONS
806464 172500 MoV #15,SLPADR SET SCOPE LOOP ADDRESS
896510 172554 MOV #TST22,SESCAPE ;;ESCAPE TO TEST 22 ON ERROR
RESET
MOV DRIVE,@TACS ;SELECT A DRIVE
900017 MOVB #REWIND!GO,@TACS ;POSITION THE TAPE
WAITREADY GO WAIT FOR "READY" TO SET
0009001 MOovVB #WFGL1GO,@TACS $WRITE FILE GAP OFF OF CLEAR LEADER
WAITREADY ;GO WAIT FOR "READY" TO SET
900003 MOVB $WRITE!GO,@TACS ;PUT SOME DATA ON THE TAPE
WAITXFER ;GO WAIT ON "TRANSFER REQUEST" TO SET
608377 MOVB $#377,@TADB sKNOCK DOWN XFER REQ
WAITXFER GO WAIT ON "TRANSFER REQUEST" TO SET
200020 BIs $1LBS,RTACS sWRITE CRC AND SHUT DOWN
WAITREADY ;GO WALT FOR "READY" TO SET
©¥ooVe1 MOVB #WFG!IGO,@TACS sWRITE FILE GAP AFTER THE RECORD
WAITREADY ;GO WAIT FOR "READY" TO SET
0000617 1s: MOVB #REWIND!{GO,RTACS sREPOSITION THE TAPE
MAINDEC=11=DZTAB=C MACY11 27(732) 1$1=JUN=76 13:26 PAGE 32 SEQ @@46
TEST "SPACE FORWARD FILE GAP" FUNCTION

WAITREADY ;GO WALT FOR "READY" TO SET
200013 MOVB #SFFG!GO,8TACS 3 SPACE OVER THE RECORD
WAITREADY ;GO WAIT FOR MREADY"™ TO SET
204000 BIT #FGAP,RTACS sSETTING IN A FILE GAP?
BNE TST22 33BR IF YES
ERROR 1 ;NO FILE GAP INDICATION
33 * EERBE HRUUFSFR B BFRRRE RN DERY
3 #TEST 22 TEST "BACK SPACE BLOCK GAP"
PIEHERERBREBRBERE FREFBEERE (23 WD GRS
TST22: SCOPE
000005 172446 MOV 45,STIMES ;:D0 5 ITERATIONS
206536 172360 MOV #1$,SLPADR ;3SET SCOPE LOOP ADDRESS
¥06622 172434 MOV #TST23,SESCAPE ;:;ESCAPE TO TEST 23 ON ERROR
RESET
1s: MOV DRIVE,RTACS $SELECT DRIVE
200017 MovB #REWIND! GO, RTACS ;GO TO CLEAR LEADER
WAITREADY ;GO WAIT FOR "READY® 70 SET
900001 MOVB #WFGLGO,@TACS sWRITE A FILE GAP
WAITREADY :GO WAIT FOR "READY" TO SET
900003 MOVB #WRITE!GO,RTACS sWRITE A BLOCK OF DATA
WAITXFER 3GO WAIT ON "TRANSFER REQUEST" TO SET
0003717 MOVB #377,@TADB sWRITE ONE BYTE
WAITXFER GO WAIT ON "TRANSFER REQUEST" TO SET
000020 BIS $ILBS,@TACS sWRITE "CRC"
WAITREADY GO WAIT FOR "READY" TO SET
200011 MOVB #BSBG!GO,R@TACS ;BACK OVER THE DATA
WAITREADY 3GO WAIT FOR "READY" TO SET
TST @TACS ;CHECK FOR ERRORS
BPL 28 ;BR IF NONE
ERROR 1 sERROR OCCURRED
020009 2s: BIT #LEADER,@TACS ;IS CLEAR LEADER=17?
BEQ TST23 53BR IF NO
ERROR 1 3ON CLEAR LEADER
i #*
;#TEST 23 TEST "SPACE FWD BLOCK GAP"
PINEHHERBRE 3222 * *® BERERREBBERFDRRPE
TST23: SCOPE
000005 172334 MOV #5,STIMES $3D0O 5 ITERATIONS
206716 172246 MOV #1$, SLPADR ;3SET SCOPE LOOP ADDRESS
906742 172322 MOV #TST24,SESCAPE ;;ESCAPE TO TEST 24 ON ERROR
RESET
MOV DRIVE,@TACS
200017 MovB #REWIND!GO,RTACS ;GO TO CLEAR LEADER
WAITREADY 3GO WAIT FOR "READY" TO SET
000001 Move 2WFGLIGO,RTACS sPUT FILE GAP ON TAPE
WAITREADY 3GO WAIT FOR "READY" TO SET
200003 MOVB $WRITE! GO, @TACS ;WRITE ONE BYTE BLOCK
WAITXFER 3GO WAIT ON "TRANSFER REQUEST" TO SET
200377 MOovB #377,@TADB
WAITXFER ;GO WAIT ON "TRANSFER REQUEST" TO SET
000020 BIS #ILBS,8TACS ;WRITE "CRC®
WAITREADY ;GO WAIT FOR "READY" TO SET
000001 MOVB $WFGL1GO,8TACS sWRITE A FILE GAP AFYER THE DATA
WAITREADY 3GO WAIT FOR "READY" TO SET
200017 is: MOVB 4REWIND!GO,@TACS GO TO "CLEAR LEADER"
WAITREADY $3GO WAIT FOR ®READY" TO SET




TA11 BASIC LOGIC TEST (PART 2)

DZTABC ,NEW T23
1536 006724 112714
1537 096730 104412
1538 9806732 032714
1539 006736 001401
1549 006740 104001
1541
1542
1543
1544
1545
1546
1547
1548 0@6742 000004
1549 @06744 012767
1556 006752 012767
1551 006760 ©12767
1552 @06766 0OXV35
1553 ©06770 @10314
1554 @06772 112714
1555 006776 104412
1556 9807000 112714
1557 ©07004 104413
1558 @07006 0812715
1559 €97012 104413
1560 907014 852714
1561 ©87020 104412
1562 007822 112714
1563 007026 194412
1564 007030 032714
1565 ©27034 001001
1566 9007636 1V4001
1567 227040 032714
1568 ©G87644 0901401
1569 007046 104001
157@

1571

1572

1573 @07050 ©99004
1574 027052 p12767
1575 097060 012767
1576 ©007066 ©12767
1577 ©¥07074 800005
1578 ©87276 @10314
1579 007100 112714
1580 007104 104412
1561 227106 112714
1582 ©07112 104413
1583 997114 112745
1584 227120 104413
1585 @07122 ©@52714
1586 097126 104412
1587 ©2713¢ 112714
1588 007134 104412
1589 @07136 112714
1590 ©27142 104412
1591 @07144 112714

TAt1 BASIC LOGIC TEST (PART 2)

DZTABC,NEW T2S
1592 007150 104412
1593 907152 112714
1594 Q07156 104412
1595 0807160 085714
1596 007162 100401
1597 007164 104001
1598 0807166 @3:714
1599 907172 @90.901%
1600 207174 104201
1601
1662
1693
1604 007176 PB4
1605 947200 81.767
1606 ©07206 61:767
1607 907214 012767
1608 @97222 6d¢035
1609 ©¥37224 0B1€314
1618 007226 112714
1611 @07232 104412
1612 @07234 112714
1613 847240 194413
1614 827242 11:715
1615 9937246 102113
1616 937250 @5:714
1617 927254 104412
1618 907256 117714
1619 207262 104412
1620 ©97264 112714
1621 9827270 104412
1622 007272 117714
1623 007276 104412
1624 0073606 112714
1625 007304 104412
1626 007306 005714
1627 927310 100401
1628 0087312 184901
1629 907314 832714
1638 907320 001001
1631 087322 104001
1632
1633
1634
1635 ©07324 006704
1636 907326 812767
1637 807334 812767
1638 007342 812767
1639 @07350 806995
1640 907352 010314
1641 907354 1041412
1642 807356 312714
1643 807362 104412
1644 9067364 112714
1645 007376 104412
1646 007372 112714
1647 9807376 104413

MAINDEC=11<DZTAB=C
TEST "SPACE FWD BLOCK GAP"

MACY1t 27(732)

11=JUN=76 13326 PAGE 33

SEQ 2647

$SEE IF SFBG WILL SPACE OVER THE BLOCK OF DATA

200015 MOVB #SFBG!GO,@TACS
WAITREADY ;GO WAIT FOR "READY® TO SET
124000 BIT $ERROR!LEADER!FGAP,RTACS 3 "ERROR" SHOULD BE CLEAR
BEQ TST24 73S0 SHOULD "CLEAR LEADER" AND "FILE GAP"
ERROR 1 s TAPE 1S IN THE WRONG PLACE AFTER A SFBG
$IILLPIII7000707 000000070007 0707007000707007707777/0077100777077071777777
SIVELILLILTI107000000007070777000070007000000007007700070000070070777717¢77
;THE FOLLOWING TESTS ARE USED TO CHECK THE "FILE GAP™ CIRCUITS
$/I1ILL117 2007770000000 00000000700070000000000007000000077¢000777777777
;LTESﬁ 24 TEST AUTOMATIC "WFG" WHEN WRITING OFF OF "CLEAR LEADER"
Frwssnpe v » srans
TST24: SCOPE
event2 172214 MOV #10,,$TIMES
206776 172126 . MOV #1S,SLPADR
2n7050 172202 MOV #TST25,SESCAPE ;;ESCAPE TO TEST 25 ON ERROR
RESET
182 Mov DRIVE,@TACS s SELECT DRIVE
006017 MOVB #REWIND!{GO, @TACS ;GO TO CLEAR LEADER
WAITREADY ;GO WAIT FOR "READY" TO SET
@00003 MOVB #WRITE!GO,@TACS sWRITE “AUTO, FILE GAP®
WAITXFER 3GO WAIT ON "TRANSFER REQUEST" TO SET
800377 MOV #377,RTADB WRITE "DATA"
WAITXFER 3GO WAIT ON "TRANSFER REQUEST" TO SET
©v00020 BIS #ILBS,@TACS $WRITE "CRC®
WAITREADY ;GO WAIT FOR "READY" TO SET
000007 MOVB #BSFG!GO, @TACS ;BACK OQVER THE DATA BLOCK
WAITREADY 3GO WAIT FOR "READY" TO SET
004000 BIT #FGAP,RTACS 3IN FILE GAP?
BNE 2s iBR IF YES
ERROR 1 ;NO FILE GAP INDICATION
120000 2s: BIT #ERRORI{LEADER, @TACS s ERROR SHOULD BE CLEAR
BEQ TST25 5380 SHOULD "CLEAR LEADER"
ERROK 1 sERROR OR CLEAR LEADER ON A (1)
I¥L * ERBEBRERE SRR # EHpER
;#TEST 25 TEST "READ® INTO FILE GAP CAUSES AN ERROR
33 *an FRHBRER * * * FREBRE
TST25: SCOPE
000012 172106 MOV #10.,STIMES 3300 10, ITERATIONS
907106 172020 MoV #1$,SLPADR 3 SET SCOPE LOOP ADDRESS
007176 172074 MOV #TST26,SESCAPE ;;ESCAPE TO TEST 26 ON ERROR
RESET
MoV DRIVE,@TACS 3 SELECT DRIVE
0V00L7 MOVB ' $REWIND!GO,RTACS ;GO TO BEGINNING OF TAPE
WAITREADY JWAIT ON "READY"
900003 183 MOVB #WRITE!GO, BRTACS ;START A WRITE
WAITXFER sWAIT ON "XFER REQ"
000377 MOVB #377,@TADB sWRITE ONE BYTE
WAITXFER ;WAIT ON "XFER REQ"
900029 BIS #ILBS,@TACS s WRITE "CRC®
WAITREADY sWAIT ON “READY"
600Vt MOVH #WFGIGO,@TACS sWRITE A "FILE GAP"
WAITREADY sWAIT ON "READY"
9000611 MOVB #BSBG!GO,RTACS ;BACK OVER THE DATA
WAITREADY sWAIT ON "READY"
000015 MOVB #SFBG!GO,RTACS ;SPACE OVER THE DATA BLOCK
MAINDEC=11=DZTAB=C MACY11 27(732) 11=JUN=76 13:26 PAGE 34

TEST "READ® INTO FILE GAP CAUSES AN ERROR

WAITREADY ;WAIT ON "READY"
200005 MOVB #READ!GO,@TACS ;START A “"READ"
WAITREADY sWAIT ON "READY"
TST @TACS ;DID AN "ERROR"™ OCCUR?
BMIL 2s sBR IF YES
ERROR 1 sERROR FAILED TO SET
004000 2s: BIT #FGAP,RTACS 3 IS FILE GAP=1?
BNE TST26 ;:BR IF YES
ERROR 1 sFILE GAP NOT=1
P REEEEA EERARE 22227 *
s #TEST 26 TEST "SFBG" INTO FILE GAP CAUSES AN ERROR
rEREELRERR #* * # A
TST26: SCOPE
©¥oe012 171760 MOV #10.,STIMES ;:D0 10, ITERATIONS
@07234 171672 MOV #18,SLPADR 73SET SCOPE LOOP ADDRESS
9027324 171746 MOV #TST27,SESCAPE ;;ESCAPE TO TEST 27 ON ERROR
RESET
MoV DRIVE,@TACS 3 SELECT DRIVE
000017 MOVB #REWIND!GO,RTACS ;GO TO BEGINNING OF TAPE
WAITREADY ;WAIT ON "READY"
000003 183 MOVB #WRITE{GO,R@TACS 3START A WRITE
WAITXFER 3WAIT ON "XFER REQ"
@20377 MOVB #377,RTADB $WRITE ONE BYTE
WAITXFER sWAIT ON "XFER REQ"
000020 BIS #ILBS,RTACS 3WRITE"CRC"
WAITREADY 3WAIT ON “READY"
000,01 MOVB #WFGIGO,@TACS sWRITE A "FILE GAP®
WAITREADY 3WAIT ON "READY"
200011 MOVB #BSBG!GO,@TACS 3BACK OVER THE DATA
WAITREADY $WAIT ON "READY"
000015 MOVB #SFBGIGO,8@TACS 3SPACE OVER THE DATA BLOCK
WAITREADY sWAIT ON "READY"
000015 MOVB #SFBG!GO,@TACS 3 START A "SFBG"
WAITREADY ;WAIT ON "READY"
TST @TACS sDID AN ®ERROR" OCCUR?
BMI 28 $BR IF YES
ERROR 1 sERROR FAILED TO SET
80402006 2s: BIT #FGAP, BTACS ;15 FILE GAP={?
BNE TST27 $3BR IF YES
ERROR 1 sFILE GAP NOT=i
33
s#TEST 27 TEST "ERROR" OUTPUT OF THE STATUS ROM WITH "FILE GAP=1®
i 3 % # * bl *
TST27: SCOPE
900012 171632 MOV #10.,S$TIMES 53D0 10, ITERATIONS
907430 171544 MOV #18,SLPADR SET SCOPE LOOP ADDRESS
807574 171620 MOV #TST30,SESCAPE ;;ESCAPE TO TEST 38 ON ERROR
RESET
MOV DRIVE,@TACS $SELECT DRIVE
WAITREADY 3MAKE SURE READY IS SET
200017 MOVB #REWIND{GO,@TACS 3GO TO BEGINNING OF TAPE
WAITREADY JWAIT ON "READY"
2000821 MOVB #WFG1 GO, 8TACS 3GET OFF OF CLEAR LEADER
WAITREADY sWAIT FOR READY
200003 MOVB #WRITE!GO,@TACS 3 START A WRITE
WAITXFER sWAIT ON "XFER REQ"

SEQ @048



TAi1 BASIC LOGIC TEST (PART 2)

DZTABC ,NEW
1648 ©07400
1649 007404
1650 027406
1651 6907412
1652 807414
1653 097420
1654 9807422
1655 987426
1656 907430
1657 6067434
1658 0087436
1659 807442
1660 907444
166f ©@87450
1662 @87452
1663
1664 £07454
1665 ©87460
1666 9087462
1667 987464
1668 ©07466
1669 007472
1670 807474
1671 0807476
1672 @07500
1673 0975064
1674 $07566
1675 @07510
1676 @87512
1677 8987516
1678 ©07520
1679 807522
1680 007524
1681 $07530
1682 807532
1683 ¥87534
1684 697536
1685 987542
1686 007544
1687 837546
1688 907550
1689 907554
1690 9087556
1691 097560
1692 0807562
1693 887566
1694 90757¢
1695 0887572

T27

112715
164413
112715
104413
852714
104412
112714
104412
112714
104412
112714
164412
832714
801001
164001

112714
0085714
160001
104201
112714
0905714
100001
104001
112714
205714
100401
104001
112714
905714
1006001
104001
112714
#05714
140001
104001
112714
095714
106001
184001
112714
#B85714
1004961
104001
112714
895714
100001
164001

TEST

900377

000377

000020

000001

90800617

200013

084000

000600

990002

000004

000006

0909010

800012

000014

030016

TAt1 BASIC LOGIC TEST (PART 2)

DZTABC.

1696
1697
1698
1699
17900
1761
1762
1703
1704
1705
1706
1767
1708
1709
1710
1711
1712
1713
1714
1715
1716
1717
1718
1719
1729
1721
1722
1723
1724
1725
1726
1727
1728
1729
1730
1731
1732
1733
1734
1735
1736
1737
1738
1739
1740
1741
1742
1743
1744
1745
1746

NEW

907574
807576
807604
867612
007620
987622
6067624
$07626
8237632
0907634
P0BT640
007642
087646
0076506
807654
8067656
807662
907664
807670
607672
807676
807709
8971784
807706
807732
8067714
887720
807722
687724
867730
987732
987736
807740
6087742
867746
907750
897752
807756
607768
8087764
807766
807770
887774
897776

T27

280004
812767
012767
912767
8899085
218314
104412
112714
134412
112714
124412
112714
104413
112715
194413
112715
104413
852714
104412
112714
194412
112714
164412
112714
104412
232714
001001
104001
112714
194412
932714
081001
194001
932714
201401
104001
112714
104412
832714
001801
194001
832714
901901
104001

900012
007700
210080

000017
2006001
(LI T4
89e377
808377
800028
000091
200017
000013

904000

220007

8040006

100000

008097

1900060

$20000

MAINDEC=11=DZTAB=C
"ERROR" OUTPUT OF THE STATUS ROM WITH "FILE GAP=1"

MAINDEC=11=DZTAB«C
TEST "ERROR™ OUTPUT OF THE STATUS ROM WITH

171362
174274
171350

;NOW CHECK

283

3s:

483

582

683

183

8s:

9s:

MACY11 27

(732)

MOVB #377,@TADB
WALITXFER
MovB #377,TADB
WAITXFER
BIS #ILBS,BTACS
WAITREADY
MOVB #HWFG1GO,BTACS
WAITREADY
MOVB #REWIND!GO,@TACS
WAITREADY
MOVB #SFFGIGO,@TACS
WAITREARDY
BIT #FGAP,8TACS
BNE 28
ERROR 1
"ERROR® BIT FOR ALL FUNCTIONS
MOVB #WFG,@TACS
TST @TACS
BPL 3s
ERROR 1
MOVB #WRITE, @TACS
TST @TACS
BPL 4s
ERROR 1
MOVB #READ,BTACS
TST @TACS
BMI 5s
ERKOR 1
MOVB #BSFG,@TACS
TST @TACS
BPL 65
ERROR 1
MOVB #BSBG,@TACS
TST @TACS
BPL 78
ERROR 1
MOVB #SFFG,@TACS
18T @TACS
BPL 8s
ERROR 1
MOVB #SFBG,RTACS
TST @TACS
BMI 9s
ERROR 1
MOVB ¥REWIND,8TACS
TST @TACS
BPL TST30 ;3BR IF
ERROR 1
MACY1! 27(732)
"FILE GAP=1"

11«JUN=76 13:26 PAGE 35 SEQ 2049

sWRITE ONE BYTE
;WALT ON "XFER REQ®
$WRITE

;WALIT ON "XFER REQ"
$WRITE "CRC"

$WAIT ON "READY®

SWRITE A "FILE GAP*®
;WALT ON "READY"

;BACK OVER THE DATA
$WAIT ON "READY"

:DO A SPACE FWD FILE GAP

;1S FILE GAP=1?
$BR IF YES
sFILE GAP NOT=1

;CHECK YERROR® WITH
; SAMPLE THE "ERROR"
;BR IF "ERROR* = @
$"ERROR" NOT = ©
SCHECK "ERROR® WITH "WRITE"
;SAMPLE THE "ERROR® BIT

;BR IF "ERROR" = 8
;"ERROR" NOT = 0
;CHECK "ERROR® WITH
;SAMPLE THE "ERROR"
;BR IF "ERROR" = 1
;"ERROR" NOT = 1
;CHECK "ERROR"™ WITH
;SAMPLE THE "ERROR®
;BR IF "ERROR" = 0
;"ERROR" NOT = 0
;CHECK "ERROR" WITH
$SAMPLE THE "ERROR"
;BR IF "ERROR" =
;"ERROR" NOT = @
$CHECK "ERROR® WITH
;SAMPLE THE "ERROR"
;BR LF "ERROR" = 0
ERROR" NOT = 9
;CHECK "ERROR® WITH
;SAMPLE THE "ERROR®
;BR IF "ERROR® = 1
$"ERROR" NOT = 1
{CHECK "ERROR" WITH
;SAMPLE THE "ERROR"
"ERROR" = @
;"ERROR" NOT = ©

PREGR
BIT

"READ"®
BIT

"BSFG"
BIT

"BSBG"
BIT

RSFFG"
BIT

"SFBG"
BIT

“REWIND"
BIT

11=JUN=76 13:26 PAGE 36 SEQ 0050

FILLLTLLIIILIIP 0070000770080 7007 0777007007770 700770077007107777777477777
ILILVI1170 7077000070000 0700280777700707777007707707777777777777707774777
sTHE FOLLOWING TESTS INSURE THAT BACKING INTO "CLEAR LEADER"™ CAUSES AN ERROR
3IILLLIIIIIIIII 070720000070 707770000077777777070707707777077¢07777/77777

SIBENAUBRFRUBRREEL * ¥
TEST BACK=SPACE-FILE=-GAP INTO CLEAR LEADER

;#TEST 30
PILBERBBRERERCARBRH L 22 HRE
TST30: SCOPE
MOV #10,,STIMES 3:D0 106, ITERATIONS
MOV #1$,SLPADR 3 3SET SCOPE LOOP ADDRESS
MOV #TST31,$ESCAPE ;;ESCAPE TO TEST 31 ON ERROR
RESET
MOV DRIVE,@TACS 3 SELECT DRIVE
WAITREADY sMAKE SURE READY IS SET
MOVB $REWIND!GO,@TACS 3GO TO BEGINNING OF TAPE
WAITREADY 3WAIT ON "READY"
MOVB #WFGL1GO, @TACS ;GET OFF OF CLEAR LEADER
WAITREADY sWAIT FOR READY
MOVB #WRITE!GO,@TACS $START R WRITE
WAITXFER sWAIT ON "XFER REQ"
MOVB #377,@TADB 3WRITE ONE BYTE
WAITXFER JWAIT ON "XFER REQ®
MOVB $377,8TADB $WRITE
WAITXFER sWAIT ON "XFER REQ"
BIS #ILBS,@TACS sWRITE "CRC"
WAITREADY sWAIT ON "READY"
MOVB $WFGL{GO, @TACS sWRITE A "FILE GAP*
WAITREADY sWAIT ON "READY”
182 MOoVB #REWIND1GO,RTACS ;BACK OVER THE DATA
WAITREADY sWAIT ON "READY"
MOVB #SFFGIGO,@TACS D0 A SPACE FWD FILE GAP
WAITREADY
BIT $FGAP,@TACS s1s FILE GAP=17
BNE 2$ ;BR IF YES
ERROR 1 sFILE GAP NOT=1
A Movas #BSFG{GO,@TACS $GO TO FIRST FILE GAP ON TAPE
WALTREADY ;GO WALT FOR "READY® TO SET
BIT #FGAP,@TACS ;IN A FILE GAP?
BNE 3s 3BR IF YES
ERROR :DIDN’T STOP IN A GAP
3s: BIT #ERROR,8TACS ;DID WE GET AN ERROR?
BEQ 4$ $BR IF NO
ERROR 3 AN ERROR OCCURRED
45: MOVB #BSFG!GO,@TACS 3BACK ONTO THE CLEAR LEADER
WAITREADY 3GO WAIT FOR "READY"™ TO SET
BIT #ERROR, 8TACS sCHECK FOR AN ERROR
BNE 58 3BR IF "ERROR® BIT IS SET
ERROR 1 3 "ERROR" BIT FAILED TO SET
583 BIT #LEADER, 8TACS ;CHECK FOR CLEAR LEADER
BNE TST31 33BR IF "CLEAR LEADER" = §
ERROR 1 s "ERROR"™ WASN’T DUE T0 "CLEAR LEADER"®

St

:

i



TA11 BASIC LOGIC TEST (PART 2)
TEST BACK=SPACE~BLOCK=GAP INTO CLEAR LEADER

DZTABC ,NEW

1747

1748

1749

1756 010000
1751 910002
1752 010010
1753 9190016
175¢ 010024
1755 610026
1756 910030
1757 8106032
1758 @10036
1759 810040
1760 0810044
1761 810046
1762 010052
1763 810054
1764 010060
1765 010062
1766 12066
1767 010079
1768 010074
1769 @10076
1779 910102
1771 2106104
1772 o10119
1773 ¢10112
1774 010116
1775 910120
1776 ¢10124
1777 810126
1778 0108130
1779 010134
1780 010136
1781 @10142
1782 0910144
1783 @10146
1784 810152
1785 010154
1786 910156
1787 @10160
1788 010162
1789 019166
1790 010170
1791

1792

1793

1794

1795

1796

1797

1798 0816172
1799 ¥19174
1800 06106202
1801 ©v108210
1862 0810216

T3t

240084
612767
212767
212767
820005
210314
194412
112714
104412
112714
104412
112714
104413
112715
194413
112715
104413
952714
104412
112714
104412
112714
194412
112714
104412
832714
goi001
194001
112714
104412
¥32714
001401
104001
112714
104412
805714
100401
194001
832714
021091
104001

220024
812767
B12767
n12767
002005

200n12
v16104
810172

000017
Pg0001
0006093
908377
900377
000020
000801
2900017
020013

V04000

009011

124000

928011

©¥20000

0oee12
@10230
210330

TAtt BASIC LOGIC TEST (PART 2)

DZTABC ,NEW
1803 010220
1804 010222
1805 910226
1806 010230
1807 010234
1808 010236
1809 610242
1810 618244
1811 810250
1812 919252
1813 810256
1814 610260
1815 ©10264
1816 010266
1817 810272
1818 ©10274
1819 10276
1820 812362
1821 610304
1822 9106306
1823 910319
1824 010312
1825 810314
1826 810316
1827 610320
1828 010322
1829 010326
1830
1831
1832
1833 010330
1834 010332
1835 010340
1836 0106346
1837 #10354
1838 610356
1839 $10360
1840 910364
1841 816366
1842 010372
1843 810374
1844 019400
1845 #10404
1846 510406
1847 0106410
1848 910412
1849 010414
1850 0610416
1851 010420
1852 010422
1853 610424
1854 0910426
1855 910432
1856 010434
1857 810436
1858 810440

T32

819314
112714
194412
112714
164413
112715
104413
112715
104413
852714
194412
112714
124412
112714
184413
911501
@12700
0820189
#1401
104005
104413
095000
a11501
901421
104005
852714
104412

280004
B12767
012767
812767
2990085
210314
112714
184412
112714
194412
912700
112714
164413
810015
104413
911501
820001
001401
104005
P05300
202370
852714
194412
805714
160001
104001

00017
@eene3
0083717
000000
000020
000011

200005

000377

208020

000012
810442
210516
0000817
099061

900377
090003

200020

MAINDEC=11-DZTAB=C

171156
171070
171144

170764
170676
176752

MAINDEC=§1«=DZTAB=C
TEST "WRITE®
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9 %

TEST 31 TEST BACK«SPACE<~BLOCK=GAP INTO CLEAR LEADER

SCOPE
MOV #10,,STIMES ;3:D0 18, ITERATIONS
Mov #18,SLPADR 33SET SCOPE LOOP ADDRESS
MOV #TST32,SESCAPE ;;ESCAPE TO TEST 32 ON ERROR
RESET
MOV DRIVE,@TACS 3 SELECT DRIVE
WAITREADY ;MAKE SURE READY IS SET
MOVB #REWIND!GO,@TACS ;GO TO BEGINNING OF TAPE
WALTREADY sWAIT ON "READY"®
MOVB 4WFG!GO,@TACS 3GET OFF OF CLEAR LEADER
WAITREADY JWAIT FOR READY
MOVB #WRITE!GO,8TACS 3 START A WRITE
WAITXFER sWAIT ON "XFER REQ"
MOVB #377,QTADB JWRITE ONE BYTE
WAITXFER sWAIT ON "XFER REQ"
MOVB #377,8TADB $WRITE
WAITXFER $WAIT ON "XFER REQ"
BIS #ILBS,2TACS $WRITE "CRC"
WAITREADY ;WAIT ON "READY"
MovB #WFG!GO,@TACS sWRITE A "FILE GAP*®
WAITREADY $WALT ON "READY"

1s: MOVB #REWIND!GO,R@TACS ;BACK OVER THE DATA
WAITREADY sWAIT ON "READY"
MOovVB #SFFG!GO,@TACS ;DO A SPACE FWD FILE GAP
WAITREADY
BIT $FGAP,8TACS ;IS FILE GAP=1?
BNE 28 $BR IF YES
ERROR 1 sFILE GAP NOT=1

28 MOVB #BSBG!GO,@TACS ;GO TO FIRST FILE GAP ON TAPE
WAITREADY ;GO WALT FOR "READY" TO SET
BIT #ERROR!FGAP!LEADER, RTACS ;DID WE GET ANY ERROR?
BEQ 3s $BR IF NO
ERROR 1 ;AN ERROR OCCURRED

3s: MOVB #BSBG!GO,RTACS ;BSBG WHILE IN A FILE GAP
WAITREADY GO WAIT FOR "READY" TO SET
TST 8TACS 3 "ERROR"™ BIT SHOULD BE SET
BMI 4s sBR IF IT IS
ERROR 1 s "ERROR" BIT WASN’T SET

4s: BIT #LEADER, @TACS 3 "CLEAR LEADER" SHOULD BE SET
BNE TST32 $¢BR IF "CLEAR LEADER" = 1
ERROR 1 ;"CLEAR LEADER" NOT SET

$IL1ILL117777727000007072770070700077770700077070777777777077077777777777/
/1101110007707 10777077770077077707077777770077707777707077777477777777777
; THE FOLLOWING TESTS INSURE THAT DATA CAN BE WRITING ONTO AND READ FROM THE TAPE
SILLLLLLIIII7 7000000700707 770000000007770770700777077747777710777¢40¢7777

AL A ¥* BRRBRRARBEF R SRR RIRRERE
;#TEST 32 TEST "WRITE" 377 & @ "READ" 377 & @
pi# #% * B
TST32: SCOPE
MOV #10.,STIMES DO 10, ITERATIONS
MOV #38,SLPADR SET SCOPE LOQP ADDRESS
MOV ¥TST33,$ESCAPE ;:;ESCAPE TO TEST 33 ON ERROR
RESET

MACY11 27(732)
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377 & © "READ® 377 & ©
MOV DRIVE,RTACS 3 SELECT DRIVE
MOVB #REWIND!GO,@TACS 3GO TO "CLEAR LEADER"
WAITREADY 3WALIT ON "READY"
3ss MOVB #$WRITE!GO,@TACS sWRITE DATA
WAITXFER ;WAIT ON "XFER REQ"
MOVB #377,8TADB 18T BYTE
WAITXFER ;WAIT ON "XFER REQ"
MOVE #0,8TADB 32ND BYTE
WAITXFER sWAIT ON "XFER REQ"
BIs #ILBS,@TACS JWRITE *CRC"
WAITREADY 3WAIT ON “READY"®
Move #BSBG!GO,RTACS ;BACK OVER THE DATA
WAITREADY sWAIT ON "READY"
MOVB #READ{GO, BTACS $START A "READ"
WAITXFER 3WAIT ON "XFER REQ"
MOV @TADB,R1 sPUT THIS BYTE IN R1
MoV #377,R0 sPUT WHAT IT SHOULD BE IN RO
CcMP R1,Re ;01D DATA READ GOOD?
BEQ 1s 3BR IF YES
ERROR S sDATA WASN’T = 377
i1s: WAITXFER sWAIT ON "XFER"
CLR R@
MOV @TADB,RY s READ
BEQ 28 3BR IF DATA = 000
ERROR S sDATA WASN'T =z @00
28% BIS #ILBS,@TACS 3 SHUT DOWN
WAITREADY ;WAIT ON "READY"
i bl
;#TEST 33 TEST "WRITE & READ®™ A COUNT PATTERN
1A e #* * - #*
TST33: SCOPE
170626 MOV #10,,STIMES 33D0 16, ITERATIONS
170540 MOV #38,SLPADR ;3SET SCOPE LOOP ADDRESS
170614 MOV #TST34,SESCAPE ;;ESCAPE TO TEST 34 ON ERROR
RESET sCLEAR ALL
MOV DRIVE, @TACS $SELECT DRIVE
MOVB #REWIND!GO,8TACS 3GO TO "BOT"
WAITREADY sWAIT ON "READY" TO SET
MOVB #WFG{GO,@TACS 3GET ON OXIDE
WAITREADY sWAIT ON "READY" TO SET
MOV #377,R0 sFIRST DATA PATTERN AND COUNTER
MOVB #WRITE!GO,RTACS ;START A WRITE
WAITXFER ;WAIT ON "XFER REQ" TO SET
183 MOV RO, @TADB $WRITE A BYTE ON TAPE
WAITXFER 3WAIT ON "XFER REQ" TO SET
MOV @TADB,R1 3GET BACK THE LAST BYTE WRITTEN
CHP RO,R1 H AND CHECK IT
BEQ 28 3BR IF IT LOOKS GOOD
ERROR 5 ;THE DATA IN TADB WAS BAD
2s: DEC RO 3NEXT PATTERN
BGE is $sBR IF MORE TO DO
BIS #ILBS,BTACS SJWRITE THE "CRC®
WAITREADY 3WAIT ON "READY" TO SET
TST ATACS 3ANY ERRORS OCCUR?
BPL 3s 3sBR IF NO
ERROR 1 ;ERROR OCCURRED DURING WRITE

SEQ 0851

SEQ 0052
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DZTABC ,NEW T33 TEST "WRITE & READ"™ A COUNT PATTERN
1859 910442 112714 0200011 3s8: MOVB #BSBG!GO,8TACS :GO TO BEGINNING OF BLOCK
1868 010446 104412 WAITREADY sWAIT ON "READY" TO SET
1861 910450 112714 000005 MOVB $READ!GO, RTACS ;START A "READ"
1862 ©10454 012700 800377 MoV #377,R0O sFIRST DATA PATTERN AND COUNTER
1863 010460 104413 48 WAITXFER sWAIT ON "XFER REQ" TO SET
1864 010462 811501 MOV @TADB,R1 sREAD A BYTE FROM TAPE
1865 010464 020001 cMp RO,R1 ;Is IT VALID?
1866 @10466 001401 BEQ 5s $BR IF YES
1867 910470 1040905 ERROR 5 ;BAD DATA READ FROM TAPE
1868 010472 095300 58 DEC RO sNEXT PATTERN
1869 010474 002371 BGE 4s ;BR IF MORE TO READ
1870 010476 104413 WAITXFER sWAIT ON "XFER REQ" TO SET
1871 910500 052714 000029 BIS $ILBS,@TACS ;SHUT DOWN THE "READ* OPERATION
1872 9210504 104412 WAITREADY ;WAIT ON *READY® TO SET
1873 010506 932714 140000 BIT #ERRORICRCERR,RTACS ;ERROR AND CRCERR SHOULD BE
1874 010512 9901401 BEQ TST34 33BR IF THEY ARE
1875 ©10514 104001 ERROR 1 ;s (ERROR | CRCERR) = 1
1876 3/111071177777000007770770070007707000007707700777777777077770777777777777
1877 /1111710077 777777777070077707070707077707707707007707777077777777077777777777
1878 ; THE FOLLOWING TESTS ARE USED TO INSURE THAT THE "CRC® CIRCUITRY FUNCTIONS PROPERLY
1879 FIIIILIIIIILLI 1770770770070 77077070770707000770700070700770707000770777077777
1889 PRR 22232 2SS 22 %k #* B RS
1881 s#TEST 34 TEST "ERROR" WITH "CRCERR" = 1
1882 s Bk » % ruus
1883 910516 000094 TST34: SCOPE
1884 010520 012767 000012 170440 MOV #10,,STIMES ;:D0 10, ITERATIONS
1885 ©10526 012767 010562 170352 MOV #2058, SLPADR $3SET SCOPE LOQP ADDRESS
1886 @10534 P12767 910776 170426 MOV #TST35,SESCAPE ;;ESCAPE TO TEST 35 ON ERROR
1887 ©10542 000005 RESET
1888 010544 2310314 MOV DRIVE,@TACS $SELECT DRIVE
1889 010546 112714 000017 MOVB #REWIND!GO,RTACS ;GO TO CLEAR LEADER
1899 910552 124412 WAITREADY sWAIT ON "READY®
1891 ©810554 112714 ©@00001 MOVB #WFGIGO,@TACS ;GET OFF OF CLEAR LEADER
1892 0Q10569¥ 104412 WAITREADY ;WAIT FOR READY
1893 P10562 112714 0900003 20s: MOVB 4WRITE!GO,@TACS s START A WRITE
1894 010566 012730 000006 MOV #6,RO sSETUP FOR 6 BYTES
1895 910572 104413 i1s: WAITXFER JWAIT ON "XFER REQ"
1896 ©10574 0935300 DEC RO ;DOWN COUNT
1897 @10576 092403 BLT 2s ;DONE?
1898 010608 112715 000377 MOVB #377,8TADB ;NO==WRITE ON TAPE
1899 010604 000772 BR 1s ;LOOP
1960 010606 052714 000020 2s: BIS #ILBS,@TACS sWRITE "CRC"
1901 ©10612 104412 WAITREADY sWAIT ON "READY"
1902 010614 112714 090011 MOVAR #BSBG{GO,RTACS ;BACK OVER THE DATA BLOCK
1943 010620 104412 WAITREADY sWAIT ON "READY"
1904 010622 112714 090005 MOVB #READ!GO,@TACS s START A "READ"
1905 ©10626 012700 000003 MOV #3,R0O ;DO 3 BYTES
1906 010632 104413 3s: WAITXFER $WAIT FOR "XFER REQ®
1967 010634 005300 DEC RO ;COUNT # OF BYTES
1908 610636 9802402 BLT 4s
1909 @10640 105715 TSTB @TADB ;CLEAR "XFER REQ"
1919 010642 0920773 BR 3s
1911 910644 852714 000020 483 BIs #ILBS,BTACS ;DO "ILBS"
1912 610650 104412 WAITREADY sWAIT ON "READY™
1913 010652 0025714 TST @QTACS ;CHECK FOR “ERROR"
1914 010654 102401 BMI 5% ;BR IF "ERROR"
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DZTABC  NEW T34 TEST "ERROR" WITH "CRCERR" =
1915 010656 104001 ERROR 1 s "ERROR" BIT NOT SET
1916 010660 032714 040000 5s: BIT #CRCERR,QTACS ;CHECK FOR "CRC" ERROR
1917 010664 201201 BNE 6 3BR IF "CRC" ERROR
1918 010666 1084001 ERROR 1 sNO “CRC" ERROR
1919 ;s THE FOLLOWING CODE IS USED TO CHECK THE ROM
1920 010670 112714 000000 6s: MOVB #WFG,R@TACS $CHECK "ERROR" WITH "WFG®
1921 010674 005714 TST @TACS : SAMPLE THE "ERROR" BIT
1922 010676 1808901 BPL 7s ;BR IF "ERROR® = 0
1923 010700 104001 ERROR 1 ;s "ERROR" NOT = 0
1924 010702 112714 000002 T8¢ MOVB #WRITE,@TACS sCHECK "ERROR" WITH "WRITE"
1925 010706 005714 TST @TACS ; SAMPLE THE "ERROR"™ BIT
1926 ©10710 100401 BML 8s $BR IF "ERROR" = 1
1927 ©10712 104001 ERROR 1 s "ERROR"™ NOT = 1
1928 ©10714 112714 200006 8s: MOVB #BSFG,8TACS ;CHECK "ERROR" WITH "3SFG"
1929 010720 005714 TST @TACS ; SAMPLE THE "ERROR" BIT
1930 Q19722 100001 BPL 9s ;BR 1F "ERROR"™ = 0@
1931 ©10724 194001 ERROR 1 ;"ERROR" NOT = 0
1932 910726 112714 000010 9s: MOVB #BSBG,@TACS sCHECK "ERROR®™ WITH "3SBG"
1933 919732 905714 TST @TACS ;SAMPLE THE "ERROR" BIT
1934 ©#19v734 100001 BPL 108 sBR IF "ERROR" = @
1935 610736 104001 ERROR 1 ; "ERROR™ NOT = @
1936 B10740 112714 000012 10s: MOVB #SFFG,@TACS 3CHECK "ERROR®" WITH "3FFG"
1937 910744 095714 TST @TACS ; SAMPLE THE "ERROR" BIT
1938 010746 100001 BPL 11s ;BR IF "ERROR"™ = 0
1939 010750 104201 ERROR 1 ; "ERROR® NOT = @
1940 910752 112714 000014 1is: MOVB #SFBG,@TACS sCHECK "ERROR" WITH ®SFBG"
1941 918756 9205714 TST 8TACS ; SAMPLE THE "ERROR"™ BIT
1942 010760 100001 BPL 12% sBR IF "ERROR"™ = 0
1943 910762 104001 ERROR 1 ;s "ERROR" NOT = 9
1944 9010764 112714 000016 1282 MOVB #REWIND, @TACS ;CHECK "ERROR® WITH “REWIND"
1945 016770 905714 TST @TACS ; SAMPLE THE "ERROR" BIT
1946 010772 100001 BPL TST35 ;3BR IF "ERROR" = @
1947 610774 104001 ERROR 1 ;"ERROR"™ NOT = @
1948 XA d # * EEBEE
1949 s#TEST 35 TEST "DATA OF @ GIVES CRC OF @"
1959 Py BRER e ¥ * wHEER
1951 ©10776 008004 TST35: SCOPE
1952 ©11008 012767 0000605 170160 MOV #5,STIMES 53DO 5 ITERATIONS
1953 011006 012767 011934 1790072 MOV $65,SLPADR :3SET SCOPE LOOP ADDRESS
1954 911014 0612767 211168 170146 MOV #TST36,8ESCAPE ;;ESCAPE TO TEST 36 ON ERROR
1955 ©11022 090005 RESET
1956 011024 010314 MOV DRIVE, 8TACS 3 SELECT DRIVE
1957 011026 112714 000017 MOVB #REWIND!GO,@TACS ;GO TO "CLEAR LEADER®
1958 ©11032 104412 WAITREADY sWAIT ON "READY"
1959 ©11034 112714 000003 6S: MOVB #WRITE!GO,@TACS sWRITE THE DATA
1960 011040 104413 WAITXFER sWAIT ON "XFER REQ"
1961 011042 1985015 CLRB @TADB ;1ST BYTE = @
1962 911044 104413 WAITXFER JWAIT ON "XFER REQ"
1963 011046 105015 CLRB @TADB ;2ND BYTE = 0
1964 ©11059 104413 WAITXFER sWAIT ON "XFER REQ"
1965 911052 852714 0906020 BIS $ILBS,@TACS sWRITE "CRC"
1966 011056 104412 WAITREADY sWAIT ON "READY"
1967 911060 112714 0060011 MOoVB #BSBG{GO,@TACS ;sBACK OVER THE DATA
1968 B11064 104412 WAITREADY sWAIT ON "READY"
1969 ©11066 112714 0000065 MOVB $READ !GO, @TACS ;START A "READ"
197¢ 011072 104413 WAITXFER sWAIT ON "XFER REQ" FIRST




TA11 BASIC LOGIC TEST (PART 2)

DZTABC,NEW
1971 211074
1972 911076
1973 ©11100
1974 811192
1975 9111904
1976 211136
1977 e@11110
1978 911112
1979 otit14
1980 011116
1981 @B11120
1982 ©11122
1983 ©11124
1984 011126
1985 011130
1986 ©11132
1987 011134
1988 9011149
1989 011142
1998 @11144
1991 21i1t1de
1992 ailise
1993 @11154
1994 ¥11156
1995
1996
1997
1998 0D11169
1999 811162
2000 V11170
2001 011176
2002 ©11204
2003 911206
2004 911210
2005 @11214
2006 011216
20071 0811222
2008 911224
2009 011230
2010 V11234
2011 811236
2012 ©11249
2013 9211242
2014 211244
2015 911246
2016 011259
2017 ©811252
2018 911254
2019 ©11256
2024 011262
2021 ©11264
2022 V11266
2023 011270
2024 011272
2025 @t1276
2026 011340

T35

8652060
211501
801401
104005
104413
811501
201401
104005
184413
211501
@91401
124005
164413
211541
pa1401
104045
852714
104412
845714
190401
184901
#32714
#01001
124001

pvevva
812767
212767
212707
220085
810314
112714
104412
112714
104412
012729
112714
104413
¥12915s
104413
2115901
922001
901401
124905
895309
202379
952714
104412
295714
129001
124001
112714
104412
112714

TA11 BASIC LOGLC TEST (PART 2)

DZTABC  NEW
2027 911394
2028 @1131¢
2029 811314
2030 011320
2031 9811322
2932 011324
2033 011326
2034 011339
2035 911332
2036 911334
2037 911336
2038 011349
2039 011344
2049 911346
2041 911352
2042 011354
2043 011356
2944 611369
2045 ©@11362
2046 ©B11364
2947 911370
2048 011372
2049 ©11374
2050 A11376
2051 ©11400
2¢52 @114@2
2053 011406
2054 911419
2055
2056
2057
2058
2059
2060
2061
2062
2063
2064
2065
2066
2067
2068
2069
2970
2071 011412
2072 9211414
2073 911422
2074 211432
2975 ©11436
2076 911442
2077 011444
2078 011450
2079 2811452
2086 011456
2081 9811462
2082 @11464

T36

212700
pa5037
804737
164413
811501
820001
po1401
124005
805300
8902367
B0¥5900
153700
194413
052714
811501
2329001
231401
104095
@05900
1537920
104412
811501
920021
aBL401
104305
932714
991401
124901

800004
812767
212767
212767
165737
901443
912701
210302
862702
942702
000005
210314

CLR RO ;SET RO TO WHAT THE DATA SHOULD BE
MOV @TADB,R1 $READ DATA BYTE
BEQ is ;BR IF DATA = @
ERROR 5 1ST BYTE NOT = @
is: WAITXFER sWAIT ON "XFER REQ®
MOV @TADB,R1 ;READ SECOND DATA BYTE
BEQ 2s 3BR IF 2ND BYTE = @
ERROR 5 ;DATA WASN’T = 0
2s: WAITXFER JWAIT ON "XFER REQ"
MOV @TADB,R1 sREAD FIRST CRC BYTE
BEQ 3s 3BR IF 18T CRC BYTE = ¢
ERROR 5 51ST BYTE OF CRC BAD
3s: WAITXFER sWAIT ON "XFER REQ®
MOV @TADB,R1 ;READ SECOND CRC BYTE
BEQ 4s iBR IF 2ND CRC BYTE = 9
ERROR 5 $2ND BYTE OF CRC BAD
600020 4s: BIS #ILBS,@TACS
WAITREADY sWAIT FOR "READY"
TST @TACS ; "ERROR"™ SHOULD BE = {
BMI 58 sBR IF "ERROR" Is =i
ERROR 1
040000 582 BIT #CRCERR,@TACS ;IS THE ERROR A ®CRC" ERROR?
BNE TST36 $:GO TO NEXT TEST IF YES
ERROR 1 ;s THE ERROR WASN’T A "CRC"™ ERROR
i: B 133 L
;#TEST 36 TEST "CRC" CIRCUIT USING A COUNT PATTERN
PIERHEFABUNBERS EHEE RS i
TST36: SCOPE
#20012 167776 MOV #10.,STIMES ;300 10, ITERATIONS
911272 167710 MOV #35,SLPADR ET SCOPE LOOP ADDRESS
811112 167764 MOV #TST37,SESCAPE ;;ESCAPE TO TEST 37 ON ERROR
RESET ;CLEAR ALL
MOV DRIVE,RTACS ;SELECT DRIVE
000017 MOVB $REWIND!GO,RTACS ;GO TO "BOT"
WAITREADY ;WAIT ON "READY" TO SET
099001 MOVB #WFGIGO,@TACS $GET ON OXIDE
WAITREADY ;WAIT ON “READY" TO SET
2003717 MOV #377,R9O ;FIRST DATA PATTERN AND COUNTER
900003 Move #WRITE}GO,8TACS 3 START A WRITE
WALITXFER sWAIT ON "XFER REQ® TO SET
182 MOV RO, R@TADB sWRITE A BYTE ON TAPE
WAITXFEFR sWAIT ON "XFER REQ" TO SET
MOV eTADB,R1 sGET BACK THE LAST BYTE WRITTEN
CMP R@,R1 H AND CHECK IT
BEQ 2$ 3BR IF IT LOOKS GOOD
ERROR S ; THE DATA IN TADB wAS BAD
2s: DEC RO 3NEXT PATTERN
BGE 1s ;BR IF MORE TO DO
600020 BIS $ILBS,@TACS JWRITE THE "CRC™
WAITREADY ;WALT ON "READY"™ TO SET
TST 8TACS ;ANY ERRORS OCCUR?
BPL 3s sBR IF NO
ERROR 1 ;ERROR OCCURRED DURING WRITE
[LF 3] 3s: MOvVB #BSBG!GO,RTACS ;BACK OVER THE DATA BLOCK
WALTREADY JWAIT ON "READY" TO SET
200095 MOVB #READ!GO, @TACS 3 START A "READ"
MAINDEC=11<DZTAB~C MACY11 27(732) 11=JUN=T76 13:26 PAGE 42
TEST "CRC" CIRCUIT USING A COUNT PATTERN
800377 MOV $377,R0O sFIRST DATA PATTERN AND COUNTER
213774 CLR B4CRC, WD sINITIALLIZES THE "CRC WORD*®
213654 45z JSR PC,@#D0,CRC sCOMBINE THIS BYTE [Rp) WITH THE "CRC WORD"
WAITXFER sWAIT ON "XFER REQ" TO SET
MOV RTADB,R1 JREAD A BYTE FROM TAPE
cMP RO,R1 3Is IT VALID?
BEQ 5s :BR IF YES
ERROR 5 ;BAD DATA READ FROM TAPE
5s: DEC RO $NEXT PATTERN
BGE 4s ;BR IF MORE TO READ
CLR RO ;GET LOW BYTE OF "CRC WORD®
¥13774 BISR @4CRC,WD,RO
WAITXFER sWAIT ON "XFER REQ" TO SET
000020 BIS $ILBS,@TACS 3SHUT DOWN THE "READ" OPERATION
MOV @TADB,R1 $PICK FIRST BYTE OF TU6@ "CRC"
cMp Ré,RY 3Is IT GOOD?
BEQ 6 sBR IF YES
ERROR 5 3FIRST BYTE OF TU6@ "CRC" IS BAD
683 CLR RO JGET HIGH BYTE OF "CRC WORD"
213775 BISB @#CRCWD+1,R0O
WALITREADY sWAIT ON "READY" TO SET
MOV @TADB,RL JREAD THE 2ND BYTE OF TU68 "CRC*®
CMP RO, R1 ;IS IT GOOD?
BEQ 1s :BR IF YES
ERROR 5 sHIGH BYTE OF ®CRC® IS BAD
149090 782 BIT #ERROR!{CRCERR,@TACS ;ERROR AND CRCERR SHOULD BE = 0
BEQ TST37 $:BR IF THEY ARE
ERROR 1 ; (ERROR | CRCERR) = 1
RSS2 S22 S22 2222 ST s * i
;THIS TEST REQUIRES BOTH DRIVES ,
sFOR THE FOLLOWING DESCRIPTION DRIVE "i" IS THE DRIVE UNDER TEST
;AND DRIVE "2" Is THE OTHER DRIVE
H
sTEST DESCRIPTION
31) REWIND DRIVE 1
32) WAIT FOR READY TO SET
:3) START DRIVE 2 REWINDING
34) WAIT FOR READY TO CLEAR
35) SELECT DRIVE {1 AND CHECK THAT READY IS STILL SET
36) SELECT DRIVE 2 AND CHECK THAT READY IS STILL CLEAR
H
s #TEST 37 TRY TO HANG "READY" ON "REWIND"
FrER bbb g #EERER kR
TST37: SCOPE
000005 167544 MOV #5,STIMES ;3D0 5 ITERATIONS
011436 167456 MOV #15,SLPADR 3 $SET SCOPE LOOP ADDRESS
811552 167532 MOV #TST40,SESCAPE ;;ESCAPE TO TEST 46 ON ERROR
921225 183 TSTB REDRVKEY+{ ;TESTING TWO DRIVES?
BEQ TST4¢ ;:BR IF NO
000001 MOV #1,R1 ;s SET TIMER
MOV DRIVE,R2 $SET R2 TO THE OTHER DRIVE
200400 ADD $UNIT,R2
177377 BIC #°CUNIT,R2
RESET sCLEAR ALL
MOV DRIVE,@TACS 3 SELECT 1ST DRIVE

MAINDEC=11<DZTAB=C
TEST "DATA OF ¢ GIVES CRC OF ¢"

MACY11 27(732)
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SEQ 0055

SEQ ©¥056



TA11 BASIC LOGIC TEST (PART 2)

DZTABC ,NEW

2083 011466
2084 011478
2085 0911472
2086 ©11474
2087 9011500
2088 011592
2089 ©11504
2099
2091
2092
2093 @11546
2094 0811512
2095 ©11514
2096 @11516
2097 811522
2098 @11526
2099 ©11530
2100 011532
2101 @11534
2102 ©11540
2193 811544
2104 911546
2105 ©11559
2106
2107
2108
2109
2110
2111
2112
2113
2114
2115
2116
2117
2118
2119
2120
2121
2122
2123
2124 ©11552
2125 011554
2126 ©11562
2127 ©11579
2128 @11576
2129 @11602
21390 911604
2131 ©11610
2132 011612
2133 011616
2134 911622
2135 011624
2136 B11626
2137 011632
2138 011634

TA11 BASIC LOGIC

DZTABC NEW

2139 911640
2140 011642
2141 211644
2142 9211646
2143 011652
2144 PN11654
2145 Q11656
2146

2147

2148

2149 011660
2150 911664
2151 0811666
2152 011670
2153 011674
2154 011676
2155 @11702
2156 ©11704
2157 9811706
2158 ©11710
2159 @11714
2160 011716
2161 011720
2162 0911722
2163 011724
2164 011730
2165 911732
2166 ©611734
2167 ©11736
2168 011740
2169 011744
2170 0811746
2171 811752
2172 @11754
2173 911756
2174 911760
2175 811762
2176 811764
2177 @11766
2178 011770
2179 ©11772
2189 011774
2181 0811776
2182 ©12002
2183 012004
2184 012006
2185 ©12010
2186 012012
2187 0912016
2188 012020
2189 912022
2190 012024
2191 012026
2192 ©12030
2193 012032
2194 B12036

T37

104412
p19214
104412
112714
806301
801001
104001

832714
891372
p1o314
112714
832714
901001
104931
910214
112714
032714
901401
104001
104412

AN0dN4
212767
912767
012767
105737
901554
812701
210302
362702
842702
POVYYOS
010314
112714
104412
112714

T40

104412
012214
104412
112714
606301
201001
104001

0932714
901372
810314
112714
104413
112715
104413
195015
104413
052714
104412
805714
100031
104001
112714
184412
005714
100901
1840081
112714
104413
012700
211501
820091
001401
104005
104413
605000
#1150t
091401
104005
104413
852714
104412
995714
190001
124001
112714
104412
905714
100001
104001
210214
104412
112714
812701
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TRY TO HANG “READY" ON "REWIND"

MACY11 27(732)

11=JUN=76 13:26 PAGE 43 SEQ 0057

WAITREADY JWAIT ON "READY"
MOV R2,@TACS s SELECT 2ND DRIVE
WAITREADY ;WAIT ON "READY"
P00017 MOVB #REWIND!GO,RTACS ;SEND 2ND DRIVE TO BOT
28: ASL R1 sGIVE "READY" TIME TO CLEAR
BNE 3s
ERROR i s"READY" FAILED TO CLEAR
sNOTE: THIS ERROR OCCURRED ON THE
s2ND DRIVE, I,E, IF TESTING DRIVE A
s THEN DRIVE B FAILED
#0040 3s: BIT #READY,@TACS sWAIT FOR "READY" TO CLEAR
BNE 28
MOV DRIVE, @TACS ;SELECT 1ST DRIVE
200016 MovB #REWIND,@TACS sLOAD A "REWIND"
9008040 BIT #READY,@TACS ;CHECK "READY™
BNE 48 3BR IF STILL SET
ERROR 1 ;"READY" WAS CLEAR
4s: MOV R2,@TACS s SELECT 2ND DRIVE
000016 MOVE #REWIND, @TACS ;LOAD A REWIND
200040 BIT #READY, 8TACS 3 CHECK "READY"®
BEQ 5% sBR IF STILL CLEAR
ERROR 1 s "READY" WAS SET
582 WAITREADY ;WAIT ON "READY"
PO UEBEIR BT R A R ISR RSP R RS ETT T R
;THIS TEST REQUIRES BOTH DRIVES .
;FOR THE FOLLOWING DESCRIPTION DRIVE "1" 1s THE DRIVE UNDER TEST
;AND DRIVE "2* 1S THE OTHER DRIVE
;
sTEST DESCRIPTION
1) REWIND DRIVE 1
32) WFG ON DRIVE 1
:3) START A REWIND ON DRIVE 2
34) WHILE DRIVE 2 1S REWINDING WRITE DATA ON DRIVE 1
15) CHECK FOR ERRORS
36) START A REWIND ON DRIVE 2
37D WHILE DRIVE 2 IS REWINDING READ DATA FROM DRIVE 1
38) CHECK FOR ERRORS
;:i&lli&liwﬁ%‘ﬂilii*l*li“l!lhl’*ﬂli&ii**i'lﬁill*i**%ﬂill‘l”lﬂ*’“!
s #TEST 40 TRY TO GLITCH THE "POWER SUPPLY"
;;«a&*»»ui*»;ni&n&*b{l{&i&ani&*&»l&i*u&*&«&nibiinn*l&n*&ii&ﬁﬁw&*i
TST4A: SCOPE
P00Y05 167404 MOV #5,STIMES ;3;D0 5 ITERATIONS
¥11576 167316 MOV #1$,SLPADR ;3 SET SCOPE LOOP ADDRESS
012134 167372 MOV #TST41,SESCAPE ;;ESCAPE TO TEST 41 ON ERROR
801225 1s: TSTB @#DRVKEY+1 ;TESTING TWO DRIVES?
BEQ TST41 ;3BR IF NO
2VvN01 MOV #1,R1 ;s SET TIMER
MOV DRIVE,R2 sSET R2 TO THE OTHER DRIVE
000400 ADD #UNIT,R2
177377 BIC #°CUNIT,R2
RESET ;CLEAR ALL
MOV DRIVE,R@TACS ;SELECT 1ST DRIVE
©¥oRR17 MOvB #REWIND!GO,@TACS sREWIND TO BOT
WAITREADY ;WAIT ON "READY"
200031 MOVB $WFG1GO,BTACS ;GET ON OXIDE

MAINDEC=11=DZTAB«C
TRY TO GLITCH THE "POWER SUPPLY"

MACY11 27(732)

WAITREADY
MOV R2,RTACS
WAITREADY
WopV17 MOVB #REWIND!GO,@TACS
2s: ASL R1
BNE 3s
ERROR 1
0v0040 3s: BIT #READY, 8TACS
BNE 28
MOV DRIVE,RQTACS
(L LLL K] MOVB #WRITE!GO,RTACS
WALTXFER
000377 MOVB #377,8TADB
WAITXFER
CLRB @TADB
WAITXFER
800020 BIS #ILBS,RTACS
WAITREADY
TST RTACS
BPL 4s
ERROR 1
200011 4s: MOVB #BSBG{GO,RTACS
WAITREADY
TST RTACS
BPL 58
ERROR
200005 58: MOVB #READ!GO,R@TACS
WAITXFER
8008377 MOV #377,R0
MOV @TADB,R1
cMp RO, RY
BEQ 65
ERROR 5
6s: WAITXFER
CLR RO
MoV @TADB,R1
BEQ 78
ERROR 5
783 WAITXFER
000020 BIS #ILBS,RTACS
WA1TREADY
TST @TACS
BPL 8s
ERROR 1
200011 8s3 MOVB #BSBG!GO,BTACS
WAITREADY
TST @TACS
BPL 9
ERROR
9862 MOV R2,@TACS
WAITREADY
000017 MOVB #REWIND!GO,@TACS
200001 MOV #1,R1

11=JUN=76 13:26 PAGE 44 SEQ @056

sWAIT ON "READY"

;SELECT 2ND DRIVE

sWAIT ON "READY"

$START A "REWIND"

;GIVE "READY" TIME TO CLEAR

;"READY" FAILED TO CLEAR

sNOTE: THIS ERROR OCCURRED ON THE
$2ND DRIVE, I,E, IF TESTING DRIVE A
3 THEN DRIVE B FAILED

JWALT FOR "READY" TO CLEAR

$SELECT 1ST DRIVE

sWRITE WHILE THE QTHER DRIVE IS "REWINDING"
sWAIT ON "XFER REQ"
sWRITE 1ST BYTE

JWAIT ON "XFER REQ"
JWRITE 2ND BYTE

sWAIT ON "XFER REQ"
JWRITE "CRC" & SHUT DOwWN
sWAIT ON "READY"

3ANY ERROR?

:BR IF NO

sERROR OCCURRED DURING "WRITE"
;POSITION TAPE FOR "READ"
3WAIT ON "READY"

sANY ERROR?

;BR IF NO

;ERROR OCCURRED DURING "BSBG"
3 START A "READ"

sWAIT ON "XFER REQ"
;FIRST DATA PATTERN
sPICKUP FIST BYTE

;IS IT GOOD?

;BR 1F NO

;18T DATA BYTE IS BAD
sWAIT ON "XFER REQ"

32ND DATA PATTERN

:PICKUP 2ND BYTE

:BR IF IT IS GOOD

32ND BYTE IS BAD

sWAIT ON "XFER REQ"

s SHUT DOWN

sWAIT ON "READY®

s ERROR?

$BR IF NO

$ERROR OCCURRED

;POSITION FOR NEXT "READ"
sWAIT ON "READY"

$ERROR?

;BR IF NO

sERROR OCCURRED DURING *"BSBG
;SELECT 2ND DRIVE

sWAIT ON "READY"

$START A "REWIND"

3SET THE TIMER
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DZTABC,NEW T40 TRY TO GLITCH THE "PQWER SUPPLY"

2195 012042 0905201 10s: INC R1 sGIVE "READY®™ TIME TO CLEAR

2196 012044 001001 BNE 11s

2197 912046 104001 ERROR 1 3 "READY™ FAILED TO CLEAR

2198 sNOTE: THIS ERROR OCCURRED ON THE

2199 32ND DRIVE, I,E, IF TESTING DRIVE A

2200 3 THEN DRIVE B FAILED

2201 712050 932714 600040 11s: BIT $READY, @TACS ;WAIT FOR "READY* TO CLEAR

2202 @12054 001372 BNE 10s

2203 012056 0210314 MOV DRIVE,@TACS $SELECT 1ST DRIVE

2204 012060 104412 WAITREADY sWAIT ON "READY"

2205 012062 112714 ¢DO0YS MOVB #READ!GO,@TACS 3 "READ" WHILE OTHER DRIVE IS "REWINDING¥

2206 ©12066 1904413 WAITXFER ;WAIT ON "XFER REQ"

2207 @12070 @12706 000377 L #377,R0 31ST DATA PATTERN

2208 012074 011501 MOV 8TADB,RY $READ 1ST BYTE

2209 812076 020001 cup RO,RY ;1S IT GOOD?

2210 012100 @O1401 BEQ 128 3BR IF NO

2211 9012192 194205 ERROR 5 31ST BYTE FAILED

2212 912104 104413 1282 WAITXFER sWAIT ON "XFER REQ"

2213 012106 095000 CLR RO 32ND DATA PATTERN

2214 012110 011501 MOV RTADB,R1 $READ 2ND BYTE

2215 012112 ¢01401 BEQ 138 $BR IF IT IS GOOD

2216 612114 104095 ERROR S 32ND BYTE FAILED

2217 9012116 104413 13s: WAITXFER sWAIT ON “XFER REQ®

2218 912122 952714 000020 BIS #1LBS,BTACS 3 SHUT DOWN

2219 012124 1v4412 WAITREADY sWAIT ON "READY"®

2229 ©12126 095714 TST @TACS ;ERROR?

2221 912130 100001 BPL TST41 ;3BR IF NO

2222 912132 104901 ERROP 1 3 ERROR OCCURRED

2223 EE * # # i b A A i

2224 s#TEST 41 END OF TEST CODE

2225 SINBEBURBBR BB R BB R RN AR BEL * *

2226 012134 000904 TST41: SCOPE

2227 @12136 012767 0000901 167022 MOV #1,STIMES 33P0 1 ITERATION

2228 ©12134 9800005 RESET

2229 ©12146 08168314 MOV DRIVE,@TACS ;SELECT DRIVE

2230 912150 112714 000wl MOVB #REWIND!GO,R@TACS

2231 0812151 104412 WAITREADY

2232 «SBTTL END OF PASS ROUTINE

2233

2234 JoRBREREE * L2 2 * R

2235 3#INCREMENT THE PASS NUMBER ($PASS)

2236 ;#TYPE "END PASS®

2237 ;#1F THERES A MONITOR GO TO IT

2238 ;#IF THERE ISN°T JUMP TO START

2239 s#IF IT IS DESIRED TO HAVE A BELL INDICATE THE "END OF PASS™ LOCATION

2240 ;#SENDMG CAN BE CHANGED TO 7,

2241

2242 912156 SEOP:

2243 012156 009024 SCOPE

2244 912168 205067 166716 CLR STSTNM $32ERO THE TEST NUMBER

2245 912164 005067 166776 CLR $TIMES 3 32ERO THE NUMBER OF ITERATIONS

2246 0912179 005267 166704 INC 8PASS ;3 INCREMENT THE PASS NUMBER

2247 ©12174 942767 100000 166676 BIC #100000, SPASS 33DON“T ALLOW A NEG, NUMBER

2248 812202 905327 DEC (PC)+ ;3 LOOP?

2249 912204 0009921 SEOPCT: ,WORD 1

2250 012296 PP3915 BGT $DOAGN $3YES
TA11 BASIC LOGIC TEST (PART 2) MAINDEC=11~DZTAB=C MACY11 27{(732) 11-JUN=T76 13:26 PAGE 46 SEQ 0060
DZTABC NEW END OF PASS ROUTINE

2251 9012210 9812737 MOV (PC)+,@(PC)+ s sRESTORE COUNTER

2252 ©12212 08990001 $ENDCT: ,WORD 1

2253 @12214 812204 SEOPCT

2254 912216 104401 012251 TYPE » SENDMG ;3 TYPE "END PASS™

2255 012222 013709 000042 SGET42: MOV @#42,R0 33GET MONITOR ADDRESS

2256 912226 0891405 BEQ $DOAGN 3 sBRANCH IF NO MONITOR

2257 ©12230 209005 RESET 3 3CLEAR THE WORLD

2258 ©12232 0924713 SENDAD: JSR PC, (RO) 33GO TO MONITOR

2259 012234 000249 NOP $3SAVE ROOM

2269 0912236 000242 NOP 3 sFOR

2261 ©12210 pvB240 NOP ;sACTI1

2262 ©12242 SDOAGN:

2263 ©12242 6002137 JMp @(PC)+ 3 sRETURN

2264 612244 9002220 SRTNAD: ,WORD START

2265 012246 31717 371 200 SENULL: ,BYTE =1,=1,0 5 sNULL CHARACTER STRING

2266 012251 015 942412 @42116 SENDMG: (ASCIZ <15><{2>/END PASS/

2267 912256 952042 051501 600123
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DZTABC,NEW SCOPE HANDLER ROUTINE

2268 LSBTTL SCOPE HANDLER ROUTINE
2269
2270 33 * ¥ BHE * ERRERS
2271 ;#THIS ROUTINE CONTROLS THE LOOPING OF SUBTESTS, IT WILL INCREMENT
2272 ;#AND LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG,(DISPLAY<7:@>)
2273 3#AND LOAD THE ERROR FLAG (SERFLG) INTO DISPLAY<15:08> ¢
2274 ;#THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:
2275 ;4sW14=1 LOOP ON TEST
2276 ;#SWi1=t INHIBIT ITERATIONS
2277 ;4SWO9=1 LOOP ON ERROR
2278 $#5W08=1 LOOP ON TEST IN SWR<7:0>
2279 ;#CALL
2280 e SCOPE $ 3 SCOPE=IO0T
2281
2282 912264 $SCOPE:
2283 012264 194406 CKSHR ;3TEST FOR CHANGE IN SOFT=SWR
2284 012266 032777 040000 166644 153 BIT $BIT14,85WR $1LOOP ON PRESENT TEST?
2285 12274 001111 BNE SOVER ;3YES IF SWi4=z1
2286 ;#4444START OF CODE FOR THE XOR TESTER#####
2287 ©12276 00416 $XTSTR: BR 6$ ;3IF RUNNING ON THE "XOR® TESTER CHANGE
2288 ;3THIS INSTRUCTION TO A "NOP" (NOP=240)
2289 012300 813746 000004 MoV @4ERRVEC,=(SP) ;3;SAVE THE CONTENTS OF THE ERROR VECTOR
2290 012304 812737 @12324 000004 MoV #58, 84ERRVEC :3SET FOR TIMEOUT
2291 012312 095737 177060 TST 84177060 ;3 TIME OUT ON XOR?
2292 912316 012637 200004 MOy (SP)+,@$ERRVEC ;3RESTORE THE ERROR VECTOR -
2293 012322 000463 BR §SVLAD ;360 TO THE NEXT TEST
2294 912324 022626 58: cMp (SP)+,(SP)+ ;3CLEAR THE STACK AFTER A TIME OUT
2295 ©12326 12637 000004 MOV (SP)+,@#ERRVEC ;;RESTORE THE ERROR VECTOR
2296 ¢12332 8920423 BR s $3LOOP ON THE PRESENT TEST
2297 12334 6St;#444#KEND OF CODE FOR THE XOR TESTER####%
2298 012334 832777 0083400 166576 BIT #BIT08, @SWR ;3LOOP ON SPEC, TEST? w
2299 012342 821404 BEQ 25 $31BR IF NO
2300 012344 127767 166570 166530 CMPB  @SWR,STSTNM 130N THE RIGHT TEST?  SWR<7T:0>
2301 812352 001462 BEQ SOVER ;1BR IF YES
2302 012354 105767 166523 28: TSTB  SERFLG ;$HAS AN ERROR OCCURRED?
2303 012360 8061421 BEQ 3s $3BR IF NO
2304 12362 126767 166527 166513 CMPB  SERMAX,SERFLG  ;:MAX, ERRORS FOR THIS TEST OCCURRED?
2305 012370 101915 BHI 35 $1BR IF NO S
2306 012372 032777 001000 166540 BIT #BITO9, BSUR ;3LOOP ON ERROR? E
2307 912400 001404 BEQ as ;$BR IF NO
2308 012402 ©16767 166502 166476 7s: MoV SLPERR,$LPADR  ;3;SET LOOP ADDRESS TO LAST SCOPE
2309 012410 000443 BR SOVER
2312 812412 105067 166465 as: CLRB  SERFLG ERO THE ERROR FLAG
2311 ©12416 885267 166544 CLR STIMES LEAR THE NUMBER OF ITERATIONS TO MAKE
2312 712422 000415 BR 18 SCAPE TO THE NEXT TEST
2313 212424 832777 004009 166506 35: BIT #BIT11,BSHR NHIBIT ITERATIONS?
2314 012432 901011 BNE is R IF YES
2315 412434 805767 166440 TST SPASS F FIRST PASS OF PROGRAM
2316 ©¥12440 801406 BEQ 1s INHIBIT ITERATIONS
2317 ©12442 895267 166436 INC SICNT NCREMENT ITERATION COUNT
2318 912446 026767 166514 166430 cMp S$TIMES,SICNT HECK THE NUMBER OF ITERATIONS MADE
2319 012454 po2021 BGE SOVER R IF MORE ITERATION REQUIRED
2320 012456 012767 000001 166420 1s5: MOV #1,SICNT EINITIALIZE THE ITERATION COUNTER
2321 012464 816767 000044 166474 Moy SMXCNT, STIMES ET NUMBER OF ITERATIONS TO DO
2322 012472 105267 166404 §SVLAD: INCB  STSTNM OUNT TEST NUMBERS
2323 812476 11667 166404 MOV (SP), SLPADR ; 1SAVE SCOPE LOOP ADDRESS
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DZTABC .NEW SCOPE HANDLER ROUTINE 2 HmJUN-Te 13126 PAGL 48 SE0 0062
2324 012502 011667 166402 MOV (SP), SLPERR ;3SAVE ERROR LOOP ADDRESS
2325 012506 805067 166456 CLR SESCAPE ;1CLEAR THE ESCAPE FROM ERROR ADDRESS
2326 012512 112767 000001 166375 MOVB 41, SERMAX ;3ONLY ALLOW ONE(1) ERROR ON NEXT TEST
2327 ©12520 816777 166356 166414 SOVER: MOV STSTNM,@DISPLAY ;:DISPLAY TEST NUMBER
2328 812526 016716 166354 MoV SLPADR, (SP) ;:FUDGE RETURN ADDRESS
2329 012532 00902 RTI ;sFIXES PS
2330 12534 003720 SMXCNT: 2000, ;3MAX, NUMBER OF ITERATIONS
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2331

2332

2333

2334

2335

2336

2337

2338

2339

2349

2341

2342

2343

2344

2345 812536
2346 012536
2347 012549
2348 @12544
2349 012550
2358 012554
2351 012569
2352 ©12564
2353 012566
2354 012574
2355 912692
2356 012604
2357 @12619
2358 ©12614
2359 912020
2360 012626
2361 012634
2362 012642
2363 012644
2364 012652
2365 912654
2366 012654
2367 012669
2368 012662
2369 912664
2379 ©12666
2371 012674
2372 712676
2373 612702
2374 012796
2375 212719
2376 012714
2377 612714
2378 012722
2379 ©12724
2380 012726
2381 ©#12726
2382

104496
p11437
A11537
210037
210137
105267
891775
216777
8327177
¥011902
104401
0895267
011667
162767
117767
932777
PY1004
024767
104401

e0s7117
100002
300000
194496
8327177
901402
B16716
0957617
991402
616716

0822737
201001
202009

000002

901162
001164
ev1124
001126
166317

166310
892009
001172
166276
166276
000002
166264
220002

200060
¥we1177

166260

001000

166206
166262

166254

012232
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2383

2384

2385

2386 912739
2387 Q12734
2388 ©12736
2389 012742
2399 912744
2391 #12746
2392 912754
2393 012752
2394 012756
2395 ©12762
2396 912764
2397 912766
2398 012772
2399 912776
2490 013¢09
2401 013002
2402 0130024
2403 013010
2404 0213012
2405 013014
24906 013016
2497 013222
2408 913224
2499 013024
2410

2411 013026
2412 p13030
2413 013032
2414 013034
2415 013040
2416 @13042
2417

104101
210046
113700
©¥90530290
896300
906309
006300
062729
912067
104401
000000
104401
812067
9v1404
104101
¥00V20
104401
812000
291004
212600
104401
0900207

813246

1644902
9095710
8921770
104401
200771
420040
0139046

an1177

001114

991236
090002

901177

300004

001177

901177

913042

000
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+SBTTL ERROR HANDLER ROUTINE

i) ERRRAR RS # e
;#THIS ROUTINE WILL INCREMENT THE ERROR FLAG AND THE ERROR COUNT,
;#SAVE THE ERROR ITEM NUMBER AND THE ADDRESS OF THE ERROR CALL
;#AND GO TO TYPERR ON ERROR

;#THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:

s #SW15=1 HALT ON ERROR
s#SW13=1 INHIBIT ERROR TYPEOUTS
s #SW10=1 BELL ON ERROR
;#SWA9=1 LOOP ON ERROR
s #CALL
® ERROR N s sERROR=EMT AND N=ERROR ITEM NUMBER
SERRUR:
CKSWR 33 TEST FOR CHANGE IN SOFT=SWR
MOV @TACS,@#SREGPO ;s SAVE THE STATUS REG,
MOV @TADB,@#SREG1 s SAVE THE DATA BUFFER
MOV RO, @#SGDDAT ;RO WILL CONTAIN THE GOOD DATA
MOV R1,@#SBDDAT ;R1 WILL CONTAIN THE BAD DATA
783 INCB SERFLG ;3SET THE ERROR FLAG
BEQ 78 33DON’T LET THE FLAG GO TO ZERO
166346 MOV STSTNM,@DISPLAY ;;DISPLAY TEST NUMBER AND ERROR FLAG
166336 BIT #BIT1@,RSWR ; $BELL ON ERROR?
BEQ 18 ;3NO = SKIP
TYPE + $BELL $sRING BELL
1s: INC SERTTL ;3COUNT THE NUMBER OF ERRORS
MOV (SP),SERRPC 3 3GET ADDRESS OF ERROR INSTRUCTION
166270 sus #2,SERRPC
166269 MOvVB @SERRPC,SITEMB ;;STRIP AND SAVE THE ERROR ITEM CODE
166276 BIT #BIT13,R@SWR $3SKIP TYPEOUT IF SET
BNE 20s ;3 SKIP TYPEOUTS
JSK PC, TYPERR 3:GO TO USER ERROR ROUTINE
TYPE » SCRLF
208
2s: TST @SWR $ sHALT ON ERROR
BPL 3s 33 SKIP IF CONTINUE
HALT ; sHALT ON ERROR!
CKSWR ;s TEST FOR CHANGE IN SOFT=SWR
166244 3s: BIT #BITO9,BSWR ;:LOOP ON ERROR SWITCH SET?
BEG 4s ;:BR IF NO
MOV SLPERR, (SP) ;sFUDGE RETURN FOR LOOPING
4s: TST SESCAPE ; sCHECK FOR AN ESCAPE ADDRESS
BEQ Ss ;3BR IF NONE
MOV SESCAPE, (SP) ;3FUDGE RETURN ADDRESS FOR ESCAPE
5s:
200042 CMP #SENDAD,@#42 33ACT=11 AUTO=-ACCEPT?
BNE 6S ; $BRANCH 1F NO
HALT ;3 YES
68
RTIL 3 sRETURN
MAINDEC<~11<DZTAB=C MACY11 27(732) 11=JUN=T6 13:26 PAGE S¢

R T
;s THIS ROUTINE WILL TYPEOUT THE ERROR MESSAGES

TYPERR: TYPE ¢+ SCRLF sTYPE A CARRIAGE RETURN & LINE FEED
MoV RA,=(SP) 3 SAVE RO
MOVB @#SITEMB,RO sPICKUP THE ITEM INDEX
DEC RO sADJUST THE INDEX
ASL RO 380 IT WILL WORK FOR
ASL RO ;s THE ERROR TABLE
ASL RO
ADD #SERRTB,RO ;FORM THE TABLE POINTER
MOV (RA)+,18 ;PICKUP "ERROR MESSAGE™ POINTER
TYPE s TYPE "ERROR MESSAGE"
18: [ s "ERROR MESSAGE POINTER" GOES HERE
TYPE +$CRLF
MOV (RO)+.28 sPICKUP "DATA HEADER® POINTER
BEQ 3s ;IF "2" DON’T TYPE
TYPE ;TYPE "DATA HEADER
2s8: @ s "DATA HEADER"™ POINTER GOES HERE
TYPE + SCRLF
3s: MOV (RO) +,RO sPICKUP "DATA POINTER"
BNE 5s 3 IF THERE IS DATA TO TYPE GO DO IT
4s: MOV (SP)+,R0 ;RESTORE RO
TYPE +SCRUF sTYPE A CARRAGE RETURN&LINE FEED
RTS pC 3 RETURN
5s:
MOV @(RA)+,=(SP) 33SAVE @(R@)+ FOR TYPEOUT
3 3TYPE DATA
TYPOC 33GO TYPE==OCTAL ASCII(ALL DIGITS)
TST (RO) s TERMINATOR?
BEQ 4s ;BR IF YES
TYPE 168 sTYPE 2 SPACES
BR 5s sLOOP
682 +ASCIZ s/ / 3ASCII STRING OF 2 SPACES

+EVEN

SEQ 08063

SEQ 0064
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DZTABC,NEW ROUTINE TO WAIT ON THE READY BIT TO SET

2418 3 uuR REEH e T T R R T
2419 sROUTINE TO WAIT ON THE READY BIT
2420
2421 913046 WAIT,ON,READY:
2422 9213046 005067 000044 CLR WAIT2 ;SETUP MAX, TIME TO WAIT ON "READY"
2423 013052 016767 069060672 B0U0044 MOV MAXCNT, HGHTIM
2424 013060 012637 001202 MOV (SP)+,@#SAVPC 3GET THE PC OF THE WAITREADY INSTRUCTION
2425 013064 162737 000002 901202 suB #2,8#SAVPC
2426 013072 012637 001204 MOV (SP)+,@#SAVPS 3 SAVE THE PS
2427 013876 832714 000040 WAITt: BIT #READY,RTACS sREADY=17
2428 9131062 001013 BNE WAIT3 ;GO ON IF YES
2429 013104 105714 TSTB @TACS ;CHECK TRANSFER REQUEST
2430 913106 109002 BPL WAIT4
2431 013116 104964 ERROR 4 s "TRANSFER REQUEST"™ SET WHILE WAITING ON "READY®
2432 ©13112 p0040n? BR WAIT3
2433 ©13114 005227 WAIT4: INC (PC)+ ;COUNT FAST COUNTER
2434 213116 000020 WAIT2: ©
2435 ©13120 0891366 BNE WAIT1 ;GO CHECK "READY" AGAIN
2436 ©13122 005327 DEC (PC)+ ;COUNT LOOP COUNTER
2437 913124 ©¢YP0Y0 HGHTIM: @
2438 ©13126 003363 BGT WAITY GO LOOP AGAIN
2439 913130 194902 ERROR 2 3 "READY" FAILED TO SET
2440 813132 013746 001204 WAIT3: MOV @3$SAVPS,=(SP) ;GET THE STATUS BACK
2441 @13136 013746 001202 MOV @#SAVPC,=(SP) ;GET THE PC
2442 ©13142 062716 000602 ADD #2,(8P)
2443 B13146 808002 RTI
2444 013150 800000 MAXCNT: @
2445
2446 SIRBABEUBE AR RRBRE RS #* EeBREE #
2447 ;ROUTINE TO WAIT ON TRANSFER REQUEST
2448
2449 013152 WAIT,FOR,XFER,REQ:
2450 013152 00650867 B00V44 CLR 2S ;SETUP WASTE TIME LOOP
2451 013156 9813767 013158 030044 MOV @#MAXCNT, 38
2452 ©13164 012637 001202 MOV (SP)+,@#SAVPC ;GET THE PC OF THE WAITXFER INSTRUCTION
2453 013174 162737 400002 001202 SUB #2,8#SAVPC
2454 913176 012637 901204 MOV (SP)+,@#SAVPS 3 SAVE THE PS
2455 ©13202 105714 183 TSTB @TACS ;CHECK XFER REQ
2456 ©£13204 108414 BML 4s $EXIT IF SET
2457 813266 632714 009040 BIT #READY,RTACS ;LOOK AT READY
2458 0813212 901402 BEQ 5s 3BR IF "READY" ISN’T SET
2459 913214 104204 ERROR 4 s "READY" SET WHILE WAITING FOR "XFER REQ"
2460 913216 Y0P4d7 BR 4s
2461 013220 805227 583 INC (PC)+ sCOUNT
2462 ©13222 809009 2s3 ]
2463 013224 801366 BNE 1s ;BR IF MORE TO DO
2464 013226 B0O5327 DEC (PCH+
2465 013230 POBOVD 3s: [
2406 ©13232 9803363 BGT 1s
2467 V13234 104003 ERROR 3 ;s "TRANSFER REQUEST" FAILED TO SET
2468 ©13236 ©13746 VV1204 4ss MOV @#SAVPS,=(SP) sGET THE STATUS BACK
2469 913242 013746 001202 MOV @¥SAVPC, =(SP) 3GET THE PC
2470 ©13246 P62716 00B0V2 ADD #2,(SP)
2471 ©13252 202002 RTI :GO BACK
TA11 BASIC LOGIC TEST (PART 2) MAINDEC=11-DZTAB=C MACY11 27(732) 11=-JUN=76 13:26 PAGE 52 SEQ 0066
DZTABC,NEW ROUTINE TO WAIT ON TRANSFER REQUEST
2472 PIBBRERLRR VBB RLRAB LR 21 223 ET T2
2473
247; «SBTTL ROUTINE TO ASK THE OPERATOR WHAT DRIVE(S) TO TEST
247
2476 sCALL
2477 H JSR PC, @%ASKDRYV
2472 H RETURN ;NOTE: R@ AND Ri ARE DESTROYED
247
2480 913254 194401 016744 ASKDRV: TYPE s MSGDRV ;s <CRLF>"DRIVE(S)? "
2481 @13260 ©U5067 165749 CLR DRVKEY
2482 013264 104419 RDLIN ;GO GET A DRIVE
2483 P13266 012600 MOV (SP)+,RE ;SETUP TO CHECK FOR VALID DRIVE(S)
2484 913270 105712 TSTB @Ro ;WAS A DRIVE SELECTED?
2485 @13272 801425 BEQ NOTLGL 3BR IF NO
2486 013274 812701 0061224 MOV #DRVKEY,R1
2487 ©13390 122712 000101 Loop: CMPB #°A,@RQ ;WAS DRIVE "A" SELECTED?
2488 913304 06010082 BNE NOTA :BR IF NO
2489 @133066 112021 MOVB (RO)+, (R1}+ ;SET KEY FOR DRIVE "A"
2499 $13310 @08411 BR NEXT
2491 813312 122710 ©YV162 NOTA: cMPB #°B,@RO ;WAS DRIVE "B" SELECTED?
2492 013316 801002 BNE NOTB sBR IF NO
2493 @0133206 11282t MOVB (RO)+,(R1)+ 3SET KEY FOR DRIVE “B"
2494 013322 0200404 BR NEXT
2495 913324 122719 000054 NOTB: CMPB #54,@R0 ;WAS A COMMA TYPED?
2496 013330 001006 BNE NOTLGL $BR IF NO
2497 013332 105720 TSTB (RO)+ ;DUMP THE COMMA
2498 9813334 105710 NEXT: TSTB @RO ;s TERMINATOR?
2499 0913336 901406 BEQ EXIT 3BR IF YES
2500 ©133406 222701 001226 CMP #DRVKEY+2,R1 3 TWO DRIVES SELECTED?
2561 ©13344 101355 BHI LoopP sBR IF NO
2502 ©13346 104401 001176 NOTLGL: TYPE +SQUES 3 ILLEGAL INPUT DETECTED
2503 013352 800740 BR ASKDRV 3GO TRY AGAIN
2504 013354 005767 165644 EXIT: TST DRVKEY ;ANY DRIVE SELECTED?
2505 ©13360 0061772 BEQ NOTLGL 3BR IF NO
2506 913362 0909207 RTS PC
2507
2508 FEET TR 2 * #
2509 ;CALL
2510 3JSR PC.@4ASKADR
2511
2512 @13364 G16046 ASKADR: MOV RO, =(SP) 3 SAVE RO
2513 @13366 1P4401 016760 183 TYPE +MSGASK 3 "TACS?"
2514 013372 104411 RDOCT $GET VALUE
2515 ©13374 0612600 MOV (SP)+,R0O sPICK UP THE OCTAL NUMBER
2516 913376 061423 BEQ 3s 3IF "@® USE OLD VALUES
2517 ©13400 020027 1600600 cMp RO, #160000 sMAKE SURE IT IS A BUS ADDRESS
2518 ©13404 103770 BLO 1s
2519 0@13466 0186937 081206 MOV RO, @#TACSL ;SAVE TOE TACS
2520 013412 862700 000002 ADD #2,R0 $STEP TO TADB ADDRESS
2521 ©13416 618637 901212 MOV RO, @#TADBL ;AND SAVE IT
2522 913422 @13737 001206 001210 MOV @#TACSL,@#TACSH ;SETUP TACS UPPER
2523 ©13430 905237 001210 INC @#TACSH ;BYTE POINTER
2524
2525 ©13434 013737 001212 801214 MOV @#TADBL, @#TADBH ;SETUP TADB UPPER
2526 ©13442 095237 001214 INC @4 TADBH ;BYTE POINTER

2527 913446 104461 016770 3s: TYPE +MSGVEC $"VECTOR?"



P

TA11 BASIC LOGIC TEST (PART 2)

DZTABC,NEW
2528 9013452
2529 ©13454
2530 9213456
2531 913469
2532 013464
2533 013466
2534 0213472
2535 913476
2536 013502
2537 913506
2538 913512
2539 913512
2540 913514
2541 613520
2542 013522
2543 913524
2544 013526
2545 ¥13532
2546 913532
2547 ©@13536
2548 013542
2549 013546
2558 9213552
2551 #1355%
2552 913569
2553 913564
2554 913566
2555 9813572
2556 913576
2557 013600
2558 013604
2559 @©13610
2560 913612
2561 9213616
2562 913628
2563 913622
2564 913626
2565 013630
2566 013634
2567 013636
2568 013642
2563 013644
2570 713650
2571 ©13652

ROUTINE TO INPUT CSR,DBR,

194411
012600
eo1411
920027
103378
810037
0862700
210037
184401
194411
912699
891413
820027
101372
0003900
806200
006200
006209
242709
210337
104401
016746
124402
194401
P16746
104402
194401
216746
104402
104401
816746
104402
164401
104407
012600
822709
001406
822700
201403
164401
290651
194401
012600
889207

nP1020
091216
000002

081220
e17000

000007

177437
001222
917012
165434

817020
165426

817027
165420

017040
165412

@17953

99V0Y15
P0V131
201176

817061

TA11 BASIC LOGIC TEST (PART 2)

DZTABC NEW

2572

2573

2574

2575

2576

25717

2578 813654
2579 ©13654
2589 613656
2581 ©M13660
2582 413662
2583 213664
2584 @13666
2585 413674
2586 913700
2587 ©13702
2588 9213704
2589 013719
2590 913712
2591 ©13714
2592 @13716
2593 013729
2594 @13722
2595 9813724
2596 9813726
2597 ©13738
2598 213734
2599 013736
2608 ©1374@
2601 013742
2602 0213744
2693 213746
2604 913750
2605 913752
2606 9013754
2607 B13760
2608 ©13762
2609 913764
2610 ©813766
2611 913779
2612 813772
2613 0213774

2614

819046
2192140
#10246
010346
B124146
B#12767
016743
295901
810302
0842702
946000
096101
p1o104
40204
240102
2508402
0806282
193006
212791
0109104
040304
240103
858403
0060903
905327
2000309
903352
818367
012604
212603
912602
912601
812600
002297
0290000

090010
000074

177776

240002

2800014

MAINDEC=11=DZTAB=C

RDOCT
MOV
BEQ
CMp
BHIS
MOV
ADD
MOV
5s: TYPE
RDOCT
MOV
BEQ
CcMP
BHI
SWAB
ASR
ASR
ASR
BIC
MOV
683 TYPE
MOV
TYPOC
TYPE
MOV
TYPOC
TYPE
MOV
TYPOC
TYPE
MoV
TYPOC
TYPE
RDCHR
MOV
CcMp
BEQ
cMp
BEQ
TYPE
BR
782 TYPE
MOV
RTS

MAINDEC=-11-DZTAB=C
ROUTINE TO CALCULATE THE CRC

000054

MACY11 27(732)
AND VECTOR ADDRESS AND PRIORITY

(SP)+,R@

5s

RO, #1000

3s

RO, @#TAVEC
#2,R0

RO, RETAVEC+2
+MSGPRI

(SP)+,R0

$°C<340>,R0
RO,R@#TAPRIO
»MTACS

TACSL,~(SP)

+MTADB
TADBL, =(SP)

s MTAVEC
TAVEC, =(SP)

+MTAPRI
TAPRIO,=(SP)}

+ MSGOK

(SP)+,R0
#15,R9

(SP)+,R0
PC

MACY11 27(732)

11=JUN=76 13:26 PAGE 53

;MAKE SURE ADDRESS IS IN VECTOR AREA

$SAVE AS VECTOR ADDRESS

;ASK FOR PRIORITY

;IF "0" USE OLD VALUE
sMAKE SURE ITs VALID

;PUT INTO HIGH BYTE

3STORE IT AWAY
s TACS="
$3SAVE TACSL FOR TYPEOUT
33GO TYPE==OCTAL ASCII(ALL DIGITS)
3 "TADB="
$SAVE TADBL FOR TYPEOUT
3GO TYPE==OCTAL ASCII(ALL DIGITS)
3 "VECTOR="
$SAVE TAVEC FOR TYPEOUT
3GO TYPE~-=0CTAL ASCI1(ALL DIGITS)
s "PRIORITY="
SAVE TAPRIO FOR TYPEOUT
GO TYPE~=OCTAL ASCII(ALL DIGITS)
$"OK2"
;GO READ ONE CHARACTER
JGET IT
:Is IT "CR"?
sBRANCH 1F YES
;IS IT "y"?
;IT WAS
sTYPE "2
sAND LET HIM CORRECT THEM
sTYPE OUT “YES"
;RESTORE R@
sAND RETURN

;
i
;
;

i
i
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EEER s s e e s s 2 e a s I T e T T I e 2 1Y

;THIS ROUTINE WILL CALCULATE THE CRC

sCALL:
H JSK

DO.CRC:
Mov
MOV
MOV
MOV
MOV
MOV
MOV
182 CLR
MOV
BIC
ROR
ROL
MOV
BIC
BIC
BIS
ROR
BCC
MOV
MoV
BIC
BIC
BIS
2s: ROR
DEC
3s: [
BGT
MOV
MOV
MOV
MOV
MOV
MOV
RTS
CRC,WD: @

PC,D0,CRC

R, =(SP)
R1,<=(SP)
R2,=(SP)
R3,=(SP)
R4,<(SP)
#8,,38
CRC,.WD,R3
Ri

R3,R2
#°CBITéM,R2

#BIT14!BITB1,R1
R1,R4

R3,R4

R1,R3

R4,R3

R3

(PC)+

1s
R3,CRC, WD
(SP)+,R4
(SP)+,R3
(SP)+,R2
(SP)+,R1
(SP)+,R0O
PC

;R@=1 BYTE OF DATA

$3PUSH R@ ON STACK

ON STACK

ON STACK

ON STACK

ON STACK

sMAKE EIGHT ITERATIONS
;PICKUP THE CRC WORD

3GET THE TARTIAL CRC WORD

;STRIP AWAY EVERYTHING BUT BIT@O
;PULL OFF THIS BIT

;AND SETUP TO XOR IT

;FORM THE XOR OF ®Ri" AND "R2"

sRESULTS TO *R2*"

;FORM THE XOR OF "R1" AND "R3"

;RESULTS TO "R3"

sBR IF MORE BITS TO DO

STACK INTO R4
STACK INTO R3
STACK INTO R2
STACK INTO Ry
STACK INTO R@

;CRC WORD

SEQ 9067

SEQ 0068



TA11 BASIC LOGIC TEST (PART 2)
DZTABC,NEW

2615

2616

2617

2618

2619

2629

2621

2622

2623

2624

2625

2626

2627

2628

2629 2813776 012706 001100
2630 014002 813704 001206
2631 014006 013705 001212
2632 014012 098905

2633 ©14014 012737 013776
2634 ©14922 0994737 015002
2635 014026 010314

2636 914030 112714 000017
2637 ©149034 232714 000040
2638 9214040 091775

2639 014042 112714 000001
2640 014046 104412

2641 014050 932714 020000
2642 ©14054 091772

2643 014256 2Y0000

2644 014060 200746

2645

2646

2647

2648

2649

2650

2651

2652

2653

2654

2655

2656

2657

2658

2659

2660 ©14062 004737 014544
2661 014066 012796 ¥01100
2662 ©14072 n13704 001206
2663 ©¥14076 @13705 091212
2664 914102 0290905

2665 ©@14104 012737 014066
2666 ©14112 034737 015002
2667 @14116 0210314

2668 014120 112714 000017
2669 9014124 932714 000040
2670 ©14130 001775

TAt1 BASIC LOGIC TEST (PART 2)
DZTABC,NEW

2671
2672
2673
2674
2675
2676
2677
2678
2679
2680
2681
2682
2683
2684
2685
2686
2687
2688
2689
2690
2691
2692
2693
2694
2695
2696
2697
2698
2699
2700
2701
2702
2703
27v4
2705
2706
2707
2708
2709
2710
2711
2712
2713
2714
2715
2716
2717
2718
2719
2720
2721
2722
2723
2724
2725
2726

014132
314136
214142
614144
014146

914159
014154
014169
914164
¥14166
014174
»14200
914202
714206
014212
214214
914220
014224
214226

014230
014234
814240
614244
014250
$14252
014260
014264
014266
014272
914276
914300
214304

0904737
932714
801773
2800000
800747

012726
213704
213705
290045
912737
904737
910314
112714
832714
801775
804737
232714
#N1351
908772

0804737
012706
913704
013705
000005
012737
004737
210314
112714
232714
901775
112714
104412

MAINDEC=11=DZTAB=C
s¥uupunsres MANUAL ADJUSTMENT ROUTINES #swswmdwuss

001110

vo1110

MAINDEC=-

MACY11l 27(732) 11=JUN=76 13:26 PAGE 5§

/11177770707 770020770770077000700007007007077077770777077077777°70717777177
/111100077077 70000070770007000707700777000707777707007707077777°0070771777
;s THE FOLLOWING ROUTINES CAN BE USED TO MAKE ADJUSTMENTS TO THE TU6©
sNOTE: ### BEFORE USING ANY OF THE ROUTINES LOAD AND START AT 214 ###
/110117077007 0777707007700777707777777770777000770107710777770071771707777

L e e e
TO "EOT"

yE% #
WRITE FILE GAPS FROM "BOT"
3 START AT 22¢
s THIS ROUTINE CAN BE USED TO ADJUST THE "WRITE GAP MONO" AND
; THE "WRITE DELAY MONO",

SIHBARRINRBR RN BY *e NN i 6N
WFGSUB: MOV #STACK,SP sKEEP THE STACK OUT )F THE WAY
MOV @#TACSL, TACS sSETUP THE TA11 STATUS AND
MoV R#TADBL, TADB ;DATA BUFFER REGISIZRS

RESET ;RESET THE WORLD
MOV #WFGSUB, @# SLPERR sSETUP THE LOOP ON ERROR ADDRESS
JSR PC,R¥NXTDRV ;GO SETUP FOR NEXT DRIVE
MOV DRIVE,R@TACS 3 SELECT DRIVE
MOVB #REWIND!GO, RTACS ;SEND TAPE TO "BOT"

100s: BIT #READY, @TACS ;WAIT ON READY
BEQ 100$

1s: MOVB #WFG!GO,@TACS sWRITE A FILE GAP
WAITREADY sWAIT ON READY
BIT #LEADER,@TACS 3AT "CLEAR LEADER"?
BEQ 1$ sBR IF NO
HALT 3 STOP IF YES
BR WFGSUB :LOOP ON CONT,

* HHRREY * * 3 * FRUBFBRFERRRE

;s START AT 224

WRITE CONTINUOUS BLOCKS OF DATA

;s THE PROGRAM WILL HALT THREE(3) TIMES
sAFTER EACH HALT SET THE SWR AND PRESS CONTINUE

SHALT 1 === SWR<7:0> =
JHALT 2 === SWR<7:0> =

NUMBER OF BYTES PER BLOCK
PATTERN DESIRED

JHALT 3 === SWR<15:0> = OPERATIONAL SWITCH SETTINGS
sTHIS ROUTINE CAN BE USED TO ADJUST THE “GAP TIME MONO"

s## IF USING SOFTWARE SWITCH REGISTER, AFTER
H EACH HALT OPERATOR WILL BE PROMPTED
H FOR THE VALUE WITH "SWR=XXXXXX NEW="

PR e A Sttt ad

WRTSUB: JSR PC,R#SETBUF ;GET BLOCK SIZE AND PATTERN
WLOOP: MOV #STACK, SP sKEEP THE STACK OUT OF THE WAY
MOV @#TACSL,TACS s SETUP THE TA11 STATUS AND
MOV @#TADBL, TADB ;sDATA BUFFER REGISTERS
RESET ;RESET THE WORLD
MOV #4LO0P,@#SLPERR 3 SETUP THE LOOP ON ERROR ADDRESS
JSR PC,@#NXTDRV 3GO SETUP FOR NEXT DRIVE
MOV DRIVE,RTACS 3 SELECT DRIVE
MOVB #REWIND !GO, @TACS ;SEND TAPE TO "BOT"
100s: BIT #READY, @TACS sWAIT ON READY
BEG 192s
11=DZTAB=C MACY11 27(732) 11-JUN=76 13:26 PAGE 56

WRITE CONTINUOUS BLOCKS OF DATA

014660
020000

001100
091206
201212

014159
015002

200017
©V0¥0VB4Y

©v14722
220000

014544
001100
001206
901212

014234
015002

000017
000040

200081

vei1110

091110

182 JSR PCy@¥WRTBLK
BIT $LEADER, @TACS
BEQ 1s
HALT
BR wLooe

sWRITE A BLOCK

AT "CLEAR LEADER"?
$BR IF NO

;STOP IF "EOT"
;LOOP IF CONT,

R g e
H

READ CONTINUOUS BLOCKS OF DATA
s START AT 239

s THIS ROUTINE CAN BE USED TO ADJUST THE "SIGNAL MONO*

;AND THE "THRESHOLD POT",

PR R e HHRE R RER
RDSUB: MOV $STACK, SP
MOV @#TACSL, TACS
MOV @#TADBL, TADB
RESET
MOV #RDSUB, @#SLPERR
JSR PC,@¥NXTDRV
MOV DRIVE,R@TACS
MOVB #REWIND!GO,RTACS
100s: BIT #READY, @TACS
BEQ 190s
182 JSR PC,@#RDBLK
BIT #LEADER,R@TACS
BNE RDSUB
BR 1s

R ey

sKEEP THE STACK OUT OF THE WAY
;SETUP THE TA11 STATUS AND

;DATA BUFFER REGISTERS

sRESET THE WORLD

3 SETUP THE LOOP ON ERROR ADDRESS
3GO SETUP FOR NEXT DRIVE

3 SELECT DRIVE

3 SEND TAPE TO "BOT"

JWAIT ON READY

sREAD A BLOCK
AT "CLEAR LEADER"?
3BR IF YES=~=LOOP

#

$START AT 234
s THE PROGRAM WILL HALT THREE(3)

HURRUBRHBLBRERBRRRB R

*
WRITE A FILE GAP AND A BLOCK OF DATA FROM BOT TO EOT

TIMES

;AFTER EACH HALT SET THE SWR AND PRESS CONTINUE

$HALT 1 === SWR<7:0> =

NUMBER OF BYTES PER BLOCK

sHALT 2 === SWR<7:0> = PATTERN DESIRED
JHALT 3 === SWR<15:0> = OPERATIONAL SWITCH SETTINGS

s#% IF USING SOFTWARE SWITCH REGISTER,

AFTER

H EACH HALT OPERATOR WILL BE PROMPTED

3AND THE "GAP TIME MONO",

FOR THE VALUE WITH "SWR=XXXXXX NEW="

3THIS ROUTINE SUPPORTS THE S/W SWITCH REG FUNCTIONS

SIRHRURBBR AR E R LR B BY

WGPBLK: JSR PC,@#SETBUF
WGBLOP: MOV #STACK, SP
MOV @#TACSL, TACS
MOV @#TADBL, TADB
RESET
MOV #$WGBLOP,8#SLPERR
JSR PC,@#NXTDRV
MOV DRIVE,RTACS
MOVB #REWIND!GO,R@TACS
100s: BIT #READY,RTACS
BEQ 1008
182 MOVB #WFGLGO,@TACS
WAITREADY

* * 3% 1221
3GET BLOCK SIZE AND 2ATTERN
sKEEP THE STACK OUT 9F THE WAY
;SETUP THE TA11 STATJS AND
;DATA BUFFER REGISTERS
$RESET THE WORLD

3 SETUP THE LJOP ON ERROR ADDRESS
GO SETUP FOR NEXT DRIVE
3 SELECT DRIVE
$SEND TAPE TO
$sWAIT ON READY

"BOT"

sWRITE A FILE GAP
sWAIT ON READY

SEQ 0069

SEQ 0070



TA11 BASIC LOGIC TEST (PART 2)

DZTABC,

2727
2728
2729
2730
2731
2732
2733
2734
2735
2736
27317
2738
2739
2740
2741
2742
2743
2744
2745
2746
2747
2748
2749
2750
2751
2752
2753
2754
275S
2756
2757
2758
2753
2760
2761
27602
2763
2764
2765
2766
2767
2768
2769
27172
27711
2772
2773
2774
2775
2776
27117
2778
2779
278@
2781
2782

NEW

V14306
914312
914314
014320
914324
014326
214330

014332
614336
014342
014346
214350
814356
V14362
A14364
014372
¥14374
814376
914402
014406
814410
014414
014416
014422
714424

©v14426
914432
V14436
914442
014444
914452
914456
014460
v13464
#14470
¥14472
014476

03:714
00:005
894737
03:714
09 765
091 200
84741

212706
213704
213705
890095
912737
904737
010314
112714
832714
881775
804737
032714
801351
112714
104412
©»32714
921343
890764

012706
813704
8137905
2090005
812737
204737
#10314
112714
832714
0901775
112714
104412

020000

014660
820000

001100
0012906
001212

914332
915002

200017
000040

014722
020000

200015

020000

001100
901206
0201212

014426
9150902

000017
#00040

¥0v013

TAt1 BASIC LOGIC TEST (PART 2)
DZTABC ,NEW

2783
2784
2785
2786
2787
2788
2789
2799
2791
2792
2793
2794
2795
2796
2797
2798
2799
2809
2801
2802
2803
2804
28925
28066
2807
2808
2809
2819
2811
2812
2813
2814
2815
2816
2817
2818
2819
2820
2821
2822
2823
2824
2825
2826
2827
2828
2829
2839
2831
2832
2833
2834
2835
2836
2837
2838

914500
©¥14504
#14506
A14510

©v14512
814514
014522
@14524
914530
914532
@14536
A14540
?14542

614544
014546
914559
814556
014560
014562
014562
014566
814570
814574
814576
814602
914604
014610
014614
A14616
014624
014626
914630
914630
814636
914640
014646
0146590
014652
014652
014654
814656

¥32714
991772
200909
020746

208995
012737
210314
112714
104412
632714
201772
200090
290763

805909
200000
022767
821001
104405

157709
091206
105777
09901402
812790
805200
610037
205937
200000
9227617
201001
104405

117737
200000
022767
001001
104405

000207
000000
800000

SPACE FORWARD FILE GAP FROM

020000

914512
300007

020000

000176

164352
164345
800376

014654
014656

000176

164304

800176

MAINDEC=-11«DZTAB=C

¢o1110

pe1110

BIT
BNE
JSR
BIT
BEQ
HALT
BR

MACY11 27(732)
WRITE A FILE GAP AND A BLOCK OF DATA FROM BOT TO EOT

#LEADER,QTACS
28
PC,@#WRTBLK
$LEADER,@TACS
is

WGBLOP

*

READ A BLOCK

% P

3 START AT 240

11=JUN=76 13:26 PAGE 57

;AT "CLEAR LEADER"?
sBR IF YES

;WRITE A BLOCK

;AT "CLEAR LEADER*?
;BR IF NO

;STOP AT "EOT"
$START OVER ON CONT,

#* T e S e a2
OF DATA AND A FILE GAP

3THIS ROUTINE IS USED AFTER "WRITE A BLOCK AND A FILE GAP" ROUTINE
sIT CAN BE USED TO ADJUST THE "SIGNAL MONO", THE THRESHOLD POT"
;sAND THE "TAPE BLANK MONO",
PIURMRRHBEE Y * EEREW * * *
RGPBLK: MOV #STACK, SP sKEEP THE STACK OUT OF THE WAY
MOV @4 TACSL, TACS sSETUP THE TA11 STATUS AND
MOV @4 TADBL,TADB ;DATA BUFFER REGISTERS
RESET sRESET THE WORLD
MOV #RGPBLK, @#SLPERR ;SETUP THE LOOP ON ERROR ADDRESS
JSR PC,@#NXTDRV GO SETUP FOR NEXT DRIVE
MOV DRIVE,R@TACS 3 SELECT DRIVE
MOVB #REWIND!GO,@TACS 3 SEND TAPE TO "BOT"
100s: BIT $READY,RTACS sWAIT ON READY
BEQ 100s
1s: JSR PC,@¥RDBLK ;READ A BLOCK OF DATA
BIT #LEADER,RTACS ;AT "CLEAR LERDER"?
BNE RGPBLK :BR IF YES
MOVB #SFBG!GO,@TACS ;GET INTO A FILE GAP
WAITREADY
BIT #LEADER, @TACS ;AT "CLEAR LEADER"?
BNE RGPBLK ;BR IF YES
BR 1s sLoop

SHBBHURERERRB RN R U AR
SPACE FORWARD

s START AT 244

;THIS ROUTINE
; SPACE FOWARD
;WRITE A FILE
; (SIGNAL MONO
PIERBUAFHUNBBY

FILE GAP FROM

CAN BE USED AFTER "WRITE FILE GAP"
(TAPE BLANK MONO CAN BE ADJUSTED),
GAP AND A BLOCK OF DATA FOR HIGH SPEED SPACE FORWARD
CAN BE CHECKED),

"BOT" TO "EOT"

FOR LOW SPEED
OR AFTER READ OR

SFFGSB: MOV #STACK, SP
MOV @#TACSL, TACS
MOV @4TADBL, TADB
RESET
MOV #SFFGSB, @#SLPERR
JSR PC,@sNXTDRV
MOV DRIVE,@TACS
MOVB #REWIND!GO,@TACS
100s: BIT $READY,RTACS
BEQ 100
183 MOVB #SFFG!IGO,@TACS
WALTREADY

MAINDEC<11<DZTAB<C

921110

164362

164314

014656

164272

PINBEBRIEHBUR R BB

BSFGSB3

1s:

$ PN R W B RN

SETBUF:

208

21s:

22s:

BLKLIM:
PATTRN:

MACY11 27(732)

"BOT" TO "EOT"
BIT #LEADER,@TACS
BEQ 1s
HALT
BR SFFGSB

BACK SPACE FILE GAP
;s START AT 259
;s THIS ROUTINE CAN BE USED TO ADJUST OR CHECK THE "SIGNAL MONO",

* R e

;KEEP THE STACK OUT OF THE WAY
;SETUP THE TAt1 STATUS AND
;DATA BUFFER REGISTERS
$RESET THE WORLD

;SETUP THE LOOP ON ERROR ADDRESS
;GO SETUP FOR NEXT DRIVE
$SELECT DRIVE
;SEND TAPE TO
;WAIT ON READY

"BOT"

:SPACE INTO A FILE GAP
;WAIT ON READY

11=JUN=76 13:26 PAGE 58

;AT "CLEAR LEADER"?
sBR IF NO

$STOP AT "EOT"
;LOOP ON CONT,

R L g L e e R a2 e e

RESET

MOV #BSFGSB,@#SLPERR
MOV DRIVE,@TACS

MOVB #BSFGIGO,R@TACS
WAITREADY

BIT #LEADER,@TACS
BEQ 18

HALT

BR BSFGSB

HERER NN #*

;RESET THE WORLD
;LOOP ON ERROR ADDRESS

; SELECT DRIVE
;BACK SPACE A FILE GAP
;WAIT ON READY
;AT "CLEAR LEADER"?
$BR IF NO
:STOP AT BOT
;START OVER ON CONT,

R e R e e e e

SETUP BLOCK SIZE AND PATTERN FOR SUBROUTINES

CLR
HALT
cup
BNE
GTSWR

BISB
BNE
TSTB
BEQ
MOV
INC
MOV
CLR
HALT
CMe
BNE
GTSWR

MOVB
HALT
CMP
BNE
GTSWR

RTS
]
]

RO

#SWREG, SWR
20s

@SWR, RO

2s

@SWR+1

18

#376,R0

RO
RG,A$BLKLIM
@#PATTRN

#SWREG, SWR
21s

@SWR, @#PATTRN
#SWREG, SWR

228

PC

;PICKUP

;OPERATOR PUTS BYTE COUNT IN SWR<7:0>
;USING S/W SWITCH REG,?
;NO= GET OUT

sLET HIM CHANGE IT
;CONTINUE

THE BYTE COUNT

;BR IF NON=ZERO

;CHECK IF GREATER THAN 377
sBR IF NO

;SET FOR MAX ALLOWED

sMAKE IT 377 OR 1

$SETUP THE BLOCK LIMIT

;OPERATOR PUTS PATTERN IN SWR<7:8>
;USING S/W SWITCH REG,?
3NO= GET OUT

sLET HIM CHANGE IT
;CONTINUE

sPICK UP THE PATTERN

;SET OPERATIONAL SWITCHES
sUSING S/W SWITCH REG.?
3NO= GET OUT

sLET HIM CHANGE IT
;CONTINUE

$RETURN

$READ AND WRITE BLOCK SIZE
;PATTERN TO GO ON THE TAPE

FHEBRE BRI R RN BL R RN RN

SEQ 2071

SEQ 0072



TA11 BASIC LOGIC TEST (PART 2)

DZTABC,

2839
2840
2841
2842
2843
2844
2845
2846
2847
2848
2849
28590
2851
2852
2853
2854
2855
2856
2857
2858
2859
2869
2861
2862
2863
2864
2865
2866
2867
2868
2869
2870
2871
2872
2873
2874
2875
2876
2877
2878
2879
2889
2881
2882
2883
2884
2885
2886
2887
2888
2889
2890
2891
2892

NEW

314660
©¥14664
914670
914672
©¥14676
6147090
P14702
814704
814710
014712
v14716
914720

v14722
914726
214732
814736
814740
014744
214746
014750
014752
814754
214756
814760
014762
214764
814770
914772
214774
014776
¥15000

015092
8150606
815019
#15012
015016
915022
015024
215030
215432
015034
915940
015044

g13701
112714
104413
832714
801010
805301
992403
113715
808767
852714
184412
89208207

913702
813709
112714
104413
832714
901012
905302
002405
811501
120001
091767
104005
808406
852714
104412
995714
1099201
104001
8092207

105777
100416
805003
813701
122127
931402
012733
165711
901902
812701
810137
800207

814654
N0RVA3

000040

014656

000020

914654
014656
300005

000040

B00v20

164132

001230
000101
V0400

001224
001230

TAf1 BASIC LOGIC TEST (PART 2)

DZTABC . NEW
2893
2894
2895
2896
2897
2898
2899
2900
2901
2902
2903 015046
2994 015652
2905 015054
2906 015060
2907 915062
2908 ©15066
2909 0915072
29106 015074
2911 @15376
2912 915100
2913 815104
2914 915106
2915 915112
2916 B15114
2917 015122
2918 @15124
2919 ©815132
2920 9215134
2921 015136
2922 @15142
2923 915144
2924 0151590

213701
295911
122710
2014022
952711t
232711
8v1775
905711
100024
932711
801217
632711
001411
122777
601412
122777
801406
000403
832711
0201002
062716
0900207

201206
200101

¥00400
900040

001000
0100900
000201

000203

220000

MAINDEC=11<DZTAB=C MACY11 27(732) 1$1=JUN=76 13:26 PAGE 59 SEQ 0073
WRITE ROUTINE FOR THE MANUAL OPERATIONS

H WRITE ROUTINE FOR THE MANUAL OPERATIONS
PR e e e e T # #*
WRTBLK: MOV @#BLKLIM, Ry sPICKUP THE BLOCK SIZE
MOVB #WRITE!{GO,@TACS $START A WRITE
183 WAITXFER sWAIT ON TRANSFER REQUEST
BIT #READY,@TACS ;DID READY SET?
BNE 3s 3BR IF YES
DEC R1 3COUNT THIS REQUEST
BLT 28 $BR IF TIME FOR 1ILBS
MOVB @#PATTRN,@TADB $PUT DATA ON TAPE
BR 1s ;LOOP
282 BIS #ILBS,@TACS sWRITE CRC AND SHUT DOWN
WAITREADY sWAIT ON THE READY FLAG
3s: RTS PC

RN BN E R BB AR R F SRR RN E B R R R R RS AR R R R ISR ARSI R LR E R IR PR RSB
H READ ROUTINE FOR THE MANUAL OPERATIONS
SIUERIREHR i *

R

#* EZ I 22222222223
DBLK: MOV @#BLKLIM,R2 ;PICKUP THE BLOCK SIZE
MOV @#PATTRN, R® ;USE THLS DATA PATTERN TO COMPARE TO
MOVB $READ !GO, @TACS ;START A READ
1s: WAITXFER sWAIT ON TRANSFER REQUEST
BIT #READY, @TACS ;IS READY SET?
BNE 3 ;BR IF YES
DEC R2 ;COUNT THIS REQUEST
BLT 28 $BR IF TIME FOR ILBS
MOV @TADB, R1 ;READ THE DATA BUFFER
cMPB RO, R1 ;CHECK THE DATA
BEQ 18 ;BR IF OK
ERROR 5 ;BAD DATA
BR 45 $GET OUT
28 BIS #1LBS,8TACS ;READ ILBS
WAITREADY ;WAIT ON READY
3s: TST 8TACS ;CHECK FOR ERROR
BPL 4s ;BR IF NONE
ERROR 1 sERROR OCCURRED
4s: KTS pC s RETURN
H :Gli'&&‘*l&ii&“lh*liﬁi'ii"’*""llﬁi*‘ii**‘*liill**&.l&ll.fi&*
; ROUTINE TO CHANGE DRIVES
NXTDRV: TSTB @SWR ;IS SWOT ON A (1)?
BMI 3s ;BR IF YES
CLR DRIVE $SET DRIVE TO "A"
MOV @#DRVPNT, R1 ;GET DRIVE POINTER
cMPB (R1)+,4°A ;IS IT DRIVE "A"?
BEQ 1s ;BR IF YES
MOV $UNIT,DRIVE ;SET DRIVE TO "B"
1s: TSTB (R1) ;LAST DRIVE BEEN SELECTED
BNE 25 ;BR IF NO
MOV #DRVKEY,R1 ;RESET DRIVE POINTER
283 MoV R1,@4DRVPNT ;SAVE DRIVE POINTER FOR NEXT TIME
38: RTS PC ;GO BACK
MAINDEC=11=DZTAB=C MACY11 27(732) 11=JUN=76 13:26 PAGE 60 SEQ 0074
ROUTINE TO CHANGE DRIVES
HE ] * L2 2 2 FRBAFBLE R LU LD R B R B PR BB RBU SRR P LR BB R RRRBBRUR
:
.SBTTL ROUTINE TO EXAMINE DRIVE(S) FOR AVAILABLITY
;CALL:
; MOV 3DRVKEY, RO
: JSR PC, @4EXAM ;R1 1S DESTROYED
: NORMAL RETURN
: ERROR RETURN
EXAM: MOV @#TACSL,R1 ;PICKUP THE "CONTROL & STATUS"™ REG, ADR.
CLR (R1) ;DRIVE="A", FUNCTION="WFG"
CcMPB #°A, (RO) SEXAMINE DRIVE "A"?
BEQ 1s ;BR IF YES
BIS #UNIT, (R1) ;SELECT DRIVE "B"
183 BIT #READY, (R1) ;WAIT ON READY
BEQ 1s
TST (R1) ;ANY ERROR?
BPL 48 ;BR IF NO
BIT $OFFLINE, (R1) ;ERROR DUE TO *OFF LINE"?
BNE 38 ;BR IF YES
BIT #WRTLOCK, (R1) ;ERROR DUE TO "WRITE LOCK"?
BEQ 28 ;BR IF NO
164016 cMPB $BITO7!B1TO0, 8SWR $"READONLY" SELECTED? (RD1PAS)
BEQ 48 $BR IF YES
164006 cMPB #BIT@7!BITA1!BITOA, @SWR ; (RD2PAS)?
BEQ 45 ;BR IF YES
BR 38 $TAKE THE ERROR EXIT
28 BIT #LEADER, (R1) ;ERROR DUE TO "CLEAR LEADER"?
BNE 4s ;BR IF YES
3s: ADD #2,(SP) :TAKE ERROR RETURN

000002

4s: RTS pC s RETURN



TA11 BASIC LOGIC TEST (PART 2)
TYPE ROUTINE

DZTABC

2925
2926
2927
2928
2929
2930
2931
2932
2933
2934
2935
2936
2937
2938
2939
2940
2941
2942
2943
2944
2945
2946
2947
2948
2949
2959
2951
2952
2953
2954
2955
2956
2957
2958
2959
2960
2961
2962
2963
2964
2965
2966
2967
2968
2969
2970
2971
2972
2973
2974
2975
2976
2977
2978
2919
2984

<NEW

015152
315156
215160
215162
015164
$15166
015172
215174
¥15176
215200
915202
215206
215210
915214
015216
815222
915224
915226
215230
¥v15232
A15236
915240
015244
815250
»w15252

215256
015262
¥15264
915278
815274

015276
015302
215306
015314
915316

105767
199992
000000
0800407
210046
017609
112046
821025
¥05726
012609
962716
890002
122716
0214390
122716
80190926
0895726
194401
001177
195067
099755
004767
126726
9013590
216746

125366
0927179
8247617
195367
090779

112716
p04767
132767
901372
295726

164001

200002

000002
000011

¥v0200

200130

800056
163706

163676
B0voVY1

V0V 32
000072

0¥V0040a
$00014
00v0n7

TA1t BASIC LOGIC TEST (PART 2)

DZTABC ,NEW

2981
2982
2983
2984
2985
2986
2987
2988
2989
2999
2991
2992
2993
2994
2995
2996
2997
2998
2999
3909
3001
3002
3003
3004
3005
3006
3007
3008
3009
3019
3011
3012
3013
3014
3015
3016
3017
3018
3019
30290
3021
3022
3023
3024
3025
3026
3027
3028
3029
3030
3031
3032
3033
3034
3035
3036

¢15320
815322
915326
415330
915336
815344
#15346
915352
815354
815362
015364
915366
615370

915372
815374
815402
215404
915406
215410
815412
015414
215416
¥154292
815422
015424
915426
015430
015432
215434
@15436
915440
015444
215446
015450
815452
815456
215462
915464
015466
015470
915472

TYPE ROUTINE

9900724
125777
100375
116677
122766
201003
185067
290406
122766
001402
105227
200000
8900297

11646
616666
210046
210146
910246
104410
012600
095001
225002
112246
901412
996301
906102
206321
806102
096301
296102
842716
062601
000764
005726
210166
210267
012602
812601
012600
000002
200000

163622

¥VYYo2
000015

000014

©¥00912

000004

177770

800012
200010

MAINDEC=11=DZTAB=C MACY11 27(732) 11=JUN=76 13:26 PAGE 61 SEQ 09075

000052

MAINDEC=

163614
000002

0030002

200002

.SBTTL TYPE ROUTINE

srERERS * * RREHRRRRE
;*ROUTXNE TO TYPE ASCIZ MESSAGE, MESSAGE MUST TERMINATE WITH A @ BYTE,
3#THE ROUTINE WILL INSERT A NUMBER OF NULL CHARACTERS AFTER A LINE FEED,

;*NOTE1: S$NULL CONTAINS THE CHARACTER TO BE USED AS THE FILLER CHARACTER,
;#NOTE2: $FILLS CONTAINS THE NUMBER OF FILLER CHARACTERS REQUIRED,
;#NOTE3: SFILLC CONTAINS THE CHARACTER TO FILL AFTER,
R
;
;#CALL:
3#1) USING A TRAP INSTRUCTION
3# TYPE »MESADR ;sMESADR IS FIRST ADDRESS OF AN ASCIZ STRING
;#0R
¥ TYPE
s MESADR
A
STYPE: TSTB STPFLG 3318 THERE A TERMINAL?
BPL 1$ ;3BR IF YES
HALT ;sHALT HERE IF NO TERMINAL
BR 38 s sLEAVE
182 MOV RO, ~(SP) ;s SAVE RO
MOV @2(sP),RO ;3GET ADDRESS OF ASCIZ STRING
283 MOVB (RO)+,=(SP) ;7PUSH CHARACTER TO BE TYPED ONTO STACK
BNE 4s ;3BR IF IT ISN’T THE TERMINATOR
TST (SP)+ ;3 IF TERMINATOR POP IT OFF THE STACK
60s: MOV (SP)+,R0O ; RESTORE RO
3s: ADD #2,(sP) s 3ADJUST RETURN PC
RTI s s RETURN
4s: cMpB #HT, (SP) s $BRANCH IF <HT>
BEQ 8s
CMPB $CRLF, (SP) 3 3BRANCH IF NOT <CRLF>
BNE 5%
TST (SP)+ :3POP  <CR><LF> EQUIV
TYPE ;3 TYPE A CR AND LF
SCRLF
CLRB SCHARCNT ;;CLEAR CHARACTER COUNT
BR 2s ;3GET NEXT CHARACTER
5§ JSR PC, STYPEC :3GO TYPE THIS CHARACTER
[ TH CMPB SFILLC, (SP)+ ;318 1T TIME FOR FILLER CHARS,?
BNE 28 ;3IF NO GO GET NEXT CHAR,
MOV SNULL, =(SP) 33GET # OF FILLER CHARS, NEEDED
;3AND THE NULL CHAR.
EH DECB 1(sP) ;3DOES A NULL NEED TO BE TYPED?
BLT 68 33BR IF NO==GO POP THE NULL OFF OF STACK
JSR PC, $TYPEC 3360 TYPE A NULL
DECB SCHARCNT 33DO NOT COUNT AS A COUNT
BR 18 ;:LOOP

;HORIZONTAL TAB PROCESSOR

8s: MOVB #° 4(SP) s sREPLACE TAB WITH SPACE
9s: JSR PC,STYPEC ;3 TYPE A SPACE
BITB #7,SCHARCNT ;$BRANCH IF NOT AT
BNE 9s ;3 TAB STOP
TST (sP)+ ;3POP SPACE OFF STACK
11-DZTAB=C MACY11 27(732) 11=JUN=76 13:26 PAGE 62 SEQ 0076
BR 28 33GET NEXT CHARACTER
STYPEC: TSTB BSTPS ;3WAIT UNTIL PRINTER IS READY
BPL STYPEC
MOVB 2(SP),@STPB ;3LOAD CHAR TO BE TYPED INTO DATA REG,
CMPB #CR,2(SP) 731S CHARACTER A CARRIAGE RETURN?
BNE 1s ; 3BRANCH IF NO
CLRB SCHARCNT 33 YES==CLEAR CHARACTER COUNT
BR STYPEX ;3EXIT
183 cMPB #LF,2(SP) 3315 CHARACTER A LINE FEED?
BEQ STYPEX ; $BRANCH IF YES
INCB (PC)+ ;3COUNT THE CHARACTER
SCHARCNT: ,WORD @ 3 ;CHARACTER COUNT STORAGE

$TYPEX: RTS PC
+SBTTL READ AN OCTAL NUMBER FROM THE TTY
R L T T 2

3#THIS ROUTINE WILL READ AN OCTAL (ASCII) NUMBER FROM THE TTY AND
s#CHANGE IT TO BINARY,

3#CALL3
3 RDOCT $3READ AN OCTAL NUMBER
PR RETURN HERE 33 LOW ORDER BITS ARE ON TOP OF THE STACK
3¥ s sHIGH ORDER BITS ARE IN SHIOCT
SRDOCT: MOV (SP),=(SP) s $sPROVIDE SPACE FOR THE
MOV 4(SP),2(SP) 33 INPUT NUMBER
MOV RG,=(SP) :sPUSH RO ON STACK
MOV R1,=(SP) s $PUSH Rl ON STACK
MOV R2,=(SP) 3sPUSH R2 ON STACK
1s: RDLIN 3 3READ AN ASCIZ LINE
MOV (SP)+,R0 $3GET ADDRESS OF 1ST CHARACTER
CLR R1 3 sCLEAR DATA WORD
CLR R2
2s: MOVB (RO)+,=(SP) 3 3PICKUP THIS CHARACTER
BEQ 3s 33 IF ZERO GET OUT
ASL R1 192
ROL R2
ASL R1 %4
ROL R2
ASL R1 338
ROL R2
BIC #°C7,(SP) $3STRIP THE ASCII JUNK
ADD (SP)+,Rt 33ADD IN THIS DIGIT
BR 28 ssLOOP
3s: TST (sP)+ ;3CLEAN TERMINATOR FROM STACK
MOV R1,12(SP) ;:SAVE THE RESULT
MOV R2,SHIOCT
MOV (SP)+,R2 3 3POP STACK INTO R2
MOV (SP)+,R1 ;:POP STACK INTO R}
MOV (SP)+,R0O $3POP STACK INTO RO
RTI 3 sRETURN
SHIOCT: ,WORD "] 33HIGH ORDER BITS GO HERE

«SBTTL TTY INPUT ROUTINE

12}
.ENABL LSB
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DZTABC,NEW TTY INPUT ROUTINE
3037
3038 ruEEE L2222 #* E2T 2T
3039 s #SOFTWARE SWITCH REGISTER CHANGE ROUTINE,
3040 ¢ #ROUTINE IS ENTERED FROM THE TRAP HANDLER, AND WILL
3041 3 #SERVICE THE TEST FOR CHANGE IN SOFTWARE SWITCH REGISTER TR}P CALL
3042 ;#WHEN OPERATING IN TTY FLAG MODE,
3043 915474 922767 000176 163436 SCKSWR: CMP #SWREG, SWR ;318 THE SOFT=SWR SELECTED?
3244 015502 0201074 BNE 158 :3BRANCH IF NO
3045 ©15504 105777 163434 TSTB @STKS ; sCHAR THERE?
3046 015518 100971 BPL 15s ;3IF NO, DON’T WAIT AROUND
3047 ©15512 117746 163430 MOVB @STKB, =(SP) 3 s SAVE THE CHAR
3048 915516 942716 177600 BIC 4°C177,(SP) 3 sSTRIP=0OFF THE ASCII
3049 015522 0822726 000007 CMP #7,(SP)+ ;:IS IT A CONTROL G?
3059 015526 9010262 BNE 158 ;:NO, RETURN TO USER
3051 2815539 126727 163400 000001 CMPB $AUTOB, #1 ;3ARE WE RUNNING IN AUTO=MQDL?
3452 ©15536 821456 BEG 15s s 3sBRANCH IF YES
3053
3954 015540 104401 016221 TYPE ¢+ SCNTLG s sECHO THE CONTROL=G (°G)
3055 015544 104401 016226 $GTSWR: TYPE » SMSHR s TYPE CURRENT CONTENTS
3056 ©15550 016746 162422 MOV SWREG,=(SP) 3 3SAVE SWREG FOR TYPEOUT
3957 015554 104402 TYPOC 33GO TYPE-=OCTAL ASCII(ALL DIGITS)
i 3058 815556 104401 916237 TYPE + SMNEW ; sPROMPT FOR NEW SWR
. 3059 ©815562 Q85046 19s: CLk =(SP) ;3CLEAR COUNTER
: 3060 915564 805046 CLR =(SP) 33 THE NEW SWR
3061 015566 105777 163352 7s: TSTB 8STKS $3CHAR THERE? %
3962 615572 100375 BPL s 33 IF NOT TRY AGAIN
3063
3064 015574 117746 163346 MOVE @STKB,=(SP) ;3PICK UP CHAR
3065 015600 042716 177609 BIC #7C177,(sP) s sMAKE IT 7-BIT ASCII
3066
3067 %
3068
3069 015684 021627 0009025 9s: CMP (SP),#25 3:1S IT A CONTROL=-U?
3070 ©1561¢ 091005 BNE 198 ; sBRANCH IF NOT
3071 ©@15612 194481 016214 TYPE ¢ SCNTLU 3:YES, ECHO CONTROL=U (~U)
3972 ©15616 062706 00006 208 ADD #6,SP :;IGNORE PREVIOUS 1NPUT
3073 ©15622 0903757 BR 198 ssLET’S TRY IT AGAIN
3074 * "
3075 ) !
3076 015624 821627 0006915 108 cMp (SP),#15 33IS IT A <CR>?
3077 915632 001022 BNE 168 3 ;BRANCH IF NO
3078 ©15632 805766 0200004 TST 4(sP) ;:YES, IS 1T THE FIRST CHAR?
3079 @15636 091403 BEQ 1§ ;:BRANCH IF YES
3080 015640 016677 000602 163272 MOV 2(SP),BSWR 3 3SAVE NEW SWR
3681 ©15646 062796 000006 1182 ADD 86,SP s sCLEAR UP STACK
3082 915652 104101 001177 14s: TYPE » SCRLF ;sECHO <CR> AND <LF>
3683 ©15656 126727 163253 000001 CMPB SINTAG, #1 s sRE=ENABLE TTY KBD INTERRUPTS?
3784 015664 001003 BNE 158 ; $BRANCH IF NOT
3085 915666 0812777 000100 163259 MOV #100,8STKS s sRE=ENABLE TTY KBD INTERRUPTS
3086 015674 90208002 1582 RTI s sRETURN
3087 015676 004767 177420 1682 JSR PC,STYPEC ; sECHO CHAR
3088 015782 921627 900060 CMP (SP), %60 3 ;CHAR < 07
3089 @15706 ©02420 BLT 18§ ; sBRANCH IF YES
3092 915710 921627 0690067 cMp (sP),#67 ;3CHAR > 772
3091 ©15714 023015 BGT 18s ; sBRANCH IF YES
3092 $15716 042726 ©00Q69 BIC #60, (SP)+ ;s STRIP=OFF ASCII
TA11 BASIC LOGIC TEST (PART 2) MAINDEC-11-DZTAB«C MACY11 27(732) 1t1=JUN=76 13:26 PAGE 64 SEQ 2078
DZTABC,NEW TTY INPUT ROUTINE
3093 015722 095766 ©00V02 TST 2(sp) 33IS THIS THE FIRST CHAR
3094 ©15726 8V1403 BEQ 17s ; $BRANCH IF YES
3095 ©15730 0206316 ASL (SP) 33NO, SHIFT PRESENT
3096 015732 296316 ASL (5P) Y CHAR OVER TO MAKE
3097 015734 0V6316 ASL (spP) 33 ROOM FOR NEW ONE,
3098 ©B15736 0Y¥5266 VORGO2 17s: INC 2(sp) ; sKEEP COUNT OF CHAR
3099 815742 856616 177776 BIS «2(8P), (SP) ssSET IN NEW CHAR
3100 015746 900707 BR 78 3sGET THE NEXT ONE
3101 9215750 1044081 001176 1882 TYPE +SQUES 33 TYPE ?<CR><CLF>
3102 915754 090720 BR 208 3 s SIMULATE CONTROL=~U
3103 «DSABL LSB
3104
3105
3106 P ERE L e A T e e
3107 s#THIS ROUTINE WILL INPUT A SINGLE CHARACTER FROM THE TTY
3108 s#CALL:
3109 i RDCHR s s INPUT A SINGLE CHARACTER FROM THE TTY
3110 H RETURN HERE 3 sCHARACTER IS ON THE STACK
3111 . ssWITH PARITY BIT STRIPPED OFF &
3112 ;
3113
3114 915756 0911646 S$RDCHRs MOV (SP),=(SP) ; sPUSH DOWN THE PC
3115 0915760 816666 000004 P0OV002 MOV 4(SP),2(sP)} :$SAVE THE PS
3116 @15766 135777 163152 is: TSTB @sTKS 3 JWAIT FOR
3117 015772 198375 BPL is :sA CHARACTER £
3118 @15774 117766 163146 000004 MOVB @S$TKB,4(SP) 7 sREAD THE TTY
3119 916002 042766 1776008 000004 BIC #°C<177>,4(SP) ;:GET RID OF JUNK IF ANY
3120 916010 026627 p0EA04 000023 CMP 4(SP),#23 ;31 IT A CONTROL~S?
3121 916016 001013 BNE 3s 3 $BRANCH IF NO
3122 016020 105777 163120 28 TSTB BSTKS 3 3WAIT FOR A CHARACTER
3123 2160624 190375 BPL 2s 3;LOOP UNTIL ITS THERE
3124 016026 117746 163114 MOVB 8STKB, =(SP) 3 $GET CHARACTER
3125 416032 042716 177600 BIC #7C177,(SP) 3 sMAKE 1T 7~BIT ASCII
3126 016036 022627 000021 CMP (SP)+,#21 3318 IT A CONTROL-Q?
3127 016042 901366 BNE 2s ;3IF NOT DISCARD IT
3128 016044 0890759 BR is 3$YES, RESUME
3129 016046 026627 00QGB4 000140 383 cHp 4(SP),#140 ;315 IT UPPER CASE?
3132 016054 002407 BLT 4s ; sBRANCH IF YES
3131 016856 026627 000064 000175 CHpP 4(SP),#175 ;315 IT A SPECIAL CHAR?
3132 916064 003003 BGT 4s s sBRANCH IF YES
3133 016066 042766 000040 000004 BIC #40,4(SP) ;3MAKE IT UPPER CASE
3134 016074 000082 4s: RTI ;3G0 BACK TO USER
3135 srEERE 33 RHEBERBBBAFBUBRE
3136 $#THIS ROUTINE WILL INPUT A STRING FROM THE TTY
3137 ;#CALL:
3138 HEd RDLIN ;s INPUT A STRING FROM THE TTY
3139 s ¥ RETURN HERE ; ;ADDRESS OF FIRST CHARACTER WILL BE ON THE STACK
3140 123 3 s TERMINATOR WILL BE A BYTE OF ALL ©°S
3141
3142 ©@16076 0910346 SRDLIN: MOV R3,=(SP) $3SAVE R3
3143 016100 0212703 016204 182 MOV #8TTYIN,R3 3 sGET ADDRESS
3144 916104 022793 016214 as: CMP $STTYIN+8,,R3 ; BUFFER FULL?
3145 ©16110 101405 BLOS 43 :sBR IF YES
3146 @16112 104407 RDCHR ;GO READ ONE CHARACTER FROM THE TTY
3147 ©16114 112613 MovB (SP)+,(R3) 3 sGET CHARACTER

3148 @16116 122713 000177 1682 CMPB #177,(R3) ;3IS IT A RUBOUT




TA11 BASIC LOGIC TEST (PART 2)
DZTABC ,NEW

3149 9©16122 001003

3150 216124 194421 001176
3151 216130 000763

3152 916132 111367 000944
3153 916136 104441 016202
3154 916142 122723 000015
3155 @16146 ©91356

3156 ©16150 195263 177777
3157 016154 194401 001200
3158 916160 012603

3159 216162 211646

3160 016164 0916666 VOP004
3161 ©816172 012766 016204
3162 916200 290902

3163 016202 0990

3164 016203 200

3165 016201 200010

3166 ©16214 252536 205015
3167 ©16221 136 096507
3168 916226 B05015 953523
3169 016234 220975 200
3170 016237 040 047040
3171 916244 936440 000040
3172

3173

3174

3175

3176

3177

3178

3179

3180

3181

3182

3183

3184

3185

3186

3187

3188

3189

3190

3191

3192

3193

3194

3195

3196

3197 ©16258 017646 000000
3198 9216254 116667 000001
3199 016262 112667 900207
3209 @16266 962716 000002
3201 @16272 0990406

3202 216274 112767 ©00001
3203 @163082 112767 000006
3294 016319 112767 800005

TA11 BASIC LOGIC TEST (PART 2)
DZTABC,NEW

3205 ©16316 018346
3206 016320 010446
3207 ©16322 810546
3208 916324 116734 000145
3209 916330 005404
3219 910332 062704 000006
3211 9216336 110467 000132
3212 0216342 11679% @00125
3213 016346 016605 000012
3214 016352 905003
3215 9216354 806105
3216 ©16356 20404
3217 01636080 nY6105S
3218 ©16362 @V6195
3219 016364 ©96195
3220 ©@16366 019503
3221 916370 006103
3222 9216372 195367 ¢02076
3223 016376 100016
3224 016480 042703 177770
3225 9216424 001002
3226 ©16406 995794
3227 o©16410 901423
3228 016412 895204
3229 0216414 852703 000060
3238 9216420 852733 000040
3231 916424 110367 000040
3232 9016430 104481 016470
3233 916434 195367 000032
3234 016440 903347
3235 916442 002482
3236 916444 005204
3237 0216446 000744
3238 916450 012605
3239 0216452 612604
3240 016454 912603
3241 916456 816666 000002
3242 016464 812616
3243 0216466 0099002

3244 916470 200
3245 216471 0090
3246 0216472 990
3247 216473 999

3248 ©16474 900000

MAINDEC=11+=DZTAB=C
TTY INPUT ROUTINE

000002
200004

000
000012
020122

853505

000211

800171
200165
000154

MAINDEC-
BINARY TO OCTAL (ASCII) AND TYPE

200004
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BNE 3s $3SKIP IF NOT
4s: TYPE +»SQUES $3TYPE A “2°
BR 1s 3 sCLEAR THE BUFFER AND LOOP
3s: MOVB (R3),9s 3 sECHO THE CHARACTER
TYPE 98
CMPB #15,(R3)+ ; sCHECK FOR RETURN
BNE 28 3:LOOP IF NOT RETURN
CLRB =1(R3) ;3CLEAR RETURN (THE 15)
TYPE +SLF ;3 TYPE A LINE FEED
MOV (SP)+,R3 7 sRESTORE R3
MOV (SP),=(SP) ;3ADJUST THE STACK AND PUT ADDRESS OF THE
MOV 4(SP),2(SP) i FIRST ASCI1 CHARACTER ON IT
MOV #STTYIN, 4(sSP)
RTIL 3 sRETURN
9s: «BYTE [ 3 $STORAGE FOR ASCII CHAR, TO TYPE
.BYTE ] 7 s TERMINATOR
STTYIN: ,BLKB 8, ; sRESERVE 8 BYTES FOR TTY INPUT
SCNTLU: ,ASCIZ /7U/<15><i2> 3 :CONTROL "U"
SCNTLG: ,ASCIZ /=G/<15><12> 3 3CONTROL *"G"

SMSWR: L ASCIZ <15><12>/SWR = /
SMNEW: ,ASCIZ / NEW = /
.SBTTL BINARY TO OCTAL (ASCII) AND TYPE
#HEE PHRRRFFBEER #* 232 *4
THIS ROUTINE IS USED TO CHANGE A 16-BIT BINARY NUMBER T0O A 6-DIGIT

OCTAL (ASCII) NUMBER AND TYPE IT,
$TYPOS=-<ENTER HERE TO SETUP SUPPRESS ZEROS AND NUMBER OF DIGITS TO TYPE

CALL:
MOV NUM, =(SP) s sNUMBER TO BE TYPED
TYPOS 33CALL FOR TYPEOUT
+BYTE N ;3N=1 TO 6 FOR NUMBER OF DIGITS TO TYPE
+BYTE M 33M=1 OR @

=TYPE LEADING ZEROS
=SUPPRESS LEARDING ZEROS

$TYPON===<ENTER HERE TO TYPE OUT WITH THE SAME PARAMETERS AS THE LAST
$TYPOS OR $TYPOC

Kok ok ok ok K R & o & Kk ok ok kK K K ~e

CALL:
MOV NUM, =(SP) ;iNUMBER TO BE TYPED
TYPON ;:CALL FOR TYPEOUT
$TYPOC--<-ENTER HERE FOR TYPEOUT OF A 16 BIT NUMBER
CALL:
MOV NUM, «(SP) ;sNUMBER TO BE TYPED
TYPOC ;3CALL FOR TYPEOUT

$TYPOS: MOV 8(SP),=(SP) ;s PICKUP THE MODE
MOVB 1(SP),SOFILL ;sLOAD ZERO FILL SWITCH
MOVB (SP)+,SOMODE+1 ;;NUMBER OF DIGITS TO TYPE
ADD #2,(5P) ; $ADJUST RETURN ADDRESS
BR STYPON

STYPOC: MOVB #1,SOFILL ;$SET THE ZERO FILL SWITCH
Move $6,SOMODE+1 33SET FOR SIX(6) DIGITS
STYPON: MOVB 85,SOCNT 3$SET THE ITERATION COUNT
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MOV R3,=(SP) ;3SAVE R3
MOV R4, =(SP) AVE R4
MOV R5,=(SP) 3SAVE RS
MOVB $OMODE+1, R4 33GET THE NUMBER OF DIGITS TO TYPE
NEG R4
ADD #6,R4 SUBTRACT IT FOR MAX, ALLOWED
MOVB R4, $OMODE $SAVE IT FOR USE
MOVB SOFILL, R4 73GET THE ZERO FILL SWITCH
MOV 12(SP),R5 ;3PICKUP THE INPUT NUMBER
CLR R3 33CLEAR THE OUTPUT WORD
152 ROL RS OTATE MSB INTO "C*
BR 3s 3GO DO MSB
28: ROL RS ;1FORM THIS DIGIT
ROL RS
ROL RS
MOV R5,R3
is: ROL R3 73GET LSB OF THIS DIGIT
DECB SOMODE YPE THIS DIGIT?
BPL 78 R IF NO
BIC $177770,R3 GET RID OF JUNK
BNE 4s TEST FOR @
TST R4 UPPRESS THIS @?
BEQ 5§ R IF YES
4s: INC R4 DON’T SUPPRESS ANYMORE #°S
BIS #°0,R3 AKE THIS DIGIT ASCII
58 BIS $° ,R3 MAKE ASCIT IF NOT ALREADY
MOVB R3,8s ;3SAVE FOR TYPING

TYPE ¢85S GO TYPE THIS DIGIT

Ts: DECB S$OCNT OUNT BY 1
BGT 2 BR IF MORE TO DO
BLT 6s R IF DONE
INC R4 INSURE LAST DIGIT ISN‘T A BLANK
BR 2s $3GO DO THE LAST DIGIT
6s: MOV (SP)+,R5 3 sRESTORE RS
MOV (SP)+,R4 RESTORE R4
MOV (SP)+,R3 ESTORE R3
MOV 2(SP),4(sP) SET THE STACK FOR RETURNING
MOV (SP)+,(SP)
RTI 3 sRETURN
8$: +BYTE [} 3 3STORAGE FOR ASCII DIGIT
+BYTE ] ;3 TERMINATOR FOR TYPE ROUTINE
S§0CNT: ,BYTE 1) 330CTAL DIGIT COUNTER
SOFILLs ,BYTE ) 332ZERO FILL SWITCH
$OMODE: ,WORD ] ;3 NUMBER OF DIGITS TO TYPE

SEQ 2079

SEQ 0089



TAf1 BASIC LOGIC TEST (PART 2)
TRAP DECODER

DZTABC,NEW
3249
3250
3251
3252
3253
3254
3255
3256
3257 ©16476
3258 816500
3259 916504
3260 0616506
3261 616510
3262 916512
3263 216516
3264
3265
3266
3267
3268 016520
3269 @16522
3270 016539
3271
3272
3273
3274
3275
3276
3277
3278
3279 916532
3280 016534
3281 916536
3282 ©16540
3283 Q16542
328¢
3285 916544
3286
3287 016546
3288 @16550
3289 016552
3299 016554
3291 @16556
3292 016569

218046
216609
605740
111000
986300
816200
09028290

611646
016666
982002

016529
915152
216274
916250
216310

015544

915474
815756
016076
815372
2130246
413152

0000062

216532

V00004

TA11 BASIC LOGIC TEST (PART 2}

DZTABC ,NEW

3293
3294
3295
3296
3297
3298
3299
3300
3301
3302
3303
3304
3305
3306
3307
3308
3309
3310

016562
@1657@
016576
2166080
016602
916604
916606
816610
216612
216616
016622
016630
916632

916634
#16642
616646
816652
816656
916660
616664
016666
616670
616672
616674
816676
816780
816706
216714
916716
816720
616722
016724
916726
816730
816732
016734
616742

POWER DOWN AND

812737
812737
8109246
8191146
8128246
810346
010446
810546
817746
210667
812737
800000
200776

812737
216706
295067
0905267
901375
012677
912605
012604
912603
212602
812601
612600
812737
812737
104401
816734
812716
902206
9900002
200000
200776
8000090
@95015
pes122

916726
200340

162322
ovo110
016634

016726
000064
000060
920054

162254

616562
000340

047520

MAINDEC~11=DZTAB=C MACY1f 27(732) 11=JUN=76 13:26 PAGE 67 SEQ 0081

900002

MAINDEC=-11=DZTAB=C

«SBTTL TRAP DECODER

srEe # " % BRER P #
;#THIS ROUTINE WILL PICKUP THE LOWER BYTE OF THE "TRAP" INSTRUCTION
;#AND USE IT TO INDEX THROUGH THE TRAP TABLE FOR THE STARTING ADDRESS
s#OF THE DESIRED ROUTINE, THEN USING THE ADDRESS OBTAINED IT WILL
3#GO TO THAT ROUTINE,

$TRAP: MOV R®,=(SP) 3 $SAVE RO
MOV 2(SP),RO ;3GET TRAP ADDRESS
TST =(RO) 3 $BACKUP BY 2
MovB (RO),RE ;3GET RIGHT BYTE OF TRAP
ASL R@ ;3POSITION FOR INDEXING
MOV STRPAD(R®),RO s $INDEX TO TABLE
RTS RO 33GO TO ROUTINE

;3 THIS IS USE TO HANDLE THE "GETPRI" MACRO

$TRAP2: MOV (SP),=(SP) s sMOVE THE PC DOWN
MOV 4(SP),2(sP) ;sMOVE THE PSW DOWN
RTI : JRESTORE THE PSW

.SBTTL TRAP TABLE

;#THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
;#BY THE "TRAP"™ INSTRUCTION,

; ROUTINE
$TRPAD: ,WORD  STRAP2
STYPE  ;3;CALL=TYPE TRAP+1(104401) TTY TYPEOUT ROUTINE
STYPOC ;3;CALL=TYPOC  TRAP+2(104402) TYPE OCTAL NUMBER (WITH LEADING ZEROS)

$§TYPOS ;3;CALL=TYPOS TRAP+3(104403) TYPE OCTAL NUMBER (NO LEADING ZEROS)
$TYPON ;;CALL=TYPON TRAP+4(104404) TYPE OCTAL NUMBER (AS PER LAST CALL)

$GTSWR ;;CALL=GTSWR TRAP+5(104405) GET SOFT=SWR SETTING

$CKSWR ; ;CALL=CKSWR TRAP+6(104406) TEST FOR CHANGE 1IN SOFT=SWR

SRDCHR 3 ;CALL=RDCHR TRAP+7(104407) TTY TYPEIN CHARACTER ROUTINE

SRDLIN ;;CALL=RDLIN TRAP+10(104410) TTY TYPEIN STRING ROUTINE

SRDOCT ;3;CALL=RDOCT TRAP+11(1@4411) READ AN OCTAL NUMBER FROM TTY
WAIT,ON,READY 3 ;CALL=WAITREADY TRAP+12(104412) WAIT ON THE READY BIT TO
WAIT,FOR,XFER ;3CALL=WAITXFER TRAP+13(104413) WALT ON XFER REQ,

MACYt11 27(732) 11=JUN=76 13:26 PAGE 68 SEQ @082

UP ROUTINES

000024
200026

000024

000024

000024
000026

842527

.SBTTL POWER DOWN AND UP ROUTINES

3o BEER 43 20 80 L
;POWER DOWN ROUTINE
SPWRDN: MOV #SILLUP,@#PWRVEC ;;SET FOR FAST UP
MOV #3490, @¥PWRVEC+2 7
MOV R@,=(SP) R® ON STACK
MOV R1,=(SP) R1 ON STACK
MOV R2,=(SP) R2 ON STACK
MOV R3,=(SP) R3 ON STACK
MOV R4,=(SP) R4 ON STACK
MOV RS, =(SP) RS ON STACK
MOV 8SWR, =(SP) @SWR ON STACK
MOV SP,$SAVR6 14
MOV #SPWRUP, @#PWRVEC ;;SET UP VECTOR
HALT
BR =2 3 sHANG UP
PIRRBEBBRE BRI BRRES t 2 EEBUBRBEE
3POWER UP ROUTINE
$PWRUP: MOV #SILLUP,@#PWRVEC ;;SET FOR FAST DOWN
MOV SSAVR6, SP 33GET sp
CLR $SAVR6 3sWAIT LOOP FOR THE TTY
182 INC §SAVR6 ;$WAIT FOR THE INC
BNE 1s HE] WORD
MOV (SP)+,88KR STACK INTO @SHR
MOV (SP)+,R5 STACK INTO RS
MOV (SP)+,R4 STACK INTO R4
MOV (SP)+,R3 STACK INTO R3
MOV (SP)+,R2 H STACK INTO R2
MOV (SP)+,R1 H STACK INTO R1
MOV (SP)+,R0 33POP STACK INTO RO
MOV #SPWRDN, @4PWRVEC ;3 SET UP THE POWER DOWN VECTOR
MOV #340,@8PWRVEC+2 ;;PRIO:7
TYPE $REPORT THE POWER FAILURE
SPWRMG: ,WORD §POWER ;sPOWER FAIL MESSAGE POINTER
MOV (PC)+,(SP) 5 RESTART AT PWRST
$PWRAD: ,WORD PWRST 3 sRESTART ADDRESS
RTI
6§ ILLUP: HALT 33 THE POWER UP SEQUENCE WAS STARTED
BR =2 33 BEFORE THE POWER DOWN WAS COMPLETE

§SAVR6:

4 ;3PUT THE SP HERE
$POWER: ,ASCIZ <15><12>"POWER®

<EVEN

L]



TA11 BASIC LOGIC TEST (PART 2)
POWER DOWN AND

DZTABC,

3338
3339
3340
3341
3342
3343
3344
3345
3346
3347
3348
3349
3350
3351
3352
3353
3354
3355
3356
3357
3358
3359
3362
3361
3362
3363
3364
3365
3366
3367
3368
3369
3370
3371
3372
3373
3374
31375
3376
3377
3378
3379
3380
3381
3382
3383
3384
3385
3386
3387
3388
3389
3390
3391
3392
3393

NEW

9167414
816752
216760
016766
416770
216776
817090
217006
017012
217020
817026
@17@27
817034
@17040
317246
917053
817060
#17061
817066
817074
917102
217105
817112
917120
817126
817133
217140
817146
217154
917162
©¥1717@
017174
917222
617210
217216
817217
017224
217232
917234
817242
817259
217256
A17264
917272
017273
#17320
3173026
917314
617322
¥17330
817336
917344
917352
817362
017366
817374

242200
951450
205015
800077
842526
200077
851120
854524
940524
852040

200

040
851117
850040
852111

015

000

131
852123
850949
246505

042
821131
042514
051442

042
943123
850505
820042
242105
242523
044124
847117
243501

000

104
751120
800115
847111
250125
241117
841520
220040

200

120
820040
920123
041501
B51104
041520
820040
220449
842520
041522
841520
820049

044522
837451
940524

0952183

047511
200077
951503
@42101

842526
800A75
844522
936531
047412

951505
052101
847522

(44
042522
043040
020104
852105
©51124
851185
0942525
?40506
852040
000124
920105
820107
251440

052101
241117

042524
820124
042514
¢20040
940524

920103
952040
220040
920124
951595
220040
040524
0200240
952103
923526
220049
040524

TA11 BASIC LOGIC TEST (PART 2)
POWER DOWN AND

DZTABC ,NEW
339¢ 0917402
3395 @17410
3396 @17416
3397
3398 017420
3399 ©17426
3400 617434
3401 017436
3402 917444
3403 017452
3404 017456
3405 017460
3406
3407 017466
3408
3109 017472
3410 017500
3411 917506
3412 817514
3413 917521
3414 017526
3415 @17534
3416 817542
3417 017544
3418 917552
3419 917560
3420 917561

3421

820040
346240

209
n17429
8231116
e01116
020080
#1116
221126
891116
200000
201116

201116

340524
344501
847524
847520

116
853111
844501
6900105
041529
220040

17

120
200001

020040
053105

001162
801162

001162
000000
801162

801206
V000e0e

830461
242514
0951040
842116
220117
020105
240514

920040
840524

¥o2103

MAINDEC=11=DZTAB=C
UP ROUTINES

042526 MSGDRV: ,ASCIZ
000040
©51503 MSGASK: ,ASCIZ
©51117 MSGVEC: ,ASCIZ
044522 MSGPRI: ,ASCIZ
Q00075 MTACS: ,ASCIZ
936502 MTADB: ,ASCIZ
©52103 MTAVEC: ,ASCIZ
851117 MTAPRI: ,ASCIZ
-L1]
937513 MSGOK: L,ASCIZ
800200 MYES: +ASCIZ
851525 EM1: »ASCIZ
046102
042101 EM2: +ASCIZ
244591
047524
(L1
047101 EM3: ASCIZ
251040
052123
046111
020117
051127 EM4: +ASCIZ
046106
852105
220161 EMS: «ASCIZ
042514
951122 EM6: «ASCIZ
051120
e00115
020040 DHi: <ASCIZ
051503
020040 DH2: +ASCIZ
041501
053440
042101
200123
920040 DHS: +ASCI1Z
251503
854105
020049
000104
020040 DH6: ASCIZ
©¥51503
MAINDEC=11=DZTAB«C
Up ROUTINES
851102
246105
SEVEN
990008 DTi: +WORD
291202 DT2: +«WORD
001124 DTS: «WORD
231124 DT6: «WORD
200000 DT201: ,WORD
DT202: WORD
243040 EM201: LASCI1Z
020104
251505
200
951104 EM202: LASCIZ
9531018
846102
V20040 DH201: ,ASCIZ
251503
DH262: ,ASCIZ
<END

MACY11 27(732) 11=JUN=76 13:26 PAGE 69

<CRLF>"DRIVE(S)? *
<15><12>/TACS?/

/VECTOR?/

/PRIORITY?/

/TACS=/

/ TADB=/

/ VECTOR=/

/ PRIORITY=/

<15><12>/0K2/

/YES/<CRLF>

/STATUS PROBLEM/

/"READY" FAILED TO SET/
/"TRANSFER REQUEST" FAILED TO SET/
/THE WRONG FLAG SET/

/DATA PROBLEM/

/INTERRUPT PROBLEM/

/PC TACS/

/PC TACS WAIT ADDRESS/
/PC TACS EXPECT RCV°D/
/PC TACS BR LEVEL/

MACY11 27(732) 11<JUN=76 13:26 PAGE 70

SERRPC,SREG@,0
$ERRPC, SREGO,SAVPC,9

SERRPC, SREG@, SGDDAT, SBDDAT, 9

$ERRPC,SREG@, SGDDAT,
SERRPC, TACSL,@
SERRPC,@

"TAti{ FAILED TO RESPOND*®

"NO DRIVE AVAILABLE"

/PC TACS/

/PC/

SEQ 02083

SEQ 0084



TA11 BASIC LOGIC TEST (PART 2)

DZTABC ,NEW

ASKADR 913364
ASKDRV 013254
ASKKEY 001232
BEGINX 001749
BEGIN1 901336
BEGIN2 901370
BEGIN3 001376
BEGIN4 001404
BGNCMN 991410
BITA = 0@00001
BITO9 = 099001
BITO1 = 900092
BITA2 = 900004
BIT@3 = @0vei1e
BITo4 = 000022
BITOS = 00040
BITO6 = 9001090
BITO7 = 08002090
BITA8 = 900400
BITY9 = vd1000
BIT1 = Q00002
BIT10 = 022000
BIT11 = 904000
BIT12 = 219000
BIT13 = P20000
BIT14 = 040000
BIT15 = 100020
BIT2 = 900204
BIT3 = 90vd10
BIT4 = 000020
BITS = 099040
BIT6 = 900100
BIT?7 = 090200
BIT8 = 000400
BIT9 = 001000
BLKLIM 014654
BPTVEC= 009014
BSBG = 9920010
BSFG = 900006
BSFGSB 814512
CHKADR 0801762
CHKDRV 602046
CKSWR = 104406
CR = 20Ya15
CRCERR= 940090
CRC,wD 913774
CRLF = 200290
CURDRV 091234
DDISP = 17757¢
DH1 817256
DH2 217273
DH201 817544
DH202 817561
DHS ©¥17334
DH6 017366

563
560
3964#
557#
231
232
233
234
479
166%
1564%
155%
1543%
153
152%
151#
1504
149%
1484
147%
165%
1468
1454
1443
143
1423
1414
1644#
163%
1624%
161%
160¢%
1594
158%
1574%
2820
173
186%
2024
1854#
241
559
620%
2283
81#
1944
2028%
82¢
397#
884
418
424
456
461
442
448

TA11 BASIC LOGIC TEST (PART 2)

DZTABC,NEW

DISPLA 8061142
DISPRE 200174
DO,CRC ©@13654
DRVKEY 0901224
DRVPNT 601230
DSWR = 177570
DTY 217420
DT2 817426
DT201 017469
DT202 217466
DTS 917436
DTé 817450
EMTVEC= 900030
EML 217066
EM2 217105
EM201 917472
EM202 917521
EM3 917133
EM4 2917174
EMS 917217
EM6 917234
ERROR = 1002000
ERRVEC= 000004
EXAM #15046
EXIT 013354
FGAP = 004000
FUNCTI= 000016
FUNCY = 0009082
FUNC1 = 200004
FUNC2 = 000010
GNS = wBEEIR
GO = 900201
GTSWR = 104405
HERE 201740
HGHTIM 013124
HT = 900011
ILBS = p00020
INT.EN= 900100
I0TVEC= 000020
ITEMS2 081316
LEADER= 920000
LF = 900012

2512%

2480%
651%
593
4764
483%
482
487%
481

166
165
164
163
162
161
160
159
158
157

198
197
196
195
194
193

28348

868
2163

864
27944

562

2346
2985
1873
2038
545
674%
365
3379
430
34174
3420%
3387
3392#

MAINDEC=11=DZTAB~C
CROSS REFERENCE TABLE o=

USER SYMBOLS

2503
681
595 644

485¢
484 486

208 2588
207 2597
206
205
204
203
202
201 2916
200 2298
199 2306

2354
2313

2361
2284 2597
662

2841 2858
1505 1589
2186

1447 1562

2795 2802
5814%

2369 3287¢#
2995

1916 1992
2046 2585
2956 2995
675

516

436 3382¢

MAINDEC=11=DZTAB=C

CROSS REFERENCE TABLE -« USER SYMBOLS

365
228
2029
3944
2890
395%
874
419
425
457
462
443
449
176%
417
423
455
460
429
435
441
447
193%
169¢
621
2499
1974#
2094%
207
206%
205%
2217
3292
2082
784
14414
1524
1593
1710
1773
18914
2086
2668
539
530
714
79#%
204¢#
1812
2850
2024
1744
4534
195+
2754
80#

516#
524
2578%
395

634%
364
3398%
431
34058
3407%
34013
3403¢
499#
33564
3359%
34094
3413%
3363%
33694
3373¢
3376#
1538
513
625
25044
1449

209
209
209
544

303
823
1447
1526
1610
1712
1778
1893
2136
2691
687
532
2423%
2954
780
1828
2871
922
497

1455
2758
2989

524 2327%#

477%= 629

654% 665
515

437 3399¢

500+#

1567 1736
514 525%
630 2903%#

1483 1538

672 3289
306 325
825 827

1467 1469
1532 1534
1612 1618
1714 1722
1783 1804
1902 1904
2138 2142
2722 2725
2812 2825

543 545#
2437¢
2995

806 1445
1854 1871
970 1018
498+

1510 1538
2783 2799
2995

646

488¢

2916
2918

2918

2370

1620

1676

2052

2606%

3338

2353

633

680+#

1741
581

1564

3281

328
1292
1471
1536
1620
1724
1806
1957
2152
2750
2831

1475
1900

1066

1567
2921

MACY11 27(732)

2918

1680

1731

2613%

3355

654

2884

1780
587%

1598

3282

693
1295
1477
1554
1622
1726
1814
1959
2163
2756
3285¢

1503
1911

1114

1744

1778
1739

MACY1t 27(732)

679

2891+

1873
2289

1629

3283

716
1303
1479
1556
1624
1731
1816
1967
2168
2778

1530
1965

1162

1780

11=JUN=T76 13326

1783
1928

11~JUN=T6

2075

2052
2290+

1669

3285

712
1335
1481
1562
1642
1739
1839
1969
2186
2781

1560
1987

1210

1788

1814
2797

13:26

2128

2292+

1728

3287

731
1366
1495
1579
1644
1757
1841
2004
2193
2797

1585
2019

1258

2641

PAGE 72

1859 1902
PAGE 73

2481+ 2486
2295%

1733 1775
3288 3289
733 778
1368 137¢
1497 1499
1584 1587
1646 1654
1759 1761
1844 1859
2006 2009
2205 2230
2842 2860
1616 1652
2040 2158
13063 1335
2672 2695

1932

2500

1780

3298

773
1437
1505
1589
1656
1769
1861
2024
2636

1720
2184

1398

2727

SEQ 0085

1967

SEQ @886

2504

3291

782
1439
1522
1591
1658
1774
1889
2026
2639

1767
2218

2730

£y

B




o

TA11 BASIC LOGIC TEST (PART 2)

DZTABC,NEW

Looe 813320
Loory 8008500
Loor2 600600
Loor3 P2393709
MANUAL 802166
MAXCNT 413150
MSGASK 916760
MSGDRV 016744
MSGID 801712
MSGOK 917253
MSGPRI ©170090
MSGVEC 816770
MTACS 817012
MTADB 8172320
MTAPRI 917240
MTAVEC @17227
MYES 217061
NEXT 213334
NOTA 013312
NOTB ¥13324
NOTLGL 913346
NXTDRV 915082
OFFLIN= 8010909
OK ¥22200
PATTRN 914656
PIRQ = 177772
PIRQVE= 908249
PRO = 2U0vVo
PR1 = 000940
PR2 = 97498100
PR3 = P00140
PR4 = 900200
PRS = 909240
PR6 = 0890300
PR7 = 2899340
PS = 177776
PSW = 177776
PHWRST 922206
PWRVEC= 000024
RDBLK 014722
RDCHR = 104407
RDLIN = 1904410
RDOCT = 104411t
RDSUB 214150
READ = p2vd04
READY = 46v049
RESVEC= 200010
REWIND= 9P0016
RGPBLK 914332

2487
2913
301
323#
640
6623

2513

24890
533

2560

2536

2527

2548

2551

2557

2554

2569

2499

2488

2492

2485

2634
1993%
649

2821#

86#
1803
1033
104
105¢#
1064
167¢#
128¢
109
110#

83#

1067+

1262%

84
6534#
175¢

2694

2561

2482

2514
237
1844

2860
203%

2457
170¢%
1R9%

1437

1724

2142
239

TA11 BASIC LOGIC TEST (PART 2)

DZTABC ,NEW
SAVPC 001202
SAVPS 891204
SETBUF 214544
SFBG = pnood14
SFFG = 290012
SFFGSB  ©#14426
STACK = 921109
START 0902220
STKLMT= 177774
SWR 001140
SWREG 800176
SWo = 08¢de1
SWo9 = 920001
SWo1 = 200982
SWA2 = POVGR4
SWo3 = p§RYo19
SHe4 = 008020
SWeS = 2ovd4e
SHU6 = 909190
SWOT = 009200
SWe8 = pU0B400
SWY9 = 2901900
SW1 = 000002
SW18 = 002000
SWiil = 004000
SHW12 = 2190000
SW13 = 920000
SWid4 = 840000
SW15 = 1000909
SW2 = 909004
SW3 = 900010
SW4 = 000020
SWS = 990040
SWe = 000100
SW7 = 909200
SW8 = 000409
SW9 = 901002
TACSH 991210
TACSL 801206
TADBH 001214
TADBL 901212
TAPRIO 901222
TAVEC 991216
TBITVE= 000014
TDRV 202310
TIMERR= 002000
200060

900064

“ 3854
386%
2660
188%
1874
240
74%
652
85y
291
2313
2918
229¢
1388
128¢
127#
1264%
1258
1244
1232
1228
1218
1208%
119#
137#
118%
1178
116%
115%
1144
1138
1364
135#
134#
133#
1322
131#
1308
129¢
389%
388
3405
391#
390
393#
1217
392#
1014%
1159%
1315#
2555
1718
667
198%
1788#
179%

2501
292
312
334
6484
T14+#

3340

3338%
545%

3353#

3344y

3342»

33461#

3347

33514

3349#

3355¢#

2494

24913

2495¢%

2496

2666

2912
6514

2827

84
10670%
1297+«

3330
S03#
2753
3146
3010
2528
2684
328

304
2637

303
1467
1757
2193
2743%

715+

653

24984

25028
2689

2835%

657+
1106%
1305#

504+
2858%
32884#
3289¢#
2537
2688

784

311
2669

325
1479
1771
2230
2747

MAINDEC=11<-DZTAB=C
CROSS REFERENCE TABLE == USER SYMBOLS

Tie#

2505
2720

2848

914%
1115#
1309

3297%

3290
2696
860

326
2692

693
1495
1804
2636
2755

MAINDEC=11=DZTAB=C
CROSS REFERENCE TABLE <= USER SYMBOLS

2424+
2426%
2714
876
872
2771¢%
495
655¢#

309
2354
3043

523

138
137
130
135
134
133
132
131
130
129

2522+
583

2525%#
659
929

1221
480

1015+

1183#

1316

6694
759

2425+
2440
2808%
1536
1481
2715
2629
2264

364%
2361
3089®

537

2523
658

2526%
2521#

1265
597#
1039%
1184
1331#

811

2441
2454+

1591
1658
2786
2661

493
2366
3305

685

2519#

2525

1269
655%
1040%
1206%
1332#

717+

2748

2859

923#
1118%
1327+

3298#

1593

333
2723

710
1522
1839
2668
2759

2452+
2468

1622
1684

2684

S515%»
2370
3318¢
2810

2522

2552

2547+

656%
1062%
1207*
1353%

2423

2776

926%#
1154%
1342%

3307#

1672

694
2751

731
1534
1889
2691

MACY11 27(732)

2444

2881¢

962+
11634
1346%

3313

1816

1336
2779

771
1554
1944
2722

MACY1t 27(732)

2453+

1624
1726

2715

517
2810

2823

2549

2631
1025
2558
918+
1063+
1231#
1354+%

2469
1688
1773
2743
523#
2814
2829

2630

2663
1029

919#
1087+
1232+
1391#

11=JUN=76 13:26
2451
971% 974%
1166%  1202%
1396%  1401%
3325%  3326%
1861 1904
2093 2097
2844 2862
782 823
1579 1610
1957 2004
2750 2778
11-JUN=T6 13:26
3399
1940 2756
1936 2781
2771
537 685
2816 2823
3043 3856
2662 2685
2686 2717
1073 1077
943 944
1088% 1110
1254% 12553
1392¢ 1410

PAGE 74
1010% 1019%
1211% 1214+#
1412% 1415%
1969 2026
2102 2149
2908

882 1292
1642 1656
2086 2096

PAGE 75
2284 2298
2827 2829
2716 2744
2745 2773
1121 1125

966 967
1111% 1135%
1279% 1280%
1420+ 1421#

1022#
1250%

2168
2201
1335

1692
2101

2300
2881

2772

1169

991 %
1136%
1299#
2533%

SEQ 0087

1058+
1259

2205
24217
1366

1710
2136

SEQ ©u©8s8

2306
2916

2903

1173

992#
1158%
1300+
2535+



TA11 BASIC LOGIC TEST (PART 2) MAINDEC=11<DZTAB=C MACY11 27(732) 11=JUN=76 13126 PAGE 76 SEQ @089
DZTABC,NEW CROSS REFERENCE TABLE -« USER SYMBOLS

TRAPVE= 9900834 177% 501+ 5024#
TRTVEC= 000014 1723

TR,REQ= 800280 201¢# 1336

TST1 902436 691 7043

TST10 604150 10534%

TST11 044352 11013%

TST12 004554 11493

TST13 024756 1197¢#

TST14 #95169 1245¢

TST1S 905362 1286#

TST16 005554 13224

TST17 835750 1360%

TST2 892516 707 7254

TST20 806246 14314

TST2% 006370 1434 1456 14613
TST22 806510 1464 1484 1489%
TST23 006622 1492 1511 1516#%
TST24 906742 1519 1539 1548%
TST25 207050 1551 1568 1573#
TST26 807176 1576 1599 1604%
TST27 887324 1607 1630 1635¢%
TST3 882656 728 160 765¢#
TST30 907574 1638 1694 1703%
TST31 2100006 1706 1745 1750+
TST32 210172 1753 1789 1798%
TST33 6108330 1801 1833%

TST34 910516 1836 1874 1883¢#
TST35 818776 1886 1946 1951¢#
TST36 211169 1954 1993 1998#
TST37 211112 2001 2053 2071¢%
TST4 003862 768 812 817%
TST40 911552 2874 2076 2124¢#
TST41 212134 2127 2129 222t 2226%
TSTS 693342 828 882 909#
TST6 203544 957%

TST7 023746 10058%

TYPE = 104401 533 653 679 675 676 2254 2356 2364 2386 2395 2397 2400 2402

2406 2414 2480 2502 2513 2527 2536 2548 2551 2554 2557 2560 2567
2569 2959 3054 3055 3058 3071 3082 3101 3150 3153 3157 3232 3280¢

3327

TYPERR 612730 2363 23864

TYPOC = 104402 2411 2550 2553 2556 2559 3057 3281%

TYPON = 104404 32834

TYPOS = 144403 3282¢#

UNIT = 800400 200# 668 2079 2080 2132 2133 2887 2907

WAITRE= 194412 711 713 732 755 772 781 783 807 824 826 845 1293 1296
1330 1367 1369 1409 1438 1440 1446 1448 1468 1470 1476 1478 1480
1482 1496 1498 1504 1506 1523 1525 1531 1533 1535 1537 1555 1561
1563 1580 1586 1588 1590 1592 1594 1611 1617 1619 1621 1623 1625
1641 1643 1645 1653 1655 1657 1659 1709 1711 1713 1721 1723 1725
1727 1732 1740 1756 1758 1760 1768 1770 1772 1774 1779 1784 1805
1813 1815 1829 1840 1842 1855 1860 1872 18990 1892 1901 1903 1912
1958 1966 1968 1988 2005 2007 2020 2025 2047 2083 2085 2105 2137
2139 2141 2159 2164 2182 2187 2192 2204 2219 2231 2640 2726 2757
2782 2798 2851 2872 32914

WAITXF= 104413 734 775 711 785 828 1304 1372 1442 1444 1472 1474 1500 1502

TA11 BASIC LOGIC TEST (PART 2) MAINDEC=11=DZTAB=C MACY11 27(732) 11=JUN=76 13:26 PAGE 77 SEQ 0090

DZTABC,NEW CROSS REFERENCE TABLE == USER SYMBOLS

1527 1529 1557 1559 1582 1584 1613 1615 1647 1649 1651 1715 1717
1719 1762 1764 1766 1807 1809 1811 1817 1823 1845 1847 1863 1870
1895 1906 1969 1962 1964 1970 1975 1979 1983 2010 2012 2030 2039
2153 2155 2157 2169 2175 2180 2206 2212 2217 2843 2861 3292¢

WAIT.,F @13152 2449 3292

WAIT,0 @13046 2421 3291

WAITY ©¥13076 24278 2435 2438

WALT2 613116 2422+ 2434

WAIT3 813132 2428 2432 24403

WAIT4 f13114 2430 24334

WFG = 4280090 1822 712 825 852 1295 1368 1439 1469 1477 1497 1524 1532 1587

1618 1644 1654 1664 1712 1722 1759 1769 1841 1891 1920 2006 2138
2639 2725

WFGSUB ¥13776 235 2629# 2633 2644

WGBLOP 014234 2715¢ 2719 2733

WGPBLK 914239 238 2714¢

WLOOP 214060 2661¢% 2665 2675

WRITE = 9000082 1838 306 733 773 827 856 1303 1371 1441 147¢ 1499 1526 1556
1581 1612 1646 1668 1714 1761 1806 1844 1893 1924 1959 2009 2152
2842

WRTBLK 014669 2671 2729 2841#

WRTLOC= 912000 196% 2914

WRTSUB 0114062 236 26604

SAUTOB ©01134 364 541 3851 3172

SBDADR 201122 3564

SBDDAT 9801126 358¢# 2350+ 3401

SBELL 901172 380# 2356 2382

SCHARC ©@15366 2961# 2971 2978 2987# 2992%

SCKSWR P15474 30438 3287

SCMTAG o91100 3444 490 491 499 505 506 507

§CM1 = 200002 376# 377¢ 378¢%

$CM2 = p300R4 376% 3778 378%

$CM3 = PVY0GO2 3748 376

SCNTLG 216221 3054 31678

SCNTLU 9416214 3071 3166¢

SCRLF 281177 382# 676 2364 2382 2386 2397 2402 2406 2960 2995 3982 3166

SDOAGN 0912242 2259 2256 2262

SENDAD 912232 531 596 647 2258¢# 2377

SENDCT 012212 505 22524

SENDMG #12251 2254 2266¢#

$ENULL 912246 2265%

$EOP 012156 2242

SEOPCT 012204 505# 22493 2253

SERFLG 901103 347¢ 2273 2302 2304 2310% 2331 2351% 2382

SERMAX 801115 353% 508% 2304 2326% 2331

S$ERROR 812536 499 23453

SERRPC 001116 3544 2358% 2359% 2360 2382 3398 3399 3401 3403 3405 3407

SERRTB 001236 4124 2393

SERTTL 001112 351% 2357=# 2382

SESCAP 001170 379 507+« 728% 768% 820# 911#% 959 1007% 1055+« 1103% 1151# 1199% 1247+

1289% 1324% 1363# 1434% 1464+ 1492% 1519% 1551 % 1576%# 1607 1638% 1706% 1753%
1801 1836% 1886% 1954% 2001 2074% 2127# 2325% 2373 2375 2382

S$FILLC 061156 3728 2964 2995
$FILLS 901155 371% 2995
$GDADR 901120 35538

$GDDAT 001124 357# 2349%» 3401 3403

e



TA11 BASIC LOGIC TEST (PART 2)
CROSS REFERENCE TABLE -~ USER SYMBOLS

DZTABC,NEW

$GET42 012222
SGTSWR ©15544
$HD = 000060
SHIOCT 015472
SICNT ¥o1194
S$ILLUP 916726
SINTAG ©01135
S$ITEMB 821114
SLF 801200
SLPADR 801106

S$LPERR
SMAIL =
SMNEW 916237
$MSWR 916220
SMXCNT ©12534
$NULL 001154
SNWTST= ¥000ol

891119
LTSS

SOCNT

$OMODE
SOVER

$PASS

SPOWER
$PWRAD
$PWRDN
SPWRMG
SPWRUP
$QUES

SRDCHR
$RDDEC=
SRDLIN
$RDOCT
SRDSZ =
SREGAD
S$REGO

$REG1

SRTNAD
SR2A =
$SAVRE=
$SAVRS
$SCOPE
$SETUP=

816472
916474
212520
801190
016734
016722
816562
916716
816634
P01176
815756
E2 2222
016076
015372
099010
¥o116€
291162
001164
012244
BEER Y
E2 322 X1
216732
@12264
000137

$STUP =
$SVLAD
$SWR =

1777717
412472
167400

SSWRMK= ¢200v0

2255%
30855#
11
3027%
348%
3297
362¢
3524
3838
3494
1288%
1835%
350%
527
3058
3955
2321
3704
7018
13198
1830%
3204+
3199+
2285
345¢%
3328
33304
5¢3
3328%
3307
381#
311434
3291
3142¢
30054
31354
3748
3764
3774
22644
3291
3291
3306%
497
476#
2283
4764#
2293
18
507
1198
1704
2263
2304
2361
68

TA11 BASIC LOGIC TEST (PART 2)

DZTABC NEW

STIMES @01166
$TKB 801146
$TKS 281144
STN = 4000842
$TPB 001152
STPFLG 001157
$TPS 291150
STRAP 216476
STRAP2 416520
STRP = 90v014
$TRPAD #£16532
S$TSTNM 901102
STTYIN 916204
$TYPBN= #us#e
S$TYPDS= ssséuusn
STYPE 015152

STYPEC 9215322
STYPEX ©1537¢
STYPOC 916274
$TYPON d16310
$TYPOS 016250
$XTSTR 612276
$SGET4= 0200000
SOFILL 016473
$40CAT= nutdwnp
B = 917564

u
u

378%#
1549%
2227=

367%

366%

1%

B14
11924
1428
1517¢#
1627
1789
19524
2127

3694

373

3684

501
3268¢
32724
32931
3262

34618
3143
3284
3284
294234
2963
2988
3202¢
3201
31974
2287%
2257#
3198«
2284

223
2268

ERRORS DETECTED: o
DEFAULT GLOBALS GENERATED: ¢

3285

3032#
2317%
3313
3983
2360%
2382
509%#
1362%#
1885%
510%
537
3170#
31684
2330%
2966
7224
1357%
1880¢%
3233%
3203+
2301
660
3335#

3297

3313#
2382
3288

3289
3299

2347
2348+

3314
2282¢#
496

2346

23224

509
1246
1751
2265
2311
2366

69

2318
3332¢#
3172
2382
2995
727%
1433+%
1953
2308
2323

2995
762#
14284
1948#
3246%
3208
2309
706

3325

2502

3398

3315#

497
2369

62
519
1287
1799
2274
2312
2370
2278

MAINDEC=11=DZTAB=C

2320

2388
3157
767+
1463%
2000
2324%
2366

8144
1458%
1995¢%

3211
2319
2246%

2567

3399

3316%

499
2377

63
705
1323
1834
2275
2313
2382
2279

MAINDEC=-11=DZTAB=C
CROSS REFERENCE TABLE =- USER SYMBOLS

506%
1574+
2245%
3036
3036

11
818¢#
1146
1432¢%
1519
1630
1795
1954
2129
2984+%
2942
2982
3257%
3279
3281#

3279%
663
3144

3272
2970
2990
3281
3204¢
3282

3202%

2363
2274

2338

#TABC, TABC/SOL/CRF:SYM=DZTABC ,NEW

RUN-TIME:

RUN-TIME RATIO:

CORE USED:

25K

$0 39 3 SECONDS

346/94=3,6
(49 PAGES)

T05%
1605+
2311#
3047
3045

701

820
1150¢#
1434
1539
1632
17993
1993
2221
2995
2995
2995

3282#

22484=
3161

3280
2977
2993¢#

3283

3212

289%
2331

726%
1636%
2318
3064
3061

705¢%

882
1194
1456
1545
16364
1801
1995
2223

3283%

2273
3165¢%

2982%

3247#

299%
2382

2330

3166
819%
1491+#
2073
2330
2948

906 ¢
1486%
20684

3222#
2327#
2247+

2995

3401

33348

501
3e38

64
726
1361
1884
2276
2324
3331
2300

766%
1704%
2321+
3118
3085%

707

906
1198%
1458
1549
1638
1830
19994#
2227%

3284¢

2300

2983

321
2417¢

91p%#
1518%
2126%
2372

954#
15134%
21214

3248
2265

3101

3403

503
3172

65
766
1432
1952
2277
2327

MACY11 27(732)

958%#
1550%
2308#
2633%

10024
15458#
2223%

2315

3150

505

66
818
1462
1999
2278
2330

MACY11 27(732)

818+
1751¢#
2330
3124
3116

722

910#
1242
14624
1551
1694
18344
2001

3285

2322+

3087

3438
2995

1287+
1799#

3122
7268
954

1246%

1464

1568

1700

1836

2053

3286%

2327

384
3036

11=JUN=T76 13126
1006 1054+
1575+ 1606%
2323 2328
2665% 2688«
1050¢# 1098¢
1570% 16014
2331
3166

506 507

67 68
91@ 958
1490 1517
2072 2125
2284 2296
2337 2338

11=JUN=T76 13326
1323# 1361
1834% 1884+

728 764
958# 1002
1283 1287¢
1484 1486
157¢ 1574#
170448 1706
1874 1880
2068 20724%
3287 3288¢
2331 2353
494 569
31654 3166

PAGE 78
1102 1150%
1637 1795%
2339
2719+ 2747%
1146% 11943
1632# 1700%

509 531

378 379
1006 1054
1549 1574
2227 2237
2298 2299
2339 2340

PAGE 79
1432% 1462%
1952 1999%

762 766
1006¢ 1050
1319 1323%
1490¢# 1492
1576 1599
1745 1747
18844 1886
2074 2076
3289¢% 3290#
2382

5{0 545%
3172 33¢9

1198%
1752%

2775%

1242¢
1747%

534

380
1102
1605
2245
2302
2341

1490%
2872

768
10544
1357
1511
1601
1751¢
1946
2121

3291¢

673¢%
3333

SEQ 0091

1246%
1800«

2795%

1283¢#
1795%

2244

506
1150
1636
22517
2303
2354

SEQ @092

1517%
2125%

812
1098
13614#
1513
1605%
1753
1948
2125¢%

3292¢

2265
33978
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ENGINEERING LOCATION ISSUE DATE U
CHANGE ORDER COST CENTER NO. 301 FINAL RELEASE

PROBLEM UNIT TO BE CHANGED

Tests # 37 and # 40 of DZTABC
Memory enabled.

fail when run on 11/70 with CACHE

MD-11-DZTABC

PRODUCT AFFECTED

oo

APPROVAL SIGNATURE (TYPE
ROJECT ENGR. O,

NA §n(sscl0)
choate// /: ~{

e,
P

]

e
e

TAll
CORRECTION /DEPO
i'
Install patch to diagnostic
TYPE OF ECO
CoNcl\J—lcNAL {J HARDWARE
[} SOFTWARE
’ [0 PURCHASE
SPEC.
BREAK-IN/EFFECTIVITY FIELD SERVICE
AFFECTED
YES [ONO
Immediately
D.P, R DISTR.
| L.0.U. CODE
WHE RE USED
QUICK-CHECK
TEST
= . P ——
Y  DOCUMENT/PART NO. g'E'S ::‘\’/” DESCRIPTION OF CHANGE/DISPOSITION OF MATERIAL
1 MD-11-DZTAB C |N/A No document change
2 MD-11-DZTAB C N/A CHANGE LOCATION FROM TO
11500 6301 4737
11502 1001 17600
11506 32714 240
11510 40 240
11512 1372 240
11652 6301 4737
11654 1003 17600
11668 32714 240
11662 40 240
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REVIEW SIGNATURES (SEE INSTRUCTIONS FOR APPLIC.)
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FIELD SERVICE b

TEL.EXT. 4088 COST CENTER NO.

7
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301 DIAGNOSTIC ENGR.

DISC. PROJ. NO. V20-07846 DATE

8/18/76

COO0RD. NO. REF.NO,
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ECO NO. 22748 - ¢//8)
» CONTINUATION
E SHEET ) 2
OF
CHANGE ORDER SHEET
DOCUMENT/PART NO. | Shv|hevlcons DESCRIPTION OF CHANGE
(CONTINUED) CHANGE LOCATION FROM TO
11664 1372 240
17600 6301
17602 1376
17604 32714
17606 40
17610 1002
17612 062716
17614 2
17616 207
3 MD-11-DZTAB C N/A - NO OTHER PATCHES REQUIRED
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